® e
[ ]

?V /A
N RN

T = AN A 4

RACING TRANSMISSIONS

PRICING STRUCTURE

BOOKMARKS

AP = APPAREL
AS = AIR SHIFT
AX = AXLE
BE = BELLHOUSING
BG = BEARINGS

BL = BOLTS
BP = QUILL SHAFT
BR = BEARING RACE
BT = BOAT
CB = CRANK BUTTONS
CL = CLUTCH PACK
CP = COUPLERS AND DRIVESHAFT CLAMPS
CS = CASES
DS = DRIVESHAFTS
DW = DOWEL PINS
FS = FLOATER
GS = GEAR SETS
LD = LENCODRIVE

LI = LINKAGE
MC = MISCELLANEOUS
ML = MANUAL SHIFTER
MS = MANUAL SHIFTER

NT = NUTS
OR = O-RINGS
PA = GEAR SET PLANETARIES
PC = PLANETARY CASES
PG = PLANET GEARS
PH = PUMP HOUSING, LENCO DRIVE
Pl = TRANS-BRAKE PISTON
RE = 3RD MEMBER
RG = GEAR SET RING GEARS
RV = REVERSE
SG = SUN GEAR
SH = SHAFTS
SL = SEALS
SN = SPRINGS
SO = SOLENOID, LENCODRIVE
SP = SPRAG
SR = SNAP RINGS
SS = STATOR SUPPORT, LENCODRIVE
ST = STARTER GEAR
TB = THROW-OUT BEARINGS
VB = VALVE BODY, LENCODRIVE
WA = WASHERS

DISC = DISCONTINUED PARTS



CS1 STANDARD CASE LIGHT WEIGHT TRANSMISSIONS (1" GEAR SETS)

LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION RACER
CS1-2000 2-SPEED TRANSMISSION ONLY 4,500.00
CS1-2001 2-SPEED TRANSMISSION AND REVERSE 5,700.00
CS1-2002 2-SPEED TRANSMISSION AND REVERSE w/SHIFTER 6,100.00
CS1-2003 2-SPEED TRANSMISSION ADD-ON SECTION ONLY 3,900.00
CS1-3000 3-SPEED TRANSMISSION ONLY 7,400.00
CS1-3001 3-SPEED TRANSMISSION AND REVERSE 8,400.00
CS1-3002 3-SPEED TRANSMISSION AND REVERSE w/SHIFTER 8,800.00
CS1-4000 4-SPEED TRANSMISSION ONLY 9,900.00
CS1-4001 4-SPEED TRANSMISSION AND REVERSE 11,000.00
CS1-4002 4-SPEED TRANSMISSION AND REVERSE w/SHIFTER 11,600.00
OPTIONAL ADD-ON'S:
REVERSE LOCKOUT - ADD: 359.00
FORM SPRAGS - PER SECTION, ADD: 170.00
NEUTRAL SAFETY SWITCH - ADD: 120.00
SPRAG REPLACEMENT MODULE - PER SECTION, ADD: 850.00

NOTE:

TRANSMISSION INCLUDES:
LIGHT WEIGHT COMPONENTS THROUGHOUT
LOW DRAG ANGULAR CONTACT AND NEEDLE BEARINGS

CHOICE OF RATIO

AIR SERVO OR MAX-ADJUST SHIFT TOWERS
32 SPLINE OUTPUT
NEUTRAL IF REQUESTED

BILLET ALUMINUM
INPUT SHAFT

CASES

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

CS2 BIG CASE NEW GENERATION TRANSMISSIONS (3/4" GEAR SETS)

PART# DESCRIPTION RACER
CS2-2000 2-SPEED TRANSMISSION ONLY 4,500.00
CS2-2001 2-SPEED TRANSMISSION AND REVERSE 5,700.00
CS2-2002 2-SPEED TRANSMISSION AND REVERSE w/SHIFTER 6,100.00
CS2-2003 2-SPEED TRANSMISSION ADD-ON SECTION ONLY 3,900.00
CS2-3000 3-SPEED TRANSMISSION ONLY 7,400.00
CS2-3001 3-SPEED TRANSMISSION AND REVERSE 8,400.00
CS2-3002 3-SPEED TRANSMISSION AND REVERSE w/SHIFTER 8,800.00
CS2-4000 4-SPEED TRANSMISSION ONLY 9,900.00
CS2-4001 4-SPEED TRANSMISSION AND REVERSE 11,000.00
CS2-4002 4-SPEED TRANSMISSION AND REVERSE w/SHIFTER 11,600.00
CS2-5000 5-SPEED TRANSMISSION ONLY 12,700.00
CS2-5001 5-SPEED TRANSMISSION AND REVERSE 13,800.00
CS2-5002 5-SPEED TRANSMISSION AND REVERSE w/SHIFTER 14,400.00
OPTIONAL ADD-ON'S:
FORM SPRAGS - PER SECTION, ADD: 170.00
REVERSE LOCKOUT ONLY - ADD: 359.00
NEUTRAL SAFETY SWITCH - ADD: 120.00
SPRAG REPLACEMENT MODULE - PER SECTION, ADD: 850.00

NOTE:

TRANSMISSION INCLUDES:

LIGHT WEIGHT COMPONENTS

LIGHT WEIGHT RING GEARS

LOW DRAG (ANGLUAR CONTACT AND NEEDLE BEARINGS)
CHOICE OF RATIO

AIR SERVOS OR MAX-ADJUST SHIFT TOWERS

BILLET ALUMINUM CASES

INPUT SHAFT

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



CS3 SMALL CASE NEW GENERATION TRANSMISSIONS (1/2" GEAR SETS)

LENCO RACING TRANSMISSIONS, INC.

CS4 SMALL CASE NEW GENERATION TRANSMISSIONS (5/8" GEAR SETS)

TRANSMISSION DISCONTINUED.

CS3 GEAR SETS AND OTHER PARTS, CALL FOR AVAILABILITY

PART# DESCRIPTION RACER
CS4-2000 2-SPEED TRANSMISSION ONLY 4,300.00
CS4-2003 2-SPEED TRANSMISSION ADD-ON SECTION 3,700.00
CS4-2001 2-SPEED TRANSMISSION AND REVERSE 5,500.00
CS4-2002 2-SPEED TRANSMISSION AND REVERSE w/SHIFTER 5,900.00
CS4-3000 3-SPEED TRANSMISSION ONLY 7,000.00
CS4-3001 3-SPEED TRANSMISSION AND REVERSE 8,000.00
CS4-3002 3-SPEED TRANSMISSION AND REVERSE w/SHIFTER 8,400.00
CS4-4000 4-SPEED TRANSMISSION ONLY 9,300.00
CS4-4001 4-SPEED TRANSMISSION AND REVERSE 10,400.00
CS4-4002 4-SPEED TRANSMISSION AND REVERSE w/SHIFTER 11,000.00
CS4-5000 5-SPEED TRANSMISSION ONLY 12,400.00
CS4-5001 5-SPEED TRANSMISSION AND REVERSE 13,200.00
CS4-5002 5-SPEED TRANSMISSION AND REVERSE w/SHIFTER 13,800.00
OPTIONAL ADD-ON'S:
REVERSE LOCKOUT ONLY - ADD: 359.00
NEUTRAL SAFETY SWITCH - ADD: 120.00
FORM SPRAGS - PER SECTION, ADD: 170.00
SPRAG REPLACEMENT MODULE - PER SECTION, ADD: 850.00

NOTE:

TRANSMISSION INCLUDES:

LIGHT WEIGHT COMPONENTS

LIGHT WEIGHT RING GEARS

LOW DRAG (ANGULAR CONTACT AND NEEDLE BEARINGS)
CHOICE OF RATIO

NEW GENERATION REVERSE w/NEUTRAL

AIR SERVOS OR MAX-ADJUST SHIFT TOWERS

BILLET ALUMINUM CASES

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

ST-1200 STREET/STRIP TRANSMISSION (3/4" GEAR SETS)

PART# DESCRIPTION RACER
ST12-4002 4 SPEED TRANSMISSION, REVERSE & SHIFTER 7,450.00
ST12-5002 5 SPEED TRANSMISSION, REVERSE & SHIFTER 8,650.00
ST12-6002 6 SPEED TRANSMISSION, REVERSE & SHIFTER 9,850.00
ST12-4003 ADD ON SECTION 2,750.00

NOTE:

TRANSMISSION INCLUDES:

CHOICE OF RATIO AND FRONT ADAPTER PLATE
BILLET ALUMINUM CASES

8620 3/4" PLANETARY ASSEMBLIES

LARGE SPRAGS

REVERSE w/NEUTRAL

32 SPLINE OUTPUT

CHOICE OF SHIFTER STYLE AND POSITION
INPUT SHAFT

THROWOUT BEARING COLLAR

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

ST-1500 STREET/STRIP TRANSMISSION (3/4" GEAR SETS)

PART # DESCRIPTION RACER
ST15-4002 4 SPEED TRANSMISSION, REVERSE & SHIFTER 7,450.00
ST15-5002 5 SPEED TRANSMISSION, REVERSE & SHIFTER 8,650.00
ST15-6002 6 SPEED TRANSMISSION, REVERSE & SHIFTER 9,850.00
ST15-4003 ADD ON SECTION 2,750.00

NOTE:

TRANSMISSION INCLUDES:

CHOICE OF RATIO AND FRONT ADAPTER PLATE
BILLET ALUMINUM CASES

8620 3/4" PLANETARY ASSEMBLIES

LARGE SPRAGS

REVERSE w/NEUTRAL

32 SPLINE OUTPUT

CHOICE OF SHIFTER STYLE AND POSITION
INPUT SHAFT

THROWOUT BEARING COLLAR

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS,

NC.

LENCODRIVE TRANSMISSION

PART# DESCRIPTION RACER
LD-2001 LENCODRIVE, CS2 2-SPEED AND REVERSE 9,800.00
LD-3001 LENCODRIVE, CS2 3-SPEED AND REVERSE 11,500.00
LD-4001 LENCODRIVE, CS2 4-SPEED AND REVERSE 14,000.00
LD-2000 LENCODRIVE ONLY 5,900.00
OPTIONAL ADD-ON'S: RACER
MANUAL SHIFTER (2 SPEED) WITH NEUTRAL SAFETY SWITCH - ADD: 630.00
MANUAL SHIFTER (3 SPEED) WITH NEUTRAL SAFETY SWITCH - ADD: 825.00
MANUAL SHIFTER (4 SPEED) WITH NEUTRAL SAFETY SWITCH - ADD: 975.00
LOCKOUT SHIFTER WITH NEUTRAL SAFETY SWITCH - ADD: 459.00
FORMSPRAGS - PER SECTION, ADD: 170.00
OPTIONAL ACCESSORIES:
PART# DESCRIPTION RACER
MC600200 TRANS-BRAKE BUTTON 80.00
MC600300 NEUTRAL SAFETY SWITCH 120.00
NOTE:

LENCODRIVE INCLUDES (LESS CONVERTER):

AIR SERVO OR MAX-ADJUST SHIFT TOWER AND LEVER
CHOICE OF OUTPUT SHAFT LENGTH AND SPLINE
REVERSE LEVER

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

BOAT CLUTCH - CS2

PART # DESCRIPTION RACER
BC2-1000  BOAT CLUTCH, SMALL CLUTCH PACK 2,800.00
BC2-1010  BOAT CLUTCH, LARGE CLUTCH PACK 3,100.00
BC2-1020  BOAT CLUTCH, SMALL ADD-ON 2,600.00
BC2-1030  BOAT CLUTCH, LARGE ADD-ON 2,800.00
BOAT CLUTCH & CS1 2-SPEED TRANSMISSION

PART # DESCRIPTION RACER
BC1-2000  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH SINGLE SPRAG ASSY 6,400.00
BC1-2001  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH DUAL SPRAG ASSY 6,700.00
BC1-2002  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH SPRAG REPLACEMENT 7,100.00
BC1-2003  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH SINGLE SPRAG ASSY 6,500.00
BC1-2004  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH DUAL SPRAG ASSY 6,900.00
BC1-2005  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH SPRAG REPLACEMENT 7,300.00
BOAT CLUTCH & CS2 2-SPEED TRANSMISSION

PART # DESCRIPTION RACER
BC2-2000  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH SINGLE SPRAG ASSY 6,400.00
BC2-2001  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH DUAL SPRAG ASSY 6,700.00
BC2-2002  BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH SPRAG REPLACEMENT 7,100.00
BC2-2003  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH SINGLE SPRAG ASSY 6,500.00
BC2-2004  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH DUAL SPRAG ASSY 6,900.00
BC2-2005  BOAT CLUTCH, LARGE & 2-SPEED TRANS WITH SPRAG REPLACEMENT 7,300.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

BOAT CLUTCH & CS4 2 SPEED TRANSMISSION

PART #
BC4-2000

DESCRIPTION
BOAT CLUTCH, SMALL & 2-SPEED TRANS WITH SINGLE SPRAG ASSY

RACER
6,400.00

NOTE:
ALL UNITS (W/ TRANSMISSIONS) INCLUDE M-50 SPRAGS

OPTIONAL ADD-ON'S:

FORMSPRAG - PER SPRAG, ADD:

RACER
170.00

NOTE:

BOAT CLUTCH MADE IN TWO DIFFERENT STYLES:
SMALL: INCLUDES SMALL BLUE CLUTCHES (5.5" DIA.)
LARGE: INCLUDES LARGE BLUE CLUTCHES (6.75" DIA.)

NOTE:

BOAT CLUTCH INCLUDES:

INPUT SHAFT

LOW DRAG ANGULAR CONTACT & NEEDLE BEARING
CHOICE OF RATIO

AIR SERVOS

32 OUTPUT SPLINE & LENGTH

SPRAG REPLACEMENT MODULE LID ASSEMBLY - BOAT ONLY

PART #

DESCRIPTION

SRM-BOAT1 CS1 ASSEMBLY (INCLUDES SUN GEAR)

RACER
2,100.00

SRM-BOAT2 CS2 ASSEMBLY

1,900.00

SRM-BOAT4 CS4 ASSEMBLY

1,900.00

NOTE:
SPRAG REPLACEMENT MODULE UNITS INCLUDE OUTPUT SHAFT,

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

REAR LID, BEARING, SMR, LINES, FITTINGS AND VALVING.

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

32-SPLINE REVERSE

PART # DESCRIPTION RACER

CS1-REVERSE TRANSMISSION STYLE ADD-ON 2,100.00

CS2-REVERSE TRANSMISSION STYLE ADD-ON 2,100.00

CS4-REVERSE TRANSMISSION STYLE ADD-ON 2,100.00

HGA-REVERSE HIGH GEAR ADAPTER (ALUMINUM) - 32 SPLINE 2,400.00

MT-REVERSE MONSTER TRUCK ADD-ON (CS1 ONLY) 3,200.00
NOTE:

32-SPLINE REVERSE INCLUDES THE FOLLOWING:
BILLET ALUMINUM CASE

300M SHAFTS

CHOICE OF OUTPUT SHAFT LENGTH

REVERSE LEVER

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

GEAR REDUCTION

PART# DESCRIPTION RACER

GR-1000 GEAR REDUCTION ONLY 2,600.00

GR-1010 GEAR REDUCTION AND REVERSE 3,400.00

GR-1020 GEAR REDUCTION ADD-ON 2,500.00
NOTE:

ALL UNITS INCLUDE:
BILLET ALUMINUM CASE
32-SPLINE OUTPUT
INPUT SHAFT

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

MARAGING SHAFTS (AVAILABLE IN 300 & 350)

PART# DESCRIPTION RACER
ALL SHAFTS ARE SPECIAL ORDER. CALL FOR QUOTE. P.O.R.

NOTE:
ALL SHAFTS ARE CUSTOM MADE AND CANNOT BE RETURNED OR EXCHANGED.

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - APPAREL (AP) RACER
AP100100 LENCO T-SHIRT, MEDIUM 20.00
AP100200 LENCO T-SHIRT, LARGE 20.00
AP100300 LENCO T-SHIRT, EXTRA LARGE 20.00
AP100400 LENCO T-SHIRT, DOUBLE X 20.00
AP100450 LENCO T-SHIRT, TRIPLE X 20.00
AP100460 LENCO T-SHIRT, FOUR X 20.00
AP100500 LENCO HAT 19.00
AP100700 LENCO SWEATSHIRT, SMALL 49.00
AP100702 LENCO SWEATSHIRT, MEDIUM 49.00
AP100704 LENCO SWEATSHIRT, LARGE 49.00
AP100706 LENCO SWEATSHIRT, EXTRA LARGE 49.00
AP100710 LENCO SWEATSHIRT, DOUBLE X 49.00
AP100720 LENCO SWEATSHIRT, TRIPLE X 49.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS,

NC.

PART # DESCRIPTION - AIR SHIFT (AS) RACER
AS102000 SCALE, ST-1200 39.00
AS120000 90-DEGREE FITTING 5/32" 12.00
AS120010 STRAIGHT FITTING 5/32" 12.00
AS120020 T-FITTING 1/4" 12.00
AS120025 T-FITTING 5/32" 12.00
AS120030 PLASTIC AIRLINE, 1/8" PIPE (PER FOQOT) 2.50
AS120040 90-DEGREE FITTING, 1/4" PIPE 12.00
AS120045 T-FITTING 1/4" NPT 12.00
AS120050 STRAIGHT FITTING 1/4" 12.00
AS120055 PLASTIC AIRLINE 1/4" (PER FOOQOT) 3.50
AS120070 COUPLING, 5/32 TO 5/32 12.00
AS120200 AIR LINE SHIFT KIT, 2-SPEED (CS1/CS2/CS3/LD) 80.00
AS120300 AIR LINE SHIFT KIT, 3-SPEED (CS1/CS2/CS3/LD) 100.00
AS120400 AIR LINE SHIFT KIT, 4-SPEED (CS1/CS2/CS3/LD) 120.00
AS120500 AIR LINE SHIFT KIT, 5-SPEED (CS1/CS2/CS3/LD) 140.00
AS130080 AIR SHIFTER VALVE BODY 59.00
AS130120 AIR SHIFTER VALVE PISTON 28.00
AS130145 CLIPPARD VALVES 59.00
AS130170 AIR SHIFTER VALVE DETENT BALL 3.00
AS130180 SPRING, SHIFT DETENT 5.00
AS130500 AIR SHIFTER VALVE ASSEMBLY 119.00
AS140091 AIR SERVO BODY WITH JET OUTLET 99.00
AS140101 AIR SERVO PISTON TOP 38.00
AS140102 AIR SERVO PISTON SHAFT 24.00
AS140110 AIR SERVO COVER 38.00
AS140115 AIR SERVO PISTON ASSEMBLY 62.00
AS140120 AIR SERVO ASSEMBLY 159.00
AS140130 AIR BOTTLE BRACKET, LARGE (EACH) 79.00
AS140140 AIR BOTTLE BRACKET, SMALL (EACH) 59.00
AS140145 AIR SERVO SUPPORT, CS2 CLUTCH - CS1 2 SPEED 140.00
AS140150 AIR SERVO SUPPORT, CS2 CLUTCH - CS2 2 SPEED 140.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - AIR SHIFT (AS) RACER
AS140155 AIR SERVO SUPPORT, CS2 3 SPEED 140.00
AS140184 AIR REGULATOR, 250# w/LIQUID FILLED GAUGES 150.00
AS140185 AIR REGULATOR, 250# NO GAUGES 90.00
AS140187 AIR REGULATOR, 125# w/LIIQUID FILLED GAUGES 150.00
AS140188 AIR REGULATOR, 125# NO GAUGES 90.00
AS140189 AIR REGULATOR, 150# w/LIQUID FILLED GAUGES 150.00
AS140190 AIR REGULATOR, 150# NO GAUGES 90.00
AS140191 AIR REGULATOR SHIM, .002 6.00
AS140192 AIR REGULATOR SHIM, .005 6.00
AS140193 AIR REGULATOR SHIM, .010 6.00
AS140194 AIR REGULATOR SHIM, .015 6.00
AS140195 AIR REGULATOR SHIM, .020 6.00
AS140196 AIR REGULATOR SHIM, .030 6.00
AS140198 AIR REGULATOR SHIM KIT (10-SHIMS) 19.00
AS140210 CO2 BOTTLE, 10 OZ. 129.00
AS140220 CO2 BOTTLE, 2.5Ib. 169.00
AS140300 CO2 PLASTIC SEAL 7.00
AS140405 REGULATOR GAUGE H/P, 1/4" PIPE (LIQUID FILLED) 49.00
AS140415 REGULATOR GAUGE L/P, 1/4" PIPE (LIQUID FILLED) 49.00
AS140425 REGULATOR GAUGE L/P, 1/8" PIPE (LIQUID FILLED) 49.00
AS140435 REGULATOR GAUGE H/P, 1/8" PIPE (LIQUID FILLED) 49.00
AS240101 AIR SERVO PISTON TOP, LARGE 39.00
AS240102 AIR SERVO PISTON SHAFT, SMALL 24.00
AS240104 AIR SERVO PISTON SHAFT, LARGE 2-PC 24.00
AS240110 AIR SERVO COVER, LARGE 39.00
AS240115 AIR SERVO COVER, w/BOSS & 1/8" PIPE 45.00
AS241105 AIR SERVO PISTON ASSEMBLY (N.G.) 62.00
AS241115 AIR SERVO PISTON ASSEMBLY, LARGE (N.G.) 65.00
AS241150 AIR SERVO ASSEMBLY, SMALL (N.G.) 159.00
AS241155 AIR SERVO ASSEMBLY, LARGE (N.G.) 169.00
AS340091 AIR SERVO BODY, LARGE (2-PC) TOP BODY END 79.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - AIR SHIFT (AS) RACER
AS340092 AIR SERVO BODY, LARGE (2-PC) BOTTOM THREAD END 59.00
AS340110 AIR SERVO LOCKING ACTUATOR LID, SMALL 89.00
AS340115 AIR SERVO LOCKING ACTUATOR LID, LARGE 99.00
AS340117 AIR SERVO LOCKING ACTUATOR LID CHECK VALVE 29.00
AS340120 AIR SERVO LOCKING ACTUATOR LID PLUNGER PIN 25.00
AS340125 AIR SERVO LOCKING ACTUATOR LID PLUNGER PIN, MANUAL 25.00
AS340130 AIR SERVO LOCKING ACTUATOR LID PLUNGER BODY 28.00
AS340135 AIR SERVO LOCKING ACTUATOR LID PLUNGER BODY 7/16-20 & 9/16-18 39.00
AS340140 AIR SERVO LOCKING ACTUATOR PLUNGER BODY CAP 22.00
AS340200 AIR SERVO LOCKING ACTUATOR LID ASSEMBLY, SMALL 159.00
AS340250 AIR SERVO LOCKING ACTUATOR LID ASSEMBLY, LARGE 169.00
AS340260 AIR SERVO REMOTE RELEASE SYSTEM (CS1, CS2, CS3, CS4) 129.00
AS610100 AIR REGULATOR, 100 PSI, SMR-1 59.00
AS610150 AIR VALVE ASSEMBLY, SPRAGLESS, SMR-2 179.00
AS610151 SHIFT VALVE PISTON, SMR 29.00
AS610152 2 SPEED AIR RELAY, CS2 55.00
AS610153 AIR VALVE RELEASE SMR 29.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS,

INC.

PART # DESCRIPTION - BELLHOUSING (BE) RACER
BE101000 BELLHOUSING CROSS SHAFT 79.00
BE101010 BELLHOUSING CROSS SHAFT CLAMP 39.00
BE101020 BELLHOUSING CROSS SHAFT LEVER 69.00
BE101030 BELLHOUSING CROSS SHAFT FORKS 219.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BEARINGS (BG) RACER
BG100140 BUSHING, SHIFT PLUNGER 10.00
BG100145 SHIFT PLUNGER ROLLER ASSEMBLY 24.00
BG100150 BEARING, B-44 14.00
BG100155 BEARING, B-47 15.00
BG100160 BUSHING, BOAT CLUTCH 12.00
BG110180 PILOT THRUST BEARING, (ALL HG REVERSERS) 12.00
BG120630 THROWOUT BEARING 59.00
BG131000 CHEVY PILOT BEARING ASSEMBLY(SB & BB) 49.00
BG131001 PILOT BEARING 19.00
BG131002 SLEEVE, CHEVY BEARING 16.00
BG131003 SLEEVE, FORD BIG-BLOCK PILOT BEARING 16.00
BG131004 SLEEVE, FORD SMALL-BLOCK PILOT BEARING 16.00
BG131005 FORD BIG-BLOCK PILOT BEARING ASSEMBLY 49.00
BG131006 FORD SMALL-BLOCK PILOT BEARING ASSEMBLY 49.00
BG146000 ROLLER PLATE ROLLER ASSEMBLY 39.00
BG146100 BUSHING, ROLLER PLATE ROLLER 14.00
BG162071 BEARING, 1-3/8" SEALED (REAR LID) 69.00
BG162072 BEARING, 1-3/8" SEALED w/SNAP RING (REV. FRONT / REAR LID) 69.00
BG170180 BUSHING, STANDARD SHAFT 10.00
BG170201 CASE BEARING, LOW-DRAG 139.00
BG170202 CASE BEARING, STANDARD 69.00
BG170220 PLANETARY THRUST BEARING 9.00
BG170271 BEARING, 3/4" PLANETARY 34.00
BG170272 BEARING, 5/8" PLANETARY 14.00
BG170281 BEARING, 1/2" PLANETARY 12.00
BG170300 BEARING, SUN GEAR THRUST (CS-1 & NG 32-SPLINE PLANETARY) 11.00
BG170320 BEARING, SUN GEAR SUPPORT 32.00
BG170382 BEARING, 40 SPLINE H/G REV. PLANETARY THRUST 14.00
BG170421 BEARING (STANDARD), PRESSURE PLATE & ST1200 CASE 69.00
BG170423 BEARING (LOW-DRAG), PRESSURE PLATE & NG CASE 149.00
BG170423C BEARING (LOW-DRAG), PRESSURE PLATE & NG CASE - CERAMIC 299.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BEARINGS (BG) RACER
BG170630 BEARING, SEALED (2 SPEED LID) 139.00
BG170640 BEARING, 1-3/8" REVERSE FRONT 49.00
BG170640C BEARING, 1-3/8" REVERSE FRONT - CERAMIC 169.00
BG171200 BEARING, REV RING GEAR /L-DRIVE SAFETY SPRAG THRUST 12.00
BG171290 BEARING, REVERSE LID 129.00
BG171290C BEARING, REVERSE LID - CERAMIC 299.00
BG171291 BEARING, 35-SPLINE REAR LID SEALED 89.00
BG171292 BEARING, 35-SPLINE REAR LID SEALED w/SNAP RING 119.00
BG171293 BEARING, 35-SPLINE DOUBLE ROW w/SNAP RING 129.00
BG180240 BUSHING, BOAT SHAFT 12.00
BG200010 RADIAL PLATE BEARING 40.00
BG200150 BEARING, 3/8" PILOT 12.00
BG270180 BEARING, SHAFT PILOT 12.00
BG270220 BEARING, NG PLANETARY & 35-SPLINE REVERSE THRUST 10.00
BG270271 BEARING, 3/4"-PIN (1/2" GEAR SET) 10.00
BG270272 BEARING, 5/8"-PIN (1/2" GEAR SET) 10.00
BG270300 BEARING, NG SUN GEAR THRUST (27-SPLINE PLANETARY) 10.00
BG270625 BEARING, 15.87MM-PIN (1/2" GEAR SET) 12.00
BG270708 BEARING, .472" (68% & 73% 1" GEAR SETS) 18.00
BG270787 BEARING, 20MM-PIN (1/2" GEAR SET) 15.00
BG370220 BEARING, 40-SPLINE REVERSE PLANETARY THRUST 15.00
BG370640 BEARING, 40-SPLINE REVERSE FRONT 139.00
BG370645 BEARING, 40-SPLINE REVERSE FRONT, LARGE 139.00
BG370650 BEARING, 40-SPLINE REVERSE LID (w/SNAP RING) 119.00
BG370660 BEARING, 40-SPLINE REVERSE LID (NO SNAP RING) 99.00
BG373648 BEARING, 32-SPLINE LOW-DRAG REVERSE THRUST 15.00
BG437000 BEARING, CLUTCH HUB THRUST 19.00
BG570708 BEARING, 18MM-PIN (3/4" GEAR SET) 17.00
BG600000 BUSHING, INPUT, MEGA STATOR 12.00
BG600100  BUSHING, PUMP HOUSING (LENCODRIVE) N/A
BG601118 BUSHING, C-6 PUMP 12.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BEARINGS (BG) RACER
BG601119 BUSHING, TURBO-400 PUMP 12.00
BG601300 BEARING, OUTER SAFETY SPRAG RACE THRUST 15.00
BG601302 BEARING, FRONT SIDE INNER SPRAG RACE SMALL CAGE THRUST 15.00
BG601303 BEARING, INPUT SHAFT/SAFETY SPRAG OUTER RACE 25.00
BG601304 BEARING, REAR OUTER SPRAG RACE LARGE CAGED THRUST 19.00
BG601305 BEARING, FRONT PLATE 22.00
BG601307 BEARING, STATOR SUPPORT (C-6 ONLY) 22.00
BG601315 BEARING, MEGA FRONT PLATE SUPPORT 22.00
BG610010 BEARING, CARRIER SMR-2 99.00
BG700100 BEARING, B-65 (ST1200 & CS-3 RADIAL PLATE) 12.00
BG700200 BEARING INNER RACE (ST1200 & CS-3 RADIAL PLATE) 10.00
BG700300 BEARING OUTER RACE (ST1200 & CS-3 RADIAL PLATE) 12.00
BG700400 BEARING ASSEMBLY, (ST1200 & CS-3 RADIAL PLATE) 29.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BOLTS (BL) RACER
BL100010 BOLT, 1/4-20 X 1" SHIFT TOWER SHOULDER 4.00
BL100040 FHCS, 1/4-20 X 3/4" (REAR LID BRG. RET. / AIR SERVO PISTON SHAFT) 1.00
BL100050 FHCS, 1/4-20 X 1" (N.G. THROW-OUT BEARING COLLAR) 1.00
BL100054 FHCS, 1/4-28 X 1/2" (LARGE 2-PC. AIR SERVO BASE) 1.00
BL100060 FHCS, 5/16-18 X 3/4" (N.G. LOW-DRAG REVERSE PLANET CARRIER) 1.00
BL100070 FHCS, 5/16-18 X 1" (EARLY STYLE ADAPTOR RING) 1.00
BL100080 FHCS, 5/16 -18 X 1-1/4" (EARLY STYLE ADAPTER RING) 1.00
BL100090 FHCS, 5/16-24 X 1" (EARLY STYLE ADAPTER RING) 1.00
BL100100 FHCS, 5/16-24 X 1-1/4" (EARLY STYLE ADAPTER RING) 1.00
BL100101 FHCS, 5/16-24 X 1-1/2" (CS4 PLANET SCREW) 2.00
BL100110 FHCS, 3/8-16 X 1-1/4" (HIGH-GEAR REVERSE ADAPTER) 1.00
BL100120 FHCS, 3/8-16 X 1-1/2" (HIGH-GEAR REVERSE ADAPTER) 2.00
BL100130 FHCS, 3/8-24 X 1-1/4" (THROWOUT BEARING COLLAR) 2.00
BL100140 HEX HEAD BOLT, 10-24 X 1/2" (REAR SEAL RETAINER) 1.00
BL100160 HEX HEAD BOLT, 1/4-20 X 3/4" (STD. 1-3/8" REVERSE PLANETARY) 1.00
BL100190 HEX HEAD BOLT, 5/16-24 X 1-1/4" (SHIFT LINKAGE) 1.00
BL100200 HEX HEAD BOLT, 5/16-24 X 1-1/2" (SHIFT LINKAGE) 1.00
BL100210 HEX HEAD BOLT, 5/16-24 X 2-1/2" (COUPLER SLEEVE, 1-3/8") 2.00
BL100220 HEX HEAD BOLT, 5/16-24 X 2-3/4" (COUPLER SLEEVE, 1-1/2" & 1-3/4") 2.00
BL100232 HEX HEAD BOLT, 3/8-16 X 2" (HEX LOCK-OUT ONLY SHIFT HANDLE BRACKET) 2.00
BL100235 HEX HEAD BOLT, 3/8-16 X 5" (HEX 4-SPEED SHIFT HANDLE BRACKET) 6.00
BL100236 HEX HEAD BOLT, 3/8-16 X 6" (HEX 5-SPEED SHIFT HANDLE BRACKET) 6.00
BL100237 HEX HEAD BOLT, 3/8-16 X 7" (HEX 6-SPEED SHIFT HANDLE BRACKET) 6.00
BL100270 HEX HEAD BOLT, 3/8-24 X 4-1/2" (SHIFT/BR.) 4.00
BL100275 SHCS, #10-24 X 3/4" (40-SPLINE CANNON REV. FRONT BEARING RETAINER) 1.00
BL100280 SHCS, #10-32 X 1" (REVERSE SHIFT LEVERS) 1.00
BL100290 SHCS, 1/4-20 X 5/8" (GEAR RED. SUN GEAR / OIL PICK-UP) 1.00
BL100300 SHCS, 1/4-20 X 3/4" (1-3/8" DRIVE SHAFT CLAMP) 1.00
BL100310 SHCS, 1/4-20 X 1" (1-1/2" DRIVE SHAFT CLAMP) 1.00
BL100320 SHCS, 1/4-20 X 1-1/4" VALVE BODY 1.00
BL100325 SHCS, 1/4-20 X 1-1/2" (BOAT CLUTCH ROLLER PLATE HUB) 1.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BOLTS (BL) RACER
BL100330 SHCS, 1/4-20 X 1-3/4" 1.00
BL100340 SHCS, 1/4-20 X 2" (SPRAG COVER) 1.00
BL100342 SHCS, 1/4-20 X 2-1/4" (DOUBLE SMALL SPRAG COVER) 2.00
BL100350 SHCS, 1/4-20 X 2-1/2" (FUEL PUMP OVERDRIVE HOUSING) 2.00
BL100358 SHCS, 5/16-18 X 5/8" (40-SPLINE REVERSE PLANETARY) 1.00
BL100359 SHCS, 5/16-18 X 3/4" (2-SPEED BOAT CLUTCH ADAPTOR RING) 1.00
BL100360 SHCS, 5/16-18 X 1" (STANDARD CASE - ALL STYLES) 1.00
BL100380 SHCS, 5/16-18 X 1-1/4" (REVERSE REAR LID - ALL STYLES) 1.00
BL100390 SHCS, 5/16-18 X 1-1/2" (REVERSE CASE / LD PUMP HOUSING & FRONT PLATE) 1.00
BL100400 SHCS, 5/16-18 X 1-3/4" (MID/FRONT - SHIFT LINKAGE TO CASE) 2.00
BL100410 SHCS, 5/16-18 X 2" (REAR MOUNT SHIFT LINKAGE TO CASE) 2.00
BL100430 SHCS, 5/16-24 X 1" (EARLY STYLE STD. CASE) 1.00
BL100440 SHCS, 5/16-24 X 1-1/4" (EARLY STYLE REAR LID) 1.00
BL100450 SHCS, 5/16-24 X 1-1/2" (EARLY STYLE REVERSE CASE) 1.00
BL100460 SHCS, 5/16-24 X 2" (EARLY STYLE SHIFT LINKAGE TO CASE) 1.00
BL100470 SHCS, 3/8-16 X 1-1/4" (HG REV CASE FRONT ADAPTOR PLATE) 1.00
BL100472 SHCS, 3/8-16 X 1-1/2" (HG REV CASE FRONT ADAPTOR PLATE) 2.00
BL100474 SET SCREW, #10-24 X 1/4" (NG AIR SERVO PISTON BASE) 1.00
BL100475 SET SCREW, 5/16-18 X 1/2" (LENCODRIVE REVERSR CASE PLUG) 1.00
BL100485 SET SCREW, 1/4-20 X 3/16" (SHIFT VALVE DET / NG FRONT CASE) 2.00
BL100490 SET SCREW, 3/8-24 (CS-1 FRONT CASE COLLAR BOLT HOLE PLUG) 3.00
BL100500 BHCS, 5/16-18 X 1 1/4 (CS1 LOCKOUT SHIFTER) 1.00
BL100610 TRANS CASE MOUNTING STUD 3.00
BL100620 TRANS CASE MOUNTING STUD ASSEMBLY 8.00
BL100700 1/2" PIPE PLUG (OIL FILL/DRAIN - ALL CASES) 4.00
BL100702 1/4" PIPE PLUG (AIR REGULATOR / LENCODRIVE OIL PAN) 4.00
BL100705 1/8" PIPE PLUG (LENCODRIVE TRANS COOLER PORT / AIR REG) 3.00
BL400000 FH, 3/8X24X1.5 2.00
BL601000 10-24 X 1/2" FHCS (LD SEAL REATAINER SCREW) 1.00
BL601001 10-24 X 1/4" BHAS (LD OIL FILTER MOUNTING SCREW) 1.00
BL601004 SHCS, 5/16-18 X 7/8" LENCODRIVE OIL PAN BOLT 1.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BOLTS (BL) RACER
BL601007 PHAS, 10-32 X 1" LENCODRIVE TERMINAL SCREW (PAN HEAD) 2.00
BL601014 BHAS, 10-24 X 3/4" LENCODRIVE OIL FILTER SCREW 1.00
BL601016 BHAS, 10-24 X 1/4" LENCODRIVE OIL FILTER BRACKET SCREW 1.00
BL601109 PLUG, #12 AN (LENCODRIVE OIL FILLER) 12.00
BL601110 PLUG EXTENSION, #12 AN (LENCODRIVE OIL FILLER) 24.00
BL601119 PLUG, 5/8" CUP STEEL EXPANSION (LENCODRIVE) 1.00
BL601122 PLUG, 1/2" CUP STEEL EXPANSION (LENCODRIVE) 1.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - QUILL SHAFT (BP) RACER

BP100040 SHAFT, QUILL 159.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BEARINGS RACE (BR) RACER
BR100010 THRUST WASHER, 3-EARED (REV PLANETARY / SPRAG COVER) 17.00
BR100020 THRUST WASHER, 6-EARED ( 35 & 40-SPLINE HG REV PLANETARY) 18.00
BR170282 COATED WASHER, 1/2" PLANETARY (68% GS / LD-32 & 40-SPL REV.) 7.00
BR170284 COATED WASHER, 1/2" PLANETARY 7.00
BR170286 COATED WASHER, 5/8" PLANETARY 7.00
BR170288 COATED WASHER, 3/4" PLANETARY 7.00
BR170289 COATED WASHER, 3/4" PLANETARY THICK 7.00
BR170290 COATED WASHER, 20MM PLANETARY 7.00
BR170310 THRUST RACE, SUN GEAR (CS1 /NG 32-SPLINE PLANETARY) 8.00
BR171210 THRUST RACE, REV RING GEAR / L-DRIVE SAFETY SPRAG 8.00
BR270221 THRUST RACE, NG PLANETARY & 35-SPLINE H/G REVERSE 8.00
BR270310 THRUST RACE, SUN GEAR (NG 27-SPLINE PLANETARY) 8.00
BR370221 THRUST RACE, 40-SPLINE HG REVERSE PLANETARY 8.00
BR370310 THRUST RACE, SUN GEAR (NG 27-SPLINE DBL PLANETARY) 8.00
BR373648 THRUST RACE, 32-SPLINE LD REVERSE RING GEAR 8.00
BR500030 WASHER, PLASTIC 4-EARED (32-SPLINE LD REV PLANETARY) 8.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - BOAT (BT) RACER
BT180000 BELLHOUSING, CHEVY BOAT - BILLET 899.00
BT180001 BELLHOUSING, CHRYSLER BOAT - BILLET 899.00
BT180002 BELLHOUSING, CHRYSLER BOAT (392 STYLE) - BILLET 899.00
BT180035 BOAT CLUTCH DRIVE FLANGE 249.00
BT180080 BOAT INNER CLUTCH HUB 179.00
BT180085 BOAT INNER CLUTCH HUB, TOP FUEL (35-SPLINE) 179.00
BT180086 BOAT INNER CLUTCH HUB, TOP FUEL (31-SPLINE) 179.00
BT180110 BOAT ROLLER PLATE HUB 89.00
BT180115 BOAT ROLLER PLATE SPACER .700 THICK 69.00
BT180116 BOAT ROLLER PLATE SPACER .600 THICK 69.00
BT180156 BOAT CLUTCH HOUSING 249.00
BT180235 BOAT CLUTCH DRIVE FLANGE 35 SPLINE 249.00
BT180240 BOAT CLUTCH DRIVE FLANGE 40 SPLINE 249.00
BT180335 BOAT CLUTCH DRIVE FLANGE, 35-SPLINE W/BEARING 379.00
BT180340 BOAT CLUTCH DRIVE FLANGE, 40-SPLINE W/BEARING 379.00
BT181585 BOAT INNER CLUTCH HUB, T/F 35-SPLINE 239.00
BT181590 BOAT INNER CLUTCH HUB, T/F 40-SPLINE 239.00
BT431568 BOAT CLUTCH HOUSING, 15-PACK 299.00
BTSC2500 REAR LID, CS-2 SMR 459.00
BTSC1500 REAR LID, CS-1 SMR 429.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - CRANK BUTTON (CB) RACER
CB100010 CRANK BUTTON, CHEVY 1-3/8" 10-SPLINE (6-HOLE) 179.00
CB100021 CRANK BUTTON, CHEVY 1-3/8" 16-SPLINE (1/2" 6-HOLE) 179.00
CB100027 CRANK BUTTON, CHEVY 32-SPLINE (DUAL PATTERN) 179.00
CB100032 CRANK BUTTON, CHEVY 35-SPLINE (DUAL PATTERN) 179.00
CB100040 CRANK BUTTON, CHRYSLER 32-SPLINE SLOTTED 179.00
CB100042 CRANK BUTTON, CHRYSLER 35-SPLINE (SLOTTED) 189.00
CB100043 CRANK BUTTON, CHRYSLER 40-SPLINE (SLOTTED) 189.00
CB100070 CRANK BUTTON, FORD 10-SPLINE (w/OUT STARTER RING) 189.00
CB100071 CRANK BUTTON, FORD 16-SPLINE (w/OUT STARTER RING) 189.00
CB100072 CRANK BUTTON, FORD 35-SPLINE (w/OUT STARTER RING) 189.00
CB100073 CRANK BUTTON, FORD 10-SPLINE (w/FLYWHEEL) 189.00
CB100074 CRANK BUTTON, FORD 16-SPLINE (w/FLYWHEEL) 189.00
CB100075 CRANK BUTTON, FORD 35-SPLINE (w/FLYWHEEL) 189.00
CB100076 CRANK BUTTON, FORD 10-SPLINE (W/STARTER RING) 189.00
CB100077 CRANK BUTTON, FORD 16-SPLINE (W/STARTER RING) 189.00
CB100078 CRANK BUTTON, FORD 35-SPLINE (W/STARTER RING) 189.00
CB100080 SPACER, CHRYSLER CRANK BUTTON 69.00
CB100090 SPACER, CHEVY CRANK BUTTON 69.00
CB100110 CRANK BUTTON, 429 FORD 189.00
CB100115 CRANK BUTTON, 429 FORD 1-1/2" 35-SPLINE 189.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS,

INC.

PART# DESCRIPTION - CLUTCH PACK (CL) RACER
CL100970 PRESSURE PLATE SPRING 15.00
CL136056 CLUTCH HOUSING, STEEL, 56-TOOTH 139.00
CL136156 CLUTCH HOUSING, ALUMINUM, 56-TOOTH 149.00
CL136956 CLUTCH HOUSING, ALUMINUM, BOLT-ON, MULTI 56-TOOTH 179.00
CL137010 CLUTCH HUB, 10-PACK ALUMINUM 120.00
CL137015 CLUTCH HUB, 10-PACK STEEL 130.00
CL140110 FLOATER, STEEL THIN (.060") 9.50
CL140112 FLOATER, STEEL MEDIUM (.072") 10.00
CL140114 FLOATER, STEEL THICK (.090") 11.00
CL140120 FLOATER, ALUMINUM THIN (.060") 13.00
CL140125 FLOATER, ALUMINUM MEDIUM (.072") 14.00
CL140130 FLOATER, ALUMINUM THICK (.090") 15.00
CL140135 FLOATER, ALUMINUM X-THICK (.120") 35.00
CL141000 DISC, BLUE (SMALL) 24.00
CL141020 DISC, GRAY (SMALL) 14.00
CL141080 DISC, GREEN (SMALL) 9.75
CL142000 PRESSURE PLATE, 10 PACK 89.00
CL142002 PRESSURE PLATE, 15 PACK (.350") BOAT 89.00
CL142007 PRESSURE PLATE, 7 PACK 79.00
CL144015 SHIM, (.015") 7.00
CL144030 SHIM, (.030") 7.00
CL144080 SHIM, (.080") 7.00
CL145000 SHIFT FORK 89.00
CL145019 SHIFT FORK, 19% 89.00
CL145020 SHIFT FORK DOUBLE 139.00
CL146100 ROLLER PLATE ASSEMBLY SET (LIGHT WEIGHT) 249.00
CL146101 ROLLER PLATE, MALE (LIGHT WEIGHT w/PINS) 59.00
CL146102 ROLLER PLATE, FEMALE (LIGHT WEIGHT) 54.00
CL146111 ROLLER PLATE, MALE ASSEMBLY (LIGHT WEIGHT) 129.00
CL146112 ROLLER PLATE FEMALE ASSEMBLY (LIGHT WEIGHT) 129.00
CL236556 CLUTCH HOUSING, 5 PACK 135.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - CLUTCH PACK (CL) RACER
CL236656 CLUTCH HOUSING, 6 PACK 135.00
CL236756 CLUTCH HOUSING, 7 PACK 135.00
CL236856 CLUTCH HOUSING, 8 PACK 140.00
CL237018 CLUTCH HUB, 8 PACK (LIGHT WEIGHT) 119.00
CL242510 PRESSURE PLATE, 5 PACK (LIGHT WEIGHT) 79.00
CL242610 PRESSURE PLATE, 6 PACK (LIGHT WEIGHT) 79.00
CL242710 PRESSURE PLATE, 7 PACK (LIGHT WEIGHT) 79.00
CL242810 PRESSURE PLATE, 8 PACK (LIGHT WEIGHT) 79.00
CL243120 SHIM, (.120") 12.00
CL243125 SHIM, (.125") 12.00
CL243130 SHIM, (.130") 12.00
CL243135 SHIM, (.135") 12.00
CL243140 SHIM, (.140") 12.00
CL243145 SHIM, (.145") 12.00
CL243150 SHIM, (.150") 12.00
CL243155 SHIM, (.155") 12.00
CL243160 SHIM, (.160") 12.00
CL243165 SHIM, (.165") 12.00
CL243170 SHIM, (.170") 12.00
CL243175 SHIM, (.175") 12.00
CL243180 SHIM, (.180") 12.00
CL243185 SHIM, (.185") 12.00
CL243190 SHIM, (.190") 12.00
CL243200 SHIM, (.200") 12.00
CL243205 SHIM, (.205") 12.00
CL243210 SHIM, (.210") 12.00
CL243220 SHIM, (.220") 12.00
CL246100 RADIAL PLATE ASSEMBLY, CS2 (NG LARGE CASE) 295.00
CL246101 RADIAL PLATE ASSEMBLY, NG, WITHOUT STUD AND HEIM 225.00
CL246110 RADIAL PLATE, (CS2/CS3) 89.00
CL246120 RADIAL PLATE STUD 39.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - CLUTCH PACK (CL) RACER
CL246130 RADIAL PLATE NIPPLE, LONG (CS2) 29.00
CL246135 RADIAL PLATE NIPPLE, SHORT (CS3/ST1200) 29.00
CL336556 CLUTCH HOUSING, 5-PACK DOUBLE 130.00
CL342500 PRESSURE PLATE, 5-PACK DOUBLE 79.00
CL346100 RADIAL PLATE ASSEMBLY, CS3 (NG SMALL CASE) 295.00
CL400007 CLUTCH HUB,CS4 STEEL 99.00
CL400027 CLUTCH HUB, CS4 STEEL, NO BEARING 99.00
CL400100 RETAINER,CS4 CLUTCH HUB SNAP RING RETAINER 22.00
CL436768 CLUTCH HOUSING, 7-PACK LARGE (CS2 BOAT) 189.00
CL536768 CLUTCH HOUSING, 7-PACK LARGE (CS2) 149.00
CL537007 CLUTCH HUB, 7-PACK LARGE (CS2) 144.00
CL537017 CLUTCH HUB, 7-PACK LARGE STEEL (CS2) 144.00
CL540110 FLOATER, LARGE STEEL THIN .060" (CS2) 11.00
CL540113 FLOATER, LARGE STEEL THIN .072" (CS2) 12.00
CL540115 FLOATER, LARGE STEEL THICK .090" (CS2) 13.00
CL540120 FLOATER, LARGE ALUMINUM THIN .060" (CS2) BLACK ANODIZED 22.00
CL540125 FLOATER, LARGE ALUMINUM THICK .072" (CS2) 22.00
CL541020 DISC, LARGE KEVLAR (CS2) 24.00
CL541080 DISC, LARGE GREEN (CS2) 12.00
CL541090 DISC, LARGE RED (CS2/ALTO) 16.00
CL542700 PRESSURE PLATE, 7-PACK LARGE (CS2) 95.00
CL573768 CLUTCH HOUSING, 7-PACK LARGE STEEL (CS2 1.73 GEAR SET) 150.00
CL600200 CLUTCH PLATE, RED (TRANS-BRAKE) 15.00
CL600300 CLUTCH PLATE, GREY (TRANS-BRAKE) 30.00
CL601100 FLOATER PLATE, .050 (TRANS-BRAKE) 13.00
CL601200 FLOATER PLATE, .060 (TRANS-BRAKE) 13.00
CL736756 CLUTCH HOUSING (ST-1200) 140.00
CL737018 CLUTCH HUB, 7-PACK STEEL (ST-1200) 89.00
CL742700 PRESSURE PLATE, 7-PACK (ST-1200) 89.00
CL746110 RADIAL PLATE (ST-1200) 79.00
CL746120 RADIAL PLATE ASSEMBLEY (ST1200) 209.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - COUPLERS & DRIVESHAFT CLAMPS (CP) RACER
CP100010 GEAR SET ELIMINATOR, 6-SPLINE 159.00
CP100015 GEAR SET ELIMINATOR, 29 X 35-SPLINE 159.00
CP100020 GEAR SET ELIMINATOR, 32 X 35-SPLINE 159.00
CP100200 COUPLER, 1-3/8" 10-SPLINE MALE SHORT (1.200" OAL) 119.00
CP100220 COUPLER, 1-3/8" 10-SPLINE MALE (2.5" OAL) 119.00
CP100230 COUPLER, 1-3/8" 16-SPLINE MALE (2.5" OAL) 119.00
CP100240 COUPLER, 1-3/8" 16-SPLINE MALE LONG (3.5" OAL) 119.00
CP100250 COUPLER, 1-3/8" 16-SPLINE MALE SHORT (1.200" OAL) 119.00
CP100255 COUPLER, 1-3/8" 32-SPLINE MALE SHORT (1.200" OAL) 119.00
CP100260 COUPLER, 1-3/8" 32-SPLINE MALE (2.5" OAL) 119.00
CP100270 COUPLER, 1-3/8" 32-SPLINE LONG (3.5" OAL) 119.00
CP100280 COUPLER, 1-1/2" 35-SPLINE MALE (2.5" OAL) 119.00
CP100290 COUPLER, 1-1/2" 35-SPLINE MALE LONG (3.5" OAL) 119.00
CP100300 COUPLER, 1-1/2" 35-SPLINE MALE PINION (2.5" OAL) 119.00
CP100340 DRIVE SHAFT CLAMP, 1-1/2" 35-SPLINE (1-PIECE) 35.00
CP100350 DRIVE SHAFT CLAMP, 1-3/8" 16/32-SPLINE (1-PIECE) 35.00
CP100351 DRIVE SHAFT CLAMP, 1-3/8" 16/32-SPLINE STEEL (1-PIECE) 35.00
CP100360 DRIVE SHAFT CLAMP, 1-1/2" 35-SPLINE (2-PIECE) 35.00
CP100370 DRIVE SHAFT CLAMP, 1-3/8" 16/32-SPLINE (2-PIECE) 35.00
CP100380 COUPLER SLEEVE, 1-3/8" 16-SPLINE 109.00
CP100390 COUPLER SLEEVE, 1-3/8" 32-SPLINE 109.00
CP100400 COUPLER SLEEVE, 1-1/2" 35-SPLINE 109.00
CP100430 TRANSMISSION ELIMINATOR SLEEVE 109.00
CP101000 COUPLER, POWERGLIDE SHORT 109.00
CP101100 COUPLER, POWEGLIDE LONG 129.00
CP103335 COUPLER, 1-1/2" 35-SPLINE STAR (3.25" OAL) 129.00
CP130050 COUPLER, 1-3/8" 10-SPLINE FEMALE 119.00
CP130060 COUPLER, 1-1/4" 28-SPLINE FEMALE PINION (STOCK FORD) 119.00
CP130120 COUPLER, 1-3/8" 16-SPLINE FEMALE 119.00
CP130130 COUPLER, 1-3/8" 16-SPLINE FEMALE LONG 129.00
CP130140 COUPLER, 1-3/8" 32-SPLINE FEMALE 119.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - COUPLERS & DRIVESHAFT CLAMPS (CP) RACER
CP130150 COUPLER, 1-3/8" 32-SPLINE FEMALE LONG 129.00
CP130160 COUPLER, 1-1/2" 35-SPLINE FEMALE 119.00
CP130170 COUPLER, 1-1/2" 35-SPLINE FEMALE LONG 129.00
CP130175 COUPLER, 1-1/2" 35-SPLINE FEMALE (CUSTOM LENGTH) P.O.R
CP130180 COUPLER, 1-1/2" 35-SPLINE FEMALE PINION 119.00
CP130181 COUPLER, 1-1/2" 35-SPLINE FEMALE PINION (CUSTOM LENGTH) P.O.R
CP140000 YOKE, 1-3/8" 16-SPLINE (LENCO OUTPUT) 199.00
CP140116 YOKE, 1-3/8" 16-SPLINE BILLET 279.00
CP140132 YOKE, 1-38" 32-SPLINE BILLET 279.00
CP202732 GEAR SET ELIMINATOR, 27 X 32-SPLINE 159.00
CP202735 GEAR SET ELIMINATOR, 27 X 35-SPLINE 159.00
CP300040 COUPLER, 40-SPLINE REVERSE FRONT DRIVE 159.00
CP300047 COUPLER, 40-SPLINE REVERSE FRONT DRIVE (MA-350) 299.00
CP300240 COUPLER, 40-SPLINE FRONT DRIVE (LARGE BEARING) 159.00
CP300245 COUPLER, 40-SPLINE FRONT DRIVE (SMALL BEARING / MA-350) 209.00
CP300247 COUPLER, 40-SPLINE FRONT DRIVE (LARGE BEARING / MA-350) 299.00
CP300340 CLAMP, 1-3/4" 40-SPLINE DRIVE SHAFT 39.00
CP300345 CLAMP, 1-3/4" 40-SPLINE (2-PIECE) DRIVE SHAFT 39.00
CP300440 SLEEVE, 1-3/4" 40-SPLINE DRIVE SHAFT 89.00
CP302540 COUPLER, 1-3/4" 40-SPLINE MALE (2.50" OAL) 119.00
CP303040 COUPLER, 1-3/4" 40-SPLINE MALE (3.00" OAL) 129.00
CP303540 COUPLER, 1-3/4" 40-SPLINE MALE (3.50" OAL) 139.00
CP304040 COUPLER, 1-3/4" 40-SPLINE MALE (4.00" OAL) 149.00
CP304340 COUPLER, 1-3/4" 40-SPLINE MALE (4.25" OAL) 159.00
CP304540 COUPLER, 1-3/4" 40-SPLINE MALE (4.50" OAL) 169.00
CP304640 COUPLER, 1-3/4" 40-SPLINE MALE (CUSTOM LENGTH) P.O.R
CP332540 COUPLER, 1-3/4" 40-SPLINE FEMALE (2.50" OAL) 119.00
CP333240 COUPLER, 1-3/4" 40-SPLINE FEMALE (3.19" OAL) 129.00
CP333540 COUPLER, 1-3/4" 40-SPLINE FEMALE (3.50" OAL) 139.00
CP334040 COUPLER, 1-3/4" 40-SPLINE FEMALE (4.00" OAL) 149.00
CP334440 COUPLER, 1-3/4" 40-SPLINE FEMALE (4.375" OAL) 159.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - COUPLERS & DRIVESHAFT CLAMPS (CP) RACER
CP334540 COUPLER, 1-3/4" 40-SPLINE FEMALE (4.50" OAL) 169.00
CP335040 COUPLER, 1-3/4" 40-SPLINE FEMALE (CUSTOM LENGTH) P.O.R
CP703032 GEAR SET ELIMINATOR 30 X 32 SPLINE 159.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - CASES (CS) RACER
CS100012 CASE, 2-SPEED ONLY (12 HOLE) 759.00
CS100240 CASE, GEAR REDUCTION (68%) P.O.R
CS100250 CASE, GEAR REDUCTION (ADD-ON) 549.00
CS100255 CASE, GEAR REDUCTION (FRONT) 449.00
CS101012 CASE, 3-SPEED 12-BOLT FRONT (NO SIDE HOLES) 759.00
CS101112 CASE, 4-SPEED 12-BOLT FRONT (w/SIDE HOLES) 759.00
CS102012 CASE, 4-SPEED 12-BOLT CENTER 759.00
CS103019 CASE, CS1-N REAR 859.00
CS103112 CASE, 3 & 4-SPEED 12-BOLT REAR (w/SIDE HOLES) 759.00
CS111012 CASE, 2-3 & 4-SPEED REVERSE 579.00
CS111013 CASE, 2, 3 & 4 SPEED REVERSE BILLET BLACK ANODIZED 579.00
CS132100 REVERSE LID, COUPLER COVER QUICK DISCONNECT 32-SPLINE 159.00
CS132106 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 32-SPLINE - 6" 149.00
CS132107 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 32-SPLINE - 7" 159.00
CS132108 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 32-SPLINE - 8" 169.00
CS132109 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 32-SPLINE - 9" 179.00
CS135100 REVERSE LID, COUPLER COVER QUICK DISCONNECT 35-SPLINE 159.00
CS135106 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 35-SPLINE - 6" 149.00
CS135107 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 35-SPLINE - 7" 159.00
CS135108 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 35-SPLINE - 8" 169.00
CS135109 TUBE, COUPLER - REVERSE LID QUICK DISCONNECT 35-SPLINE - 9" 179.00
CS166006 ENDPLATE, 2-SPEED 12-BOLT .360" C'BORE (ALUM) 159.00
CS166119 ENDPLATE, 2-SPEED CS1-N (ALUM) 159.00
CS170040 HIGH GEAR REVERSE FRONT PLATE, 1-3/4" 40-SPLINE 299.00
CS170119 ADAPTER RING, CS1 REAR TO CS1-N REAR 179.00
CS170191 ADAPTER RING, CS1 FRONT TO CS1-N REAR 179.00
CS170212 ADAPTER RING, 12-BOLT 169.00
CS171119 ADAPTER RING, CS1-N TO CS1-N 169.00
CS171191 ADAPTER RING, CS1-N FRONT TO CS1 REAR 169.00
CS171311 REVERSE LID, 35-SPLINE SINGLE BEARING (ALUM) 129.00
CS171312 REVERSE LID, 35-SPLINE DOUBLE BEARING (ALUM) 129.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - CASES (CS) RACER
CS171317 TUBE, COUPLER COVER QUICK DISCONNECT (13") 189.00
CS171320 CLAMP, QUICK DISCONNECT 59.00
CS200000 CASE, LARGE NG FRONT 759.00
CS200050 CASE, LARGE NG FRONT BILLET 759.00
CS200100 CASE, LARGE NG FRONT (LIGHT WEIGHT) 759.00
CS200150 CASE, LARGE NG FRONT (LIGHT WEIGHT) BILLET BLACK ANODIZED 759.00
CS201000 CASE, LARGE NG REAR 759.00
CS201050 CASE, LARGE NG REAR BILLET 759.00
CS201100 CASE, LARGE NG REAR (LIGHT WEIGHT) 759.00
CS201150 CASE, LARGE NG REAR (LIGHT WEIGHT) BILLET BLACK ANODIZED 759.00
CS202500 CASE, LARGE NG REAR BILLET BLACK ANODIZED (3/4" DOUBLE) 799.00
CS203000 CASE, LARGE NG FRONT BILLET BLACK ANODIZED (3/4" DOUBLE) 799.00
CS211000 CASE, LARGE NG REVERSE 629.00
CS211020 CASE, LARGE NG REVERSE (LIGHT WEIGHT) 629.00
CS211050 CASE, LARGE NG REVERSE BILLET BLACK ANODIZED 629.00
CS211150 CASE, LARGE NG REVERSE (LIGHT WEIGHT) BLACK ANODIZED 629.00
CS213112 REAR LID, LARGE NG 2-SPEED 12-BOLT 269.00
CS272019 ADAPTER RING, CS1 TO CS2 159.00
CS273019 ADAPTER RING, CS1-N TO CS2 159.00
CS300250 CASE, SMALL NG GEAR REDUCTION ADD-ON 559.00
CS301016 CASE, SMALL NG REAR (16%) 759.00
CS311000 CASE, SMALL NG REVERSE 559.00
CS366004 ENDPLATE, 2-SPEED 6-BOLT (ALUMINUM) 179.00
CS371311 REVERSE LID, 40-SPLINE ALUM (SINGLE BEARING) 129.00
CS371312 REVERSE LID, 40-SPLINE ALUM (DOUBLE BEARING) 139.00
CS372311 REVERSE LID, 40-SPLINE (SINGLE BEARING) 129.00
CS400000 CASE, SMALL FRONT, BILLET, BLACK ANODIZED 759.00
CS411140 CASE, 40-SPLINE w/ADAPTER (HIGH GEAR ONLY) 559.00
CS466000 ENDPLATE, 2-SPEED (DOUBLE SPRAG) 169.00
CS466003 ENDPLATE, 2-SPEED CS3-CS4 (DOUBLE SPRAG) 169.00
CS466004 ENDPLATE, 2-SPEED MOTORCYCLE CS3 (DOUBLE SPRAG) 169.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - CASES (CS) RACER
CS466030 ENDPLATE, 2-SPEED CS2 (DOUBLE LARGE SPRAG) 169.00
CS470010 HIGH GEAR ONLY ADAPTER, (ALUMINUM) 279.00
CS600150 CASE, LENCODRIVE (MAG) 1,400.00
CS600200 OIL PAN, LENCODRIVE (ALUMINUM) 349.00
CS715000 CASE ST1500 BLACK ANODIZED 759.00
CS715110 FRONT PLATE ST1500 UNIVERSAL PATTERN 289.00
CS715115 FRONT PLATE ST1500 LENCO PATTERN 289.00
CS720000 CASE, ST-1200, NG, BLACK ANODIZED 759.00
CS720010 ADAPTER PLATE, ST-1200 UNIVERSAL (FORD, CHRYS. & CHEVY) 289.00
CS720012 ADAPTER PLATE, ST1200 LENCO PATTERN 289.00
CS720014 ADAPTER PLATE, FRONT 89.00
CS720020 REVERSE CASE, ST-1200 559.00
CS720025 REARLID, ST1200 3-SPEED ONLY 159.00
CS771315 REVERSE LID, ST1200 8-HOLE (BILLET ALUM) 129.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DRIVESHAFTS (DS) RACER
DS104216 DRIVE SHAFT, 16-SPLINE 4" ALL-SPLINE (300-M) 175.00
DS104232 DRIVE SHAFT, 32-SPLINE 4" ALL-SPLINE (300-M) 175.00
DS104235 DRIVE SHAFT, 35-SPLINE 4" ALL-SPLINE (300-M) 175.00
DS104332 DRIVE SHAFT, 32-SPLINE 4" ALL SPLINE (MA-300) 360.00
DS104335 DRIVE SHAFT, 35-SPLINE 4" ALL SPLINE (MA-300) 390.00
DS104340 DRIVE SHAFT, 40-SPLINE 4" ALL SPLINE (MA-300) 400.00
DS106216 DRIVE SHAFT, 16-SPLINE 6" ALL SPLINE (300-M) 200.00
DS106232 DRIVE SHAFT, 32-SPLINE 6" ALL SPLINE (300-M) 200.00
DS106235 DRIVE SHAFT, 35-SPLINE 6" ALL SPLINE (300-M) 220.00
DS106240 DRIVE SHAFT, 40-SPLINE 6" ALL SPLINE (300-M) 250.00
DS106332 DRIVE SHAFT, 32-SPLINE 6" ALL SPLINE (MA-300) 400.00
DS106335 DRIVE SHAFT, 35-SPLINE 6" ALL SPLINE (MA-300) 410.00
DS106340 DRIVE SHAFT, 40-SPLINE 6" ALL SPLINE (MA-300) 420.00
DS108216 DRIVE SHAFT, 16-SPLINE 8" ALL SPLINE (300-M) 220.00
DS108232 DRIVE SHAFT, 32-SPLINE 8" ALL SPLINE (300-M) 220.00
DS108235 DRIVE SHAFT, 35-SPLINE 8" ALL SPLINE (300-M) 220.00
DS108332 DRIVE SHAFT, 32-SPLINE 8" ALL SPLINE (MA-300) 410.00
DS108335 DRIVE SHAFT, 35-SPLINE 8" ALL SPLINE (MA-300) 420.00
DS108340 DRIVE SHAFT, 40-SPLINE 8" ALL SPLINE (MA-300) 430.00
DS110216 DRIVE SHAFT, 16-SPLINE 10" ALL SPLINE (300-M) 230.00
DS110232 DRIVE SHAFT, 32-SPLINE 10" ALL SPLINE (300-M) 230.00
DS110235 DRIVE SHAFT, 35-SPLINE 10" ALL SPLINE (300-M) 250.00
DS110332 DRIVE SHAFT, 32-SPLINE 10" ALL SPLINE (MA-300) 440.00
DS110335 DRIVE SHAFT, 35-SPLINE 10" ALL SPLINE (MA-300) 460.00
DS110340 DRIVE SHAFT, 40-SPLINE 10" ALL SPLINE (MA-300) 500.00
DS112216 DRIVE SHAFT, 16-SPLINE 12" (300-M) 250.00
DS112232 DRIVE SHAFT, 32-SPLINE 12" (300-M) 250.00
DS112235 DRIVE SHAFT, 35-SPLINE 12" (300-M) 270.00
DS112332 DRIVE SHAFT, 32-SPLINE 12" (MA-300) 450.00
DS112335 DRIVE SHAFT, 35-SPLINE 12" (MA-300) 470.00
DS112340 DRIVE SHAFT, 40-SPLINE 12" (MA-300) 530.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DRIVESHAFTS (DS) RACER
DS114216 DRIVE SHAFT, 16-SPLINE 14" (300-M) 265.00
DS114232 DRIVE SHAFT, 32-SPLINE 14" (300-M) 265.00
DS114235 DRIVE SHAFT, 35-SPLINE 14" (300-M) 280.00
DS114332 DRIVE SHAFT, 32-SPLINE 14" (MA-300) 480.00
DS114335 DRIVE SHAFT, 35-SPLINE 14" (MA-300) 500.00
DS114340 DRIVE SHAFT, 40-SPLINE 14" (MA-300) 600.00
DS116216 DRIVE SHAFT, 16-SPLINE 16" (300-M) 275.00
DS116232 DRIVE SHAFT, 32-SPLINE 16" (300-M) 275.00
DS116235 DRIVE SHAFT, 35-SPLINE 16" (300-M) 290.00
DS116332 DRIVE SHAFT, 32-SPLINE 16" (MA-300) 510.00
DS116335 DRIVE SHAFT, 35-SPLINE 16" (MA-300) 550.00
DS116340 DRIVE SHAFT, 40-SPLINE 16" (MA-300) 620.00
DS118216 DRIVE SHAFT, 16-SPLINE 18" (300-M) 280.00
DS118232 DRIVE SHAFT, 32-SPLINE 18" (300-M) 280.00
DS118235 DRIVE SHAFT, 35-SPLINE 18" (300-M) 300.00
DS118332 DRIVE SHAFT, 32-SPLINE 18" (MA-300) 580.00
DS118335 DRIVE SHAFT, 35-SPLINE 18" (MA-300) 600.00
DS118340 DRIVE SHAFT, 40-SPLINE 18" (MA-300) 700.00
DS120216 DRIVE SHAFT, 16-SPLINE 20" (300-M) 320.00
DS120232 DRIVE SHAFT, 32-SPLINE 20" (300-M) 320.00
DS120235 DRIVE SHAFT, 35-SPLINE 20" (300-M) 350.00
DS120332 DRIVE SHAFT, 32-SPLINE 20" (MA-300) 650.00
DS120335 DRIVE SHAFT, 35-SPLINE 20" (MA-300) 700.00
DS120340 DRIVE SHAFT, 40-SPLINE 20" (MA-300) 780.00
DS122216 DRIVE SHAFT, 16-SPLINE 22" (300-M) 330.00
DS122232 DRIVE SHAFT, 32-SPLINE 22" (300-M) 330.00
DS122235 DRIVE SHAFT, 35-SPLINE 22" (300-M) 350.00
DS122332 DRIVE SHAFT, 32-SPLINE 22" (MA-300) 675.00
DS122335 DRIVE SHAFT, 35-SPLINE 22" (MA-300) 700.00
DS122340 DRIVE SHAFT, 40-SPLINE 22" (MA-300) 800.00
DS124216 DRIVE SHAFT, 16-SPLINE 24" (300-M) 350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DRIVESHAFTS (DS) RACER
DS124232 DRIVE SHAFT, 32-SPLINE 24" (300-M) 350.00
DS124235 DRIVE SHAFT, 35-SPLINE 24" (300-M) 350.00
DS124332 DRIVE SHAFT, 32-SPLINE 24" (MA-300) 750.00
DS124335 DRIVE SHAFT, 35-SPLINE 24" (MA-300) 750.00
DS124340 DRIVE SHAFT, 40-SPLINE 24" (MA-300) 850.00
DS126216 DRIVE SHAFT, 16-SPLINE 26" (300-M) 375.00
DS126232 DRIVE SHAFT, 32-SPLINE 26" (300-M) 375.00
DS126235 DRIVE SHAFT, 35-SPLINE 26" (300-M) 390.00
DS126332 DRIVE SHAFT, 32-SPLINE 26" (MA-300) 800.00
DS126335 DRIVE SHAFT, 35-SPLINE 26" (MA-300) 840.00
DS126340 DRIVE SHAFT, 40-SPLINE 26" (MA-300) 900.00
DS128132 DRIVE SHAFT, 32 SPLINE 27" (300-M) 370.00
DS128216 DRIVE SHAFT, 16-SPLINE 28" (300-M) 390.00
DS128232 DRIVE SHAFT, 32-SPLINE 28" (300-M) 390.00
DS128235 DRIVE SHAFT, 35-SPLINE 28" (300-M) 400.00
DS128332 DRIVE SHAFT, 32-SPLINE 28" (MA-300) 850.00
DS128335 DRIVE SHAFT, 35-SPLINE 28" (MA-300) 900.00
DS128340 DRIVE SHAFT, 40-SPLINE 28" (MA-300) 1,050.00
DS130216 DRIVE SHAFT, 16-SPLINE 30" (300-M) 400.00
DS130232 DRIVE SHAFT, 32-SPLINE 30" (300-M) 400.00
DS130235 DRIVE SHAFT, 35 SPLINE 30" ALL SPLINE (300-M) 420.00
DS130332 DRIVE SHAFT, 32-SPLINE 30" (MA-300) 900.00
DS130335 DRIVE SHAFT, 35-SPLINE 30" (MA-300) 925.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - DOWEL PINS (DW) RACER
DW100100 DOWEL PIN, 1/4" X 1/2" HEX REV. LOCKOUT SLIDE BLOCK 2.50
DW100200 DOWEL PIN, 1/4" X 5/8" TOWER PLUNGER / NG SPRAG COVER 2.50
DW100400 DOWEL PIN, 1/4" X 7/8" ROLLER PLATE ROLLER 2.50
DW100500 DOWEL PIN, 1/4" X 1" STD. SHIFT FORK 2.50
DW100600 DOWEL PIN, 1/4" X 1 1/4" MALE-HALF ROLLER PLATE GUIDE 2.50
DW100900 DOWEL PIN, 3/8" X 7/8" REVERSE SHIFT FORK 2.50
DW200010 DOWEL PIN, 3/16" X 7/8" NG RADIAL PLATE 2.50
DW601103 DOWEL PIN, 1/4" X 1-3/4" LENCODRIVE TRANS BRAKE FLOATER 2.50
DW601104 DOWEL PIN, 1/8" X 1" LENCODRIVE VALVE BODY CONV./MAIN 2.50
DW601105 DOWEL PIN, 1/8" X 1-1/8" LENCODRIVE TRANS BRAKE 2.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SETS (GS) RACER
GS115032 1" GEAR SET, 15% 32 X 35-SPLINE (DOUBLE) 1,850.00
GS117032 1" GEAR SET, 16.4% 32 X 35-SPLINE (DOUBLE) 1,850.00
GS119032 1" GEAR SET, 19% 32 X 35-SPLINE (DOUBLE) 1,850.00
GS122032 1" GEAR SET, 22% 32 X 35-SPLINE (DOUBLE) 1,850.00
GS125032 1" GEAR SET, 25% 32 X 35-SPLINE (DOUBLE) 1,850.00
GS125129 1" GEAR SET, 25% 29 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS128106 1" GEAR SET, 28% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS128132 1" GEAR SET, 28% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS131106 1" GEAR SET, 31% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS131132 1" GEAR SET, 31% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS134106 1" GEAR SET, 34% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS134132 1" GEAR SET, 34% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS137106 1" GEAR SET, 37% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS137132 1" GEAR SET, 37% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS138106 1" GEAR SET, 38% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS138132 1" GEAR SET, 38% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS141106 1" GEAR SET, 41% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS141132 1" GEAR SET, 41% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS144132 1" GEAR SET, 44%, 32X35-SPLINE (LIGHT WEIGHT) 1,595.00
GS146132 1" GEAR SET, 46% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS148106 1" GEAR SET, 48% 6-SPLINE (LIGHT WEIGHT) 1,595.00
GS148132 1" GEAR SET, 48% 32 X 35-SPLINE (LIGHT WEIGHT) 1,595.00
GS150806 1" GEAR SET, 50% 6-SPLINE (6-GEAR) 1,800.00
GS150832 1" GEAR SET, 50% 32 X 35-SPLINE (6-GEAR) 1,800.00
GS156806 1" GEAR SET, 56% 6-SPLINE (6-GEAR) 1,800.00
GS156832 1" GEAR SET, 56% 32 X 35-SPLINE (6-GEAR) 1,800.00
GS168806 1" GEAR SET, 68% 6-SPLINE (6-GEAR) 1,880.00
GS168832 1" GEAR SET, 68% 32 X 35-SPLINE (6-GEAR) 1,880.00
GS225127 1/2" GEAR SET, 25% 27 X 32-SPLINE 1,495.00
GS225727 1/2" GEAR SET, 25% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS228127 1/2" GEAR SET, 28% 27 X 32-SPLINE 1,495.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SETS (GS) RACER
(GS228132 1/2" GEAR SET, 28% 32 X 35-SPLINE 1,495.00
GS228727 1/2" GEAR SET, 28% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS229127 1/2" GEAR SET, 29.7% 27 X 32-SPLINE 1,495.00
GS229727 1/2" GEAR SET, 29.7% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS231127 1/2" GEAR SET, 31% 27 X 32-SPLINE 1,495.00
GS231132 1/2" GEAR SET, 31% 32 X 35-SPLINE 1,495.00
GS231727 1/2" GEAR SET, 31% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS236127 1/2" GEAR SET, 36% 27 X 32-SPLINE 1,495.00
GS236132 1/2" GEAR SET, 36% 32 X 35-SPLINE 1,495.00
GS236727 1/2" GEAR SET, 36% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS238127 1/2" GEAR SET, 38% 27 X 32-SPLINE 1,495.00
GS238132 1/2" GEAR SET, 38% 32 X 35-SPLINE 1,495.00
GS238727 1/2" GEAR SET, 38% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS241127 1/2" GEAR SET, 41% 27 X 32-SPLINE 1,495.00
GS241132 1/2" GEAR SET, 41% 32 X 35-SPLINE 1,495.00
GS241727 1/2" GEAR SET, 41% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS244127 1/2" GEAR SET, 44% 27 X 32-SPLINE 1,495.00
GS244132 1/2" GEAR SET, 44% 32 X 35-SPLINE 1,495.00
GS244727 1/2" GEAR SET, 44% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS248127 1/2" GEAR SET, 48% 27 X 32-SPLINE 1,495.00
GS248132 1/2" GEAR SET, 48% 32 X 35-SPLINE 1,495.00
GS248727 1/2" GEAR SET, 48% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS250127 1/2" GEAR SET, 50% 27 X 32-SPLINE 1,495.00
GS250132 1/2" GEAR SET, 50% 32 X 35-SPLINE 1,495.00
GS250727 1/2" GEAR SET, 50% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS256127 1/2" GEAR SET, 56% 27 X 32-SPLINE 1,495.00
GS256132 1/2" GEAR SET, 56% 32 X 35-SPLINE 1,495.00
GS256727 1/2" GEAR SET, 56% 27 X 32-SPLINE (TITANIUM) 1,600.00
GS316127 1/2" GEAR SET, 16.2% DOUBLE 27 X 32-SPLINE 1,650.00
GS316727 1/2" GEAR SET, 16.2% DOUBLE 27 X 32-SPLINE (TITANIUM) 1,750.00
GS318127 1/2" GEAR SET, 18.4% DOUBLE 27 X 32-SPLINE 1,650.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SETS (GS) RACER
GS318727 1/2" GEAR SET, 18.4% DOUBLE 27 X 32-SPLINE (TITANIUM) 1,750.00
GS320127 1/2" GEAR SET, 19.9% DOUBLE 27 X 32-SPLINE 1,650.00
GS320727 1/2" GEAR SET, 19.9% DOUBLE 27 X 32-SPLINE (TITANIUM) 1,750.00
GS322127 1/2" GEAR SET, 22.4% DOUBLE 27 X 32-SPLINE 1,650.00
GS322727 1/2" GEAR SET, 22.4% DOUBLE 27 X 32-SPLINE (TITANIUM) 1,750.00
GS325127 1/2" GEAR SET, 24.9% DOUBLE 27 X 32-SPLINE 1,650.00
GS325727 1/2" GEAR SET, 24.9% DOUBLE 27 X 32-SPLINE (TITANIUM) 1,750.00
GS426127 5/8" GEAR SET,1.255 27X32-SPLINE (18MM PIN) 1,495.00
(GS429127 5/8" GEAR SET,1.285 27X32-SPLINE (18MM PIN) 1,495.00
GS430127 5/8" GEAR SET,1.295 27X32-SPLINE (18MM PIN) 1,495.00
GS431127 5/8" GEAR SET,1.310 27X32-SPLINE (18MM PIN) 1,495.00
GS433127 5/8" GEAR SET,1.333 27X32-SPLINE (18MM PIN) 1,495.00
(GS435127 5/8" GEAR SET,1.350 27X32-SPLINE (18MM PIN) 1,495.00
GS436127 5/8" GEAR SET,1.363 27X32-SPLINE (18MM PIN) 1,495.00
(GS438127 5/8" GEAR SET,1.379 27X32-SPLINE (18MM PIN) 1,495.00
GS439127 5/8" GEAR SET,1.390 27X32-SPLINE (18MM PIN) 1,495.00
GS441127 5/8" GEAR SET,1.407 27X32-SPLINE (18MM PIN) 1,495.00
(GS443127 5/8" GEAR SET,1.425 27X32-SPLINE (18MM PIN) 1,495.00
GS444127 5/8" GEAR SET,1.443 27X32-SPLINE (18MM PIN) 1,495.00
(GS446127 5/8" GEAR SET,1.463 27X32-SPLINE (18MM PIN) 1,495.00
GS448127 5/8" GEAR SET,1.481 27X32-SPLINE (18MM PIN) 1,495.00
(GS450127 5/8" GEAR SET,1.500 27X32-SPLINE (16MM PIN) 1,575.00
GS452127 5/8" GEAR SET,1.519 27X32-SPLINE (16MM PIN) 1,575.00
(GS454127 5/8" GEAR SET,1.538 27X32-SPLINE (16MM PIN) 1,575.00
GS510435 3/4" GEAR SET ASSEMBLY, 35% 32 X 35 SPLINE 4 GEAR 1,695.00
GS519032 3/4" GEAR SET, DOUBLE, 1.19 32X35 SPLINE (CS2) 1,795.00
GS520127 3/4" GEAR SET, 20% 27 X 32-SPLINE 1,595.00
GS523127 3/4" GEAR SET, 23% 27 X 32-SPLINE 1,595.00
GS525127 3/4" GEAR SET, 25% 27 X 32-SPLINE 1,595.00
GS525132 3/4" GEAR SET, 25% 32 X 35-SPLINE 1,595.00
(GS528127 3/4" GEAR SET, 28% 27 X 32-SPLINE 1,595.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SETS (GS) RACER
(GS528132 3/4" GEAR SET, 28% 32 X 35-SPLINE 1,595.00
GS529127 3/4" GEAR SET, 29.7% 27 X 32-SPLINE 1,595.00
GS530132 3/4" GEAR SET, 30% 32 X 35-SPLINE 1,595.00
GS531127 3/4" GEAR SET, 31% 27 X 32-SPLINE 1,595.00
GS531132 3/4" GEAR SET, 31% 32 X 35-SPLINE 1,595.00
GS533132 3/4" GEAR SET, 33% 32 X 35-SPLINE 1,595.00
GS534127 3/4" GEAR SET, 34% 27 X 32-SPLINE 1,595.00
GS534132 3/4" GEAR SET, 34% 32 X 35-SPLINE 1,595.00
GS535127 3/4" GEAR SET, 35% 27 X 32 SPLINE 1,595.00
GS535132 3/4" GEAR SET, 35% 32 X 35-SPLINE 1,595.00
GS536127 3/4" GEAR SET, 36% 27 X 32-SPLINE 1,595.00
GS536132 3/4" GEAR SET, 36% 32 X 35-SPLINE 1,595.00
(GS538127 3/4" GEAR SET, 38% 27 X 32-SPLINE 1,595.00
GS538132 3/4" GEAR SET, 38% 32 X 35-SPLINE 1,595.00
GS541127 3/4" GEAR SET, 41% 27 X 32-SPLINE 1,595.00
GS541132 3/4" GEAR SET, 41% 32 X 35-SPLINE 1,595.00
GS544127 3/4" GEAR SET, 44% 27 X 32-SPLINE 1,595.00
GS544132 3/4" GEAR SET, 44% 32 X 35-SPLINE 1,595.00
GS546132 3/4" GEAR SET, 46% 32 X 35-SPLINE 1,595.00
GS548127 3/4" GEAR SET, 48% 27 X 32-SPLINE 1,595.00
(GS548132 3/4" GEAR SET, 48% 32 X 35-SPLINE 1,595.00
GS550127 3/4" GEAR SET, 50% 27 X 32-SPLINE 1,595.00
GS550132 3/4" GEAR SET, 50% 32 X 35-SPLINE 1,595.00
GS556127 3/4" GEAR SET, 56% 27 X 32-SPLINE 1,595.00
GS556132 3/4" GEAR SET, 56% 32 X 35-SPLINE 1,595.00
GS573127 3/4" GEAR SET, 73% 27 X 32-SPLINE 1,795.00
GS573132 3/4" GEAR SET, 73% 32 X 35-SPLINE 1,795.00
GS712627 ST1200 GEAR SET, 26% 27 X 32 SPLINE 1,350.00
GS712930 ST1200 GEAR SET, 29% 30 X 32 SPLINE 1,350.00
GS713130 ST1200 GEAR SET, 31% 30 X 32 SPLINE 1,350.00
GS713530 ST1200 GEAR SET, 35% 30 X 32 SPLINE 1,350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SETS (GS) RACER
GS713830 ST1200 GEAR SET, 38% 30 X 32 SPLINE 1,350.00
GS714130 ST1200 GEAR SET, 41% 30 X 32 SPLINE 1,350.00
GS714430 ST1200 GEAR SET, 44% 30 X 32-SPLINE 1,350.00
GS714830 ST1200 GEAR SET, 48% 30 X 32-SPLINE 1,350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - LENCODRIVE (LD) RACER
LD600100 FRONT PLATE, LENCODRIVE 359.00
LD600110 FRONT PLATE, LENCODRIVE (MEGASHAFT) 359.00
LD600140 PUMP HOUSING SEAL RETAINER (LENCODRIVE) 29.00
LD600150 PUMP HOUSING, C-6 / MEGASHAFT 349.00
LD600160 PUMP HOUSING, T-400 349.00
LD600200 PISTON, TRANS-BRAKE 99.00
LD600250 RETAINER,TRANS-BRAKE PISTON 49.00
LD601016 ADAPTER, LOWER OIL FILTER SMALL 44.00
LD601018 ADAPTER, UPPER OIL FILTER SMALL 45.00
LD601108 EXTENSION, LENCODRIVE OIL FILLER 35.00
LD601109 CAP, LENCODRIVE OIL FILLER 19.00
LD601114 OIL FILTER, NYLON (NEW STYLE) 15.00
LD601117 PUMP, C-6 GEROTER SET 99.00
LD601118 PUMP, TURBO-400 GEROTER SET 99.00
LD601119 GEAR, TURBO-400 INNER GEROTER 79.00
LD601216 ADAPTER, LOWER OIL FILTER (LARGE/HIGH FLOW) 49.00
LD601218 ADAPTER, UPPER OIL FILTER (LARGE/HIGH FLOW) 59.00
LD602100 STATOR SUPPORT, C-6 479.00
LD602300 STATOR SUPPORT, NEW GM POWERGLIDE 479.00
LD602400 STATOR SUPPORT, MEGA-SHAFT 479.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - LINKAGE (LI) RACER
LI100020 ROD, 2ND GEAR FRONT (R/L) 32.00
L1100022 ROD, 2ND GEAR MID (R/L) 32.00
LI100024 ROD, 2ND GEAR REAR 35.00
LI100030 ROD, 3RD GEAR FRONT (L/L) 24.00
LI100032 ROD, 3RD GEAR MID (L/L) 25.00
LI100034 ROD, 3RD GEAR REAR 32.00
LI100040 ROD, 4TH GEAR FRONT (R/L) 24.00
LI100042 ROD, 4TH GEAR MID (R/L) 24.00
LI100044 ROD, 4TH GEAR REAR 24.00
LI100050 ROD, REVERSE FRONT (R/R) 24.00
LI100052 ROD, REVERSE MID (R/R) 24.00
LI100054 ROD, REVERSE REAR 24.00
LI100099 SHIFT ROD MATERIAL (PER INCH) 3.50
LI100100 5/16" CLEVIS PIN 3.00
LI100110 COTTER PINS, 1/8" x 1/2" 1.00
LI100130 THIN LINKAGE SPACER 4.00
LI100140 THICK LINKAGE SPACER 4.00
LI100150 SHIFT KNOB, COUNTERSUNK HOLE 6.00
LI100160 SHIFT KNOB, 1/4"-20 THREADED HOLE 6.00
LI100200 CLEVIS END, L/H THREAD 19.00
LI100300 CLEVIS END, R/H THREAD 19.00
LI100400 LINKAGE, SHIFT SPACER 4.00
LI170080 LINKAGE BRACKET, LOCK-OUT ONLY PLATE 24.00
LI170083 LINKAGE BRACKET ASSEMBLY, REVERSE LOCK-OUT 63.00
LI170091 BRACKET, FLAT-HANDLE MID-MOUNT 122.00
LI170092 BRACKET, FLAT-HANDLE REAR-MOUNT 119.00
LI170200 FLAT SHIFT-HANDLE, SHORT 63.00
LI170201 FLAT SHIFT-HANDLE, MEDIUM 65.00
LI170202 FLAT SHIFT-HANDLE, LONG 69.00
LI170203 FLAT SHIFT-HANDLE, REVERSE LOCK-OUT 63.00
LI170291 MID MOUNT SHIFT BRACKET CS1 79.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - LINKAGE (LI) RACER
L1170292 HEX BRACKET, REAR MOUNT LOCK-OUT ONLY 79.00
L1170391 FRONT MOUNT SHIFT BRACKET CS1 79.00
LI200000 SHIFTER, CUSTOM NEW GEN. (5-SPEED) SEE SECTION ML: SHIFTER

LI200022 ROD, 2ND GEAR MID (4-SPEED) 32.00
L1200024 ROD, 2ND GEAR REAR (4-SPEED) 32.00
LI200032 ROD, 3RD GEAR MID (4-SPEED) 28.00
LI200034 ROD, 3RD GEAR REAR (4-SPEED) 23.00
LI200042 ROD, 4TH GEAR MID (4-SPEED) 23.00
L1200044 ROD, 4TH GEAR REAR (4-SPEED) 23.00
LI200052 REVERSE ROD, MID (4-SPEED) 23.00
LI200054 REVERSE ROD, REAR (4-SPEED) 23.00
LI200122 ROD, 2ND GEAR MID (5-SPEED) (R/L) 32.00
L1200124 ROD, 2ND GEAR REAR (5-SPEED) (R/L) 32.00
LI200132 ROD, 3RD GEAR MID (5-SPEED) (R/L) 29.00
LI200134 ROD, 3RD GEAR REAR (5-SPEED) (R/L) 24.00
LI200142 ROD, 4TH GEAR MID (5-SPEED) (R/L) 24.00
L1200144 ROD, 4TH GEAR REAR (5-SPEED) (R/L) 24.00
LI200152 ROD, 5TH GEAR MID (5-SPEED) (RIL) 24.00
LI200154 ROD, 5TH GEAR REAR (5-SPEED) (R/R) 24.00
LI200162 REVERSE ROD, MID (5-SPEED) (R/R) 24.00
LI200164 REVERSE ROD, REAR (5-SPEED) (R/R) 24.00
LI270090 HEX BRACKET, REAR-MOUNT (ALL STYLES) 109.00
LI270091 HEX BRACKET, CS-1 MID-MOUNT 120.00
LI270100 HEX BRACKET, CS-2 FRONT & MID-MOUNT 99.00
LI370110 HEX BRACKET, CS-3 FRONT MOUNT 99.00
L1370297 HEX BRACKET, CS-3 MID-MOUNT 122.00
LI372025 HEX SHIFT-HANDLE, 7.5" SHORT (CS-1,2,3&LD'S) 59.00
L1372030 HEX SHIFT-HANDLE, 8.5" MEDIUM (CS-1,2,3&LD'S) 59.00
L1372035 HEX SHIFT-HANDLE, 9.5" LONG (CS-1,2,3&LD'S) 62.00
LI372040 HEX SHIFT-HANDLE, 10.5" X-LONG (CS-1,2,3&LD'S) 65.00
LI770092 FLAT BRACKET, ST1200 FRONT & MID-MOUNT 120.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - LINKAGE (LI) RACER
LI770093 HEX BRACKET, ST1200 FRONT & MID-MOUNT 150.00
LI770094 HEX BRACKET, REVERSE LOCK-OUT 45.00
LI770096 HEX BRACKET, ST1200 6-SPD. FRONT & MID-MOUNT 165.00
LI770097 HEX GRIP-RING, REVERSE LOCK-OUT HANDLE 16.00
LI770100 BALL, HEX SHIFT HANDLE 9.00
LI772015 HEX SHIFT-HANDLE ASSY, 12" REVERSE (ALL HEX-SHIFTERS) 149.00
LI772020 HEX SHIFT-HANDLE, 12" REVERSE (ALL HEX-SHIFTERS) 89.00
LI1772025 HEX SHIFT-HANDLE, 12" SHORT (ST-1200) 69.00
LI772093 HEX BUSHING, SHIFT-HANDLE 6.00
LI772096 HEX PUSH ROD, REVERSE LOCK-OUT HANDLE 15.00
LI772098 HEX BUSHING, REVERSE LOCK-OUT HANDLE 6.00
LI772099 HEX SLIDE-BLOCK, REVERSE LOCK-OUT HANDLE 13.00
LI773030 HEX SHIFT-HANDLE, 13" MEDIUM (ST-1200) 79.00
LI773055 HEX STAND-OFF, SHIFT-HANDLE HEIM MOUNT 7.00
LI773060 HEX SPRING-CAP, REVERSE LOCK-OUT HANDLE 7.00
LI774035 HEX SHIFT-HANDLE, 14" LONG (ST-1200) 89.00
LI775040 HEX SHIFT-HANDLE, 15" X-LONG (ST-1200) 89.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - MISCELLANEOUS (MC) RACER
MC100001 DECAL, LENCO (LARGE) N/C
MC100002 DECAL, LENCO (SMALL) N/C
MC100003 DECAL, STREET ST-1200 N/C
MC100004 DECAL, LENCODRIVE N/C
MC100006 TIMESERTS, 1/4"-20 4.00
MC100007 TIMESERTS, 5/16"-18 4.00
MC100008 TIMESERTS, 3/8"-16 (LENCODRIVE) 4.00
MC100010 NUTSERTS, 3/8-24 4.00
MC100020 HELI-COIL, 1/4"-20 4.00
MC100022 HELI-COIL, 5/16"-18 4.00
MC100023 HELI-COIL, 5/16"-24 4.00
MC100024 HELI-COIL, 3/8"-24 4.00
MC100120 HEIM, 5/16"-24 (R/H) 19.00
MC100200 OIL, LENCO LUBE (QUART) 8.00
MC100250 OIL, LENCO LUBE (CASE, 6 QUARTS) 48.00
MC102000 MAGNET, RACE PACK 12.00
MC140000 WRENCH, AIR SERVO / TOWER 49.00
MC600200 TRANS-BRAKE BUTTON 80.00
MC600300 NEUTRAL SAFETY SWITCH 120.00
MC600401 TRANSBRAKE LOCK-OUT SWITCH 69.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

MANUAL LINKAGE SHIFTER (ML) PART KEY DIRECTIONS ONLY

PART NUMBER KEY: MLABCDEF ML = MANUAL LINKAGE SHIFTER
A =  TYPE OF TRANSMISSION
B = NUMBER OF SPEEDS
C = MOUNTING POSITION
D = NEUTRAL SAFETY SWITCH
E =  REVERSE CROSS SHAFT POSITION
F = HANDLE LENGTH
STEP 1: A = TYPE OF TRANSMISSION, PICK ONE EXAMPLE
1=CS1 MLl
2 = CS2 AND CS2LW (CS2LW = ADD LW TO END OF FINAL PART NUMBER)
3=CS3 AND CS4
6 = LENCODRIVE
7 = ST1200
8 = REVERSE ONLY
STEP 2: B = NUMBER OF SPEEDS, PICK ONE EXAMPLE
1= LOCK OUT ONLY ML12
2 = 2 SPEED
3 = 3 SPEED
4 = 4 SPEED
5 =5 SPEED
6 = 6 SPEED
OR DIRECT DRIVE
STEP 3: C = MOUNTING POSITION, PICK ONE EXAMPLE
1 = EXTREME FRONT ML124 __ _
2 = FRONT
3=MID
4 = REAR
5 = REAR WITH EXTENSION
STEP 4: D = NEUTRAL SAFETY SWITCH (PART # MC600300 NOT INCLUDED) ~ EXAMPLE
1=YES ADD: MC600300 +$120.00 ML1242 __
2=NO NOTE: REQUIRED ON TORQUE CONVERTER CARS
STEP 5: E = REVERSE CROSS SHAFT POSITION, PICK ONE EXAMPLE
1 = UPPER RIGHT ML12423 _
2 = LOWER RIGHT
3 = UPPER LEFT
4 = LOWER LEFT
STEP 6: F = HANDLE LENGTH, PICK ONE FINAL PART NUMBER

1=SHORT

2 = MEDIUM

3 =LONG

4 = REVERSE LEVER, STEEL

5 =REVERSE LEVER, ALUMINUM

ML124234

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION: MANUAL LINKAGE SHIFTER (ML) RACER
ML112000 SHIFTER, CS1 LOCK OUT ONLY FRONT MOUNT 359.00
ML113000 SHIFTER, CS1 LOCK OUT ONLY MID MOUNT 359.00
ML114000 SHIFTER, CS1 LOCK OUT ONLY REAR MOUNT 359.00
ML123000 SHIFTER, CS1 TWO SPEED MID MOUNT 529.00
ML124000 SHIFTER, CS1 TWO SPEED REAR MOUNT 529.00
ML132000 SHIFTER, CS1 THREE SPEED FRONT MOUNT 699.00
ML133000 SHIFTER, CS1 THREE SPEED MID MOUNT 699.00
ML134000 SHIFTER, CS1 THREE SPEED REAR MOUNT 699.00
ML142000 SHIFTER, CS1 FOUR SPEED FRONT MOUNT 879.00
ML143000 SHIFTER, CS1 FOUR SPEED MID MOUNT 879.00
ML144000 SHIFTER, CS1 FOUR SPEED REAR MOUNT 879.00
ML212000 SHIFTER, CS2 LOCK OUT ONLY FRONT MOUNT 359.00
ML213000 SHIFTER, CS2 LOCK OUT ONLY MID MOUNT 359.00
ML214000 SHIFTER, CS2 LOCK OUT ONLY REAR MOUNT 359.00
ML223000 SHIFTER, CS2 TWO SPEED & REVERSE MID MOUNT 529.00
ML224000 SHIFTER, CS2 TWO SPEED & REVERSE REAR MOUNT 529.00
ML232000 SHIFTER, CS2 THREE SPEED & REVERSE FRONT MOUNT 699.00
ML233000 SHIFTER, CS2 THREE SPEED & REVERSE MID MOUNT 699.00
ML234000 SHIFTER, CS2 THREE SPEED & REVERSE REAR MOUNT 699.00
ML242000 SHIFTER, CS2 FOUR SPEED & REVERSE FRONT MOUNT 879.00
ML243000 SHIFTER, CS2 FOUR SPEED & REVERSE MID MOUNT 879.00
ML244000 SHIFTER, CS2 FOUR SPEED & REVERSE REAR MOUNT 879.00
ML252000 SHIFTER, CS2 FIVE SPEED & REVERSE FRONT MOUNT 1,069.00
ML253000 SHIFTER, CS2 FIVE SPEED & REVERSE MID MOUNT 1,069.00
ML254000 SHIFTER, CS2 FIVE SPEED & REVERSE REAR MOUNT 1,069.00
ML313000 SHIFTER, CS3 LOCK OUT ONLY MID MOUNT 359.00
ML323000 SHIFTER, CS3 OR CS4 TWO SPEED & REVERSE MID MOUNT 529.00
ML324000 SHIFTER, CS3 OR CS4 TWO SPEED & REVERSE REAR MOUNT 529.00
ML332000 SHIFTER, CS3 OR CS4 THREE SPEED & REVERSE FRONT MOUNT 699.00
ML333000 SHIFTER, CS3 OR CS4 THREE SPEED & REVERSE MID MOUNT 699.00
ML334000 SHIFTER, CS3 OR CS4 THREE SPEED & REVERSE REAR MOUNT 699.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

ML342000 SHIFTER, CS3 OR CS4 FOUR SPEED & REVERSE FRONT MOUNT 879.00
ML343000 SHIFTER, CS3 OR CS4 FOUR SPEED & REVERSE MID MOUNT 879.00
ML344000 SHIFTER, CS3 OR CS4 FOUR SPEED & REVERSE REAR MOUNT 879.00
ML351000 SHIFTER, CS3 OR CS4 FIVE SPEED & REVERSE EXTREME FRONT MOUNT 1,069.00
ML352000 SHIFTER, CS3 OR CS4 FIVE SPEED & REVERSE FRONT MOUNT 1,069.00
ML353000 SHIFTER, CS3 OR CS4 FIVE SPEED & REVERSE MID MOUNT 1,069.00
ML354000 SHIFTER, CS3 OR CS4 FIVE SPEED & REVERSE REAR MOUNT 1,069.00
ML623100 SHIFTER, LENCODRIVE 2 SPEED & REV. MID MOUNT W/ NEUTRAL SAFETY SWITCH 629.00
ML624100 SHIFTER, LENCODRIVE 2 SPEED & REV. REAR MOUNT W/ NEUTRAL SAFETY SWITCH 629.00
ML632100 SHIFTER, LENCODRIVE 3 SPEED & REV. FRONT MOUNT W/ NEUTRAL SAFETY SWITCH 829.00
ML633100 SHIFTER, LENCODRIVE 3 SPEED & REV. MID MOUNT W/ NEUTRAL SAFETY SWITCH 829.00
ML634100 SHIFTER, LENCODRIVE 3 SPEED & REV. REAR MOUNT W/ NEUTRAL SAFETY SWITCH 829.00
ML642100 SHIFTER, LENCODRIVE 4 SPEED & REV. FRONT MOUNT W/ NEUTRAL SAFETY SWITCH 979.00
ML643100 SHIFTER, LENCODRIVE 4 SPEED & REV. MID MOUNT W/ NEUTRAL SAFETY SWITCH 979.00
ML644100 SHIFTER, LENCODRIVE 4 SPEED & REV. REAR MOUNT W/ NEUTRAL SAFETY SWITCH 979.00
ML723000 SHIFTER, ST1200 TWO SPEED & REVERSE MID MOUNT 529.00
ML724000 SHIFTER, ST1200 TWO SPEED & REVERSE REAR MOUNT 529.00
ML732000 SHIFTER, ST1200 THREE SPEED & REVERSE FRONT MOUNT 699.00
ML733000 SHIFTER, ST1200 THREE SPEED & REVERSE MID MOUNT 699.00
ML734000 SHIFTER, ST1200 THREE SPEED & REVERSE REAR MOUNT 699.00
ML742000 SHIFTER, ST1200 FOUR SPEED & REVERSE FRONT MOUNT 879.00
ML743000 SHIFTER, ST1200 FOUR SPEED & REVERSE MID MOUNT 879.00
ML744000 SHIFTER, ST1200 FOUR SPEED & REVERSE REAR MOUNT 879.00
ML752000 SHIFTER, ST1200 FIVE SPEED & REVERSE FRONT MOUNT 1,069.00
ML753000 SHIFTER, ST1200 FIVE SPEED & REVERSE MID MOUNT 1,069.00
ML754000 SHIFTER, ST1200 FIVE SPEED & REVERSE REAR MOUNT 1,069.00
ML762000 SHIFTER, ST1200 SIX SPEED & REVERSE FRONT MOUNT 1,249.00
ML763000 SHIFTER, ST1200 SIX SPEED & REVERSE MID MOUNT 1,249.00
ML764000 SHIFTER, ST1200 SIX SPEED & REVERSE REAR MOUNT 1,249.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - MANUAL SHIFT (MS) RACER
MS170010 SHIFT LEVER, CHECKING 45.00
MS170011 SHIFT LEVER, SHORT 35.00
MS170012 SHIFT LEVER, MEDIUM 37.00
MS170013 SHIFT LEVER, LONG 39.00
MS170015 SHIFT LEVER, STRAIGHT 39.00
MS170030 SHIFT TOWER PLUG 19.00
MS170040 SHIFT TOWER BODY 49.00
MS170041 ADJUSTABLE TOWER CAP 55.00
MS170042 ADJUSTABLE TOWER SHAFT 37.00
MS170050 SHIFT TOWER NUT, STEEL 12.00
MS170051 SHIFT TOWER NUT, ADJUSTABLE 12.00
MS170052 SHIFT TOWER NUT, ALUMINUM 12.00
MS170070 SHIFT TOWER PLUNGER 29.00
MS170071 SHIFT TOWER PLUNGER, ADJUSTABLE 29.00
MS170072 SHIFT TOWER PLUNGER, ADJUSTABLE (SPRING TYPE) 29.00
MS170073 SHIFT TOWER PLUNGER PLUG, (SPRING TYPE) 8.00
MS170100 TOWER PLUNGER ASSEMBLY 59.00
MS170101 TOWER PLUNGER ASSEMBLY, ADJUSTABLE 59.00
MS170102 SHIFT TOWER ASSEMBLY 99.00
MS170103 PLUNGER ASSEMBLY, ADJUSTABLE (SPRING TYPE) 59.00
MS170300 TOWER ASSEMBLY, ADJUSTABLE 155.00
MS170310 TOWER ASSEMBLY, ADJUSTABLE (SPRING TYPE) 159.00
MS270000 NG SHIFT LEVER, CHECKING 49.00
MS270010 NG SHIFT LEVER, SHORT 35.00
MS270020 NG SHIFT LEVER, MEDIUM 37.00
MS270030 NG SHIFT LEVER, LONG 39.00
MS270040 NG SHIFT LEVER, STRAIGHT 45.00
MS770040 SHIFT TOWER (ST-1200) 49.00
MS770050 SHIFT TOWER JAM NUT (ST-1200) 12.00
MS770060 SHIFT TOWER NUT SEAL (ST-1200) 10.00
MS770070 SHIFT TOWER PLUNGER (ST-1200) 39.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - MANUAL SHIFT (MS) RACER
MS770075 SHIFT TOWER PLUNGER ASSEMBLY 59.00
MS770080 SHIFT TOWER ASSEMBLY (ST-1200) 99.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - NUTS (NT) RACER
NT100010 NUT, 1/4"-20 LOCK 1.50
NT100020 NUT, 5/16"-18 LOCK 1.50
NT100030 NUT, 3/8"-16 LOCK 1.50
NT100040 NUT, 3/8"-24 (CASE SIDE MOUNT STUD INNER) 1.00
NT100050 NUT, 1/2"-20 (SHIFT VALVE LOCK) 3.00
NT100060 NUT, #10-24 (FLEX LOCK LOW CROWN) 1.50
NT100070 NUT, 1/4"-20 (FLEX LOCK LOW CROWN) 1.50
NT100080 NUT, 5/16"-24 (FLEX LOCK HIGH CROWN) 1.50
NT100085 NUT, 5/16"-24 (FLEX LOCK LOW CROWN) 1.50
NT100090 NUT, 3/8"-24 (FLEX LOCK HIGH CROWN) 1.50
NT100095 NUT, 3/8"-24 (FLEX LOCK LOW CROWN) 1.50
NT100100 NUT, 3/8"-24 (NYLOCK) 1.50
NT100110 NUT, 1/4"-20 SS THIN (AIR VALVE JAM / LD TERMINAL JAM) 1.50
NT100120 NUT, 5/16"-18 JAM 1.50
NT100130 NUT, 5/16"-24 LH CLEVIS JAM 1.50
NT100140 NUT, 5/16"24 RH HEIM JAM 1.50
NT100150 NUT, 1/2"-13 REVERSE DETENT PLUNGER JAM 1.50
NT100160 NUT, 1/2"-20 SHIFT VALVE JAM 1.50
NT100170 NUT, 1/2"-20 (HIGH CROWN LOCK) 3.00
NT100200 NUT, 3/8"-24 FLANGED (PINION SUPPORT) 2.00
NT200100 NUT, 5/16"-24 RADIAL PLATE STUD JET 5.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - O-RINGS (OR) RACER
OR100010 O-RING, TOWER / AIR SERVO JAM NUT 4.00
OR100100 O-RING, STANDARD CASE (7056) 9.00
OR100200 O-RING, ADAPTER ID (7017) 9.00
OR100300 O-RING, 19% & 15% 9.00
OR100400 O-RING KIT, 4 SPEED MANUAL SHIFT (W/REVERSE) 59.00
OR100410 O-RING KIT, 4 SPEED AIR SHIFT (Ww/REVERSE) 69.00
OR100500 O-RING KIT, 3 SPEED MANUAL SHIFT (W/REVERSE) 49.00
OR100510 O-RING KIT, 3 SPEED AIR SHIFT (Ww/REVERSE) 59.00
OR100600 O-RING KIT, 2 SPEED MANUAL SHIFT (W/REVERSE) 29.00
OR100605 O-RING KIT, 2 SPEED ONLY MANUAL SHIFT 19.00
OR100610 O-RING KIT, 2 SPEED AIR SHIFT (W/REVERSE) 29.00
OR100615 O-RING KIT, 2 SPEED ONLY AIR SHIFT 25.00
OR100700 O-RING KIT, AIR SERVO 9.00
OR100800 O-RING, AIR SERVO BASE 4.00
OR100900 O-RING, DETENT PLUNGER 4.00
OR100910 O-RING, REVERSE CROSS SHAFT PLUG 4.00
OR100915 O-RING, LARGE CROSS SHAFT PLUG 4.00
OR101100 O-RING, AIR SERVO LID & PISTON 4.00
OR101200 O-RING, CLIPPARD VALVE / AIR-SERVO PLUNGER PIN 4.00
OR101300 O-RING, REVERSE CROSS SHAFT 4.00
OR101400 O-RING, REVERSE LID / PINION SUPPORT BODY 5.00
OR101500 O-RING, SHIFT PLUNGER 4.00
OR200100 O-RING, CS-2 CASE 9.00
OR200510 O-RING KIT, CS-2 3-SPEED AIR-SHIFT (W/REVERSE) 49.00
OR200515 O-RING KIT, CS-2 4-SPEED AIR SHIFT (W/REVERSE) 69.00
OR200610 O-RING KIT, CS-2 2-SPEED (W/REVERSE) 29.00
OR201100 O-RING, AIR SERVO PISTON & LID (LARGE) 5.00
OR300100 O-RING, CS-3 CASE 9.00
OR300409 O-RING KIT, CS3 2-SPEED AIR-SHIFT (W/REVERSE) 39.00
OR300410 O-RING KIT, CS-3 4-SPEED AIR-SHIFT (W/REVERSE) 59.00
OR300500 O-RING KIT, CS-3 5-SPEED MANUAL-SHIFT (w/REVERSE) 69.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - O-RINGS (OR) RACER
OR300510 O-RING KIT, CS-3 5-SPEED AIR-SHIFT (W/REVERSE) 79.00
OR600510 O-RING KIT, LENCODRIVE 3 SPEED (W/REVERSE) LARGE AIR SERVOS 89.00
OR600700 O-RING KIT, LARGE AIR SERVO 10.00
OR601200 O-RING KIT, LENCODRIVE 59.00
OR601206 O-RING, TRANS BRAKE PISTON INNER (LENCODRIVE) 7.00
OR601208 O-RING, PUMP HOUSING (LENCODRIVE) 7.00
OR601210 O-RING, TRANS BRAKE PISTON OUTER (LENCODRIVE) 7.00
OR601212 O-RING, PAN (LENCODRIVE) 12.00
OR601213 O-RING, FRONT PLATE (LENCODRIVE) 10.00
OR601214 O-RING, OIL FILL PLUG (LENCODRIVE) 4.00
OR601215 O-RING, VALVE BODY PLUG 5.00
OR610100 O-RING KIT, SMR-2 14.00
OR700400 O-RING KIT, ST1200 4 SPEED 59.00
OR700500 O-RING KIT, ST1200 5 SPEED 69.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - GEAR SET PLANETARIES (PA) RACER
PA115032 1" PLANETARY ASSEMBLY, 15% 32-SPLINE 1,229.00
PA117032 1" PLANETARY ASSEMBLY, 16.5% 32-SPLINE 1,229.00
PA119032 1" PLANETARY ASSEMBLY, 19% 32-SPLINE 1,229.00
PA122032 1" PLANETARY ASSEMBLY, 22% 32-SPLINE (DOUBLE) 1,229.00
PA125032 1" PLANETARY ASSEMBLY, 25% 32-SPLINE (DOUBLE) 1,229.00
PA125129 1" PLANETARY ASSEMBLY, 25% 29-SPLINE (LIGHT WEIGHT) 900.00
PA128132 1" PLANETARY ASSEMBLY, 28% 32-SPLINE (LIGHT WEIGHT) 900.00
PA131132 1" PLANETARY ASSEMBLY, 31% 32-SPLINE (LIGHT WEIGHT) 900.00
PA134132 1" PLANETARY ASSEMBLY, 34% 32-SPLINE (LIGHT WEIGHT) 900.00
PA137132 1" PLANETARY ASSEMBLY, 37% 32-SPLINE (LIGHT WEIGHT) 900.00
PA138106 1" PLANETARY ASSEMBLY, 38% 6-SPLINE (LIGHT WEIGHT) 900.00
PA138132 1" PLANETARY ASSEMBLY, 38% 32-SPLINE (LIGHT WEIGHT) 900.00
PA141132 1" PLANETARY ASSEMBLY, 41% 32-SPLINE (LIGHT WEIGHT) 900.00
PA146132 1" PLANETARY ASSEMBLY, 46% 32-SPLINE (LIGHT WEIGHT) 900.00
PA148132 1" PLANETARY ASSEMBLY, 48% 32-SPLINE (LIGHT WEIGHT) 900.00
PA150832 1" PLANETARY ASSEMBLY, 50% 32-SPLINE (6-GEAR) 1,050.00
PA156832 1" PLANETARY ASSEMBLY, 56% 32-SPLINE (6-GEAR) 1,050.00
PA168832 1" PLANETARY ASSEMBLY, 68% 32-SPLINE (6-GEAR) 1,235.00
PA225127 1/2" PLANETARY ASSEMBLY, 25% 27-SPLINE 875.00
PA228127 1/2" PLANETARY ASSEMBLY, 28% 27-SPLINE 875.00
PA229127 1/2" PLANETARY ASSEMBLY, 29.7% 27-SPLINE 875.00
PA231127 1/2" PLANETARY ASSEMBLY, 31% 27-SPLINE 875.00
PA231132  1/2" PLANETARY ASSEMBLY, 31% 32-SPLINE 875.00
PA234127 1/2" PLANETARY ASSEMBLY, 34% 27-SPLINE (USE: PA634127) 875.00
PA234132 1/2" PLANETARY ASSEMBLY, 34% 32-SPLINE (USE: PA634132) 875.00
PA236127 1/2" PLANETARY ASSEMBLY, 36% 27-SPLINE 875.00
PA236132 1/2" PLANETARY ASSEMBLY, 36% 32-SPLINE 875.00
PA238127 1/2" PLANETARY ASSEMBLY, 38% 27-SPLINE 875.00
PA238132 1/2" PLANETARY ASSEMBLY, 38% 32-SPLINE 875.00
PA241127 1/2" PLANETARY ASSEMBLY, 41% 27-SPLINE 875.00
PA241132 1/2" PLANETARY ASSEMBLY, 41% 32-SPLINE 875.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - GEAR SET PLANETARIES (PA) RACER
PA244127 1/2" PLANETARY ASSEMBLY, 44% 27-SPLINE 875.00
PA244132 1/2" PLANETARY ASSEMBLY, 44% 32-SPLINE 875.00
PA248127 1/2" PLANETARY ASSEMBLY, 48% 27-SPLINE 875.00
PA248132 1/2" PLANETARY ASSEMBLY, 48% 32-SPLINE 875.00
PA250127 1/2" PLANETARY ASSEMBLY, 50% 27-SPLINE 875.00
PA250132 1/2" PLANETARY ASSEMBLY, 50% 32-SPLINE 875.00
PA256127 1/2" PLANETARY ASSEMBLY, 56% 27-SPLINE 875.00
PA256132 1/2" PLANETARY ASSEMBLY, 56% 32-SPLINE 875.00
PA316127 1/2" PLANETARY ASSEMBLY, 16.4% 27-SPLINE (DOUBLE) 1,100.00
PA318127 1/2" PLANETARY ASSEMBLY, 18.2% 27-SPLINE (DOUBLE) 1,100.00
PA320127 1/2" PLANETARY ASSEMBLY, 19.9% 27-SPLINE (DOUBLE) 1,100.00
PA322127 1/2" PLANETARY ASSEMBLY, 22.4% 27-SPLINE (DOUBLE) 1,100.00
PA325127 1/2" PLANETARY ASSEMBLY, 24.9% 27-SPLINE (DOUBLE) 1,100.00
PA444132 1" PLANETARY ASSEMBLY, 44% 32-SPLINE (LIGHT WEIGHT) 900.00
PA510435 3/4" PLANETARY ASSEMBLY, 35% 32-SPLINE 4 GEAR 975.00
PA520127 3/4" PLANETARY ASSEMBLY, 20% 27-SPLINE 900.00
PA523127  3/4" PLANETARY ASSEMBLY, 23% 27-SPLINE 900.00
PA525127  3/4" PLANETARY ASSEMBLY, 25% 27-SPLINE 900.00
PA525132  3/4" PLANETARY ASSEMBLY, 25% 32-SPLINE 900.00
PA528127  3/4" PLANETARY ASSEMBLY, 28% 27-SPLINE 900.00
PA528132  3/4" PLANETARY ASSEMBLY, 28% 32-SPLINE 900.00
PA529127  3/4" PLANETARY ASSEMBLY, 29.7% 27-SPLINE 900.00
PA529132  3/4" PLANETARY ASSEMBLY, 29.7% 32-SPLINE 900.00
PA531127  3/4" PLANETARY ASSEMBLY, 31% 27-SPLINE 900.00
PA531132  3/4" PLANETARY ASSEMBLY, 31% 32-SPLINE 900.00
PA535132  3/4" PLANETARY ASSEMBLY, 35% 32-SPLINE 900.00
PA538127 3/4" PLANETARY ASSEMBLY, 38% 27-SPLINE 900.00
PA538132  3/4" PLANETARY ASSEMBLY, 38% 32-SPLINE 900.00
PA541127  3/4" PLANETARY ASSEMBLY, 41% 27-SPLINE 900.00
PA541132  3/4" PLANETARY ASSEMBLY, 41% 32-SPLINE 900.00
PA544127  3/4" PLANETARY ASSEMBLY, 44% 27-SPLINE 900.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - GEAR SET PLANETARIES (PA) RACER
PA544132  3/4" PLANETARY ASSEMBLY, 44% 32-SPLINE 900.00
PA546132 3/4" PLANETARY ASSEMBLY, 46% 32 SPLINE 900.00
PA548127  3/4" PLANETARY ASSEMBLY, 48% 27-SPLINE 900.00
PA548132 3/4" PLANETARY ASSEMBLY, 48% 32-SPLINE 900.00
PA550127  3/4" PLANETARY ASSEMBLY, 50% 27-SPLINE 900.00
PA550132 3/4" PLANETARY ASSEMBLY, 50% 32-SPLINE 900.00
PA556127  3/4" PLANETARY ASSEMBLY, 56% 27-SPLINE 900.00
PA556132 3/4" PLANETARY ASSEMBLY, 56% 32-SPLINE 900.00
PA573127  3/4" PLANETARY ASSEMBLY, 73% 27-SPLINE (6 GEAR) 1,235.00
PA573132  3/4" PLANETARY ASSEMBLY, 73% 32-SPLINE (6 GEAR) 1,235.00
PA634127 1/2" PLANETARY ASSEMBLY, 34% 27-SPLINE (REPLACES 234127) 900.00
PA634132 1/2" PLANETARY ASSEMBLY, 34% 32-SPLINE (REPLACES 234132) 900.00
PA634727 1/2" PLANETARY ASSEMBLY, 34% 27-SPLINE (REPLACES 234727)(T) P.O.R.
PA712627 ST1200 PLANETARY ASSEMBLY 26% 27 X 32 SPLINE 860.00
PA712930 ST1200 PLANETARY ASSEMBLY 29% 30 X 32 SPLINE 860.00
PA713130 ST1200 PLANETARY ASSEMBLY 31% 30 X 32 SPLINE 860.00
PA713530 ST1200 PLANETARY ASSEMBLY 35% 30 X 32 SPLINE 860.00
PA713830 ST1200 PLANETARY ASSEMBLY 38% 30 X 32 SPLINE 860.00
PA714130 ST1200 PLANETARY ASSEMBLY 41% 30 X 32 SPLINE 860.00
PA714430 ST1200 PLANETARY ASSEMBLY 44% 30 X 32 SPLINE 860.00
PA714830 ST1200 PLANETARY ASSEMBLY 48% 30 X 32 SPLINE 860.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - PLANETARY CASES (PC) RACER
PC115032 1" PLANETARY CARRIER, 15 & 19% 32-SPLINE (DOUBLE) 590.00
PC122032 1" PLANETARY CARRIER, 22% 32SPLINE (DOUBLE) 590.00
PC125032 1" PLANETARY CARRIER, 25% 32-SPLINE (DOUBLE) 590.00
PC125129 1" PLANETARY CARRIER, 25% 29-SPLINE (L/W) 590.00
PC128132 1" PLANETARY CARRIER, 28, 37 & 44% 32-SPLINE (L/W) 590.00
PC131132 1" PLANETARY CARRIER, 31 & 38% 32 SPLINE (L/W) 590.00
PC134132 1" PLANETARY CARRIER, 34% 32-SPLINE (L/W) 590.00
PC141132 1" PLANETARY CARRIER, 41 & 46% 32-SPLINE (L/W) 590.00
PC148132 1" PLANETARY CARRIER, 48% 32-SPLINE (L/W) 590.00
PC150832 1" PLANETARY CARRIER, 50% 32-SPLINE (6-GEAR) 590.00
PC156832 1" PLANETARY CARRIER, 56% 32-SPLINE (6-GEAR) 590.00
PC168832 1" PLANETARY CARRIER, 68% 32-SPLINE (6-GEAR) 625.00
PC168932 1" PLANETARY CARRIER, 68% 32-SPLINE (6-GEAR / BOLT-ON) 590.00
PC225127 1/2" PLANETARY CARRIER, 25% 27-SPLINE 500.00
PC225227 1/2" PLANETARY CARRIER, 25% 27-SPLINE (20MM) 500.00
PC228227 1/2" PLANETARY CARRIER, 28% 27-SPLINE (20MM) 500.00
PC229227 1/2" PLANETARY CARRIER, 29.7% 27-SPLINE (20MM) 500.00
PC231227 1/2" PLANETARY CARRIER, 31% 27-SPLINE (20MM) 500.00
PC234227 1/2" PLANETARY CARRIER, 34% 27-SPLINE (20MM) 500.00
PC236127 1/2" PLANETARY CARRIER, 36% 27-SPLINE 500.00
PC236132 1/2" PLANETARY CARRIER, 36% 32-SPLINE 500.00
PC238227 1/2" PLANETARY CARRIER, 38% 27-SPLINE (20MM) 500.00
PC241227 1/2" PLANETARY CARRIER, 41% 27-SPLINE (20MM) 500.00
PC244127 1/2" PLANETARY CARRIER, 44% 27-SPLINE 500.00
PC244132 1/2" PLANETARY CARRIER, 44% 32-SPLINE 500.00
PC248127 1/2" PLANETARY CARRIER, 48% 27-SPLINE 500.00
PC248132 1/2" PLANETARY CARRIER, 48% 32-SPLINE 500.00
PC250127 1/2" PLANETARY CARRIER, 50% 27-SPLINE 500.00
PC250132 1/2" PLANETARY CARRIER, 50% 32-SPLINE 500.00
PC256127 1/2" PLANETARY CARRIER, 56% 27-SPLINE 500.00
PC256132 1/2" PLANETARY CARRIER, 56% 32-SPLINE 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - PLANETARY CASES (PC) RACER
PC256832 1/2" PLANETARY CARRIER, 56% 32-SPLINE (6-GEAR) 575.00
PC268027 1/2" PLANETARY CARRIER, 68% 27-SPLINE (BOLTED) 575.00
PC310127 1/2" PLANETARY CARRIER, 10% 27-SPLINE 575.00
PC316127 1/2" PLANETARY CARRIER, 16.2% 27-SPLINE 575.00
PC318127 1/2" PLANETARY CARRIER, 18.4% 27-SPLINE 575.00
PC320127 1/2" PLANETARY CARRIER, 19.9 & 22.4% 27-SPLINE 575.00
PC321127 1/2" PLANETARY CARRIER, 21.4% 27-SPLINE 575.00
PC375127 1/2" PLANETARY CARRIER, 75% 27-SPLINE (DOUBLE 3/4 SET) 575.00
PC418327 DRIVE PLATE, 27-SPLINE CS4 PLANET CARRIER 300 SERIES 289.00
PC418328 DRIVE PLATE, 28-SPLINE CS4 PLANET CARRIER 289.00
PC418332 DRIVE PLATE, 32-SPLINE CS4 PLANET CARRIER 300 SERIES 289.00
PC418350 CLUTCH PLATE WITH STANDS, CS4 PLANET CARRIER 27 SPLINE 300 SERIES  289.00
PC418375 PLANETARY CARRIER ASSEMBLY, CS4 27 SPLINE 590.00
PC418380 PLANETARY CARRIER ASSEMBLY, CS4 32 SPLINE 590.00
PC418427 DRIVE PLATE, 27-SPLINE CS4 PLANET CARRIER 289.00
PC418432 DRIVE PLATE, 32-SPLINE CS4 PLANET CARRIER 289.00
PC418450 CLUTCH PLATE WITH STANDS, CS4 PLANET CARRIER 27 SPLINE 289.00
PC418475 PLANETARY CARRIER ASSEMBLY, CS4 27 SPLINE 590.00
PC418480 PLANETARY CARRIER ASSEMBLY, CS4 32 SPLINE 590.00
PC418527 DRIVE PLATE, 27-SPLINE CS4 PLANET CARRIER 289.00
PC418532 DRIVE PLATE, 32-SPLINE CS4 PLANET CARRIER 289.00
PC418550 CLUTCH PLATE WITH STANDS, CS4 PLANET CARRIER 27 SPLINE 289.00
PC418575 PLANETARY CARRIER ASSEMBLY, CS4 27 SPLINE 590.00
PC418580 PLANETARY CARRIER ASSEMBLY, CS4 32 SPLINE 590.00
PC510335 DRIVE PLATE, 300 SERIES, 32 SPLINE 4 GEAR 289.00
PC510365 CLUTCH PLATE, 300 SERIES W/ CLUTCH HOUSING 4 GEAR 289.00
PC510460 PLANETARY CARRIER 400 SERIES W/ CLUTCH HOUSING 400.00
PC510560 PLANETARY CARRIER 500 SERIES W/ CLUTCH HOUSING 400.00
PC510660 PLANETARY CARRIER 600 SERIES W/ CLUTCH HOUSING 400.00
PC520127 3/4" PLANETARY CARRIER, 20% 27-SPLINE 575.00
PC520129 3/4" PLANETARY CARRIER, 20% 29-SPLINE 575.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - PLANETARY CASES (PC) RACER
PC523127 3/4" PLANETARY CARRIER, 22.5% 27-SPLINE 575.00
PC523129 3/4" PLANETARY CARRIER, 22.5% 29-SPLINE 575.00
PC525127 3/4" PLANETARY CARRIER, 25% 27-SPLINE 575.00
PC525132 3/4" PLANETARY CARRIER, 25% 32-SPLINE 575.00
PC528127 3/4" PLANETARY CARRIER, 28 & 44% 27-SPLINE 575.00
PC528132 3/4" PLANETARY CARRIER, 28 & 44% 32-SPLINE 575.00
PC531127 3/4" PLANETARY CARRIER, 31% 27-SPLINE 575.00
PC531132 3/4" PLANETARY CARRIER, 31% 32-SPLINE 575.00
PC535132 3/4" PLANETARY CARRIER, 35% 32-SPLINE 575.00
PC538127 3/4" PLANETARY CARRIER, 38% 27-SPLINE 575.00
PC538132 3/4" PLANETARY CARRIER, 38% 32-SPLINE 575.00
PC541127 3/4" PLANETARY CARRIER, 41% 27-SPLINE 575.00
PC541132 3/4" PLANETARY CARRIER, 41% 32-SPLINE 575.00
PC546127 3/4" PLANETARY CARRIER, 46.2% 27-SPLINE 575.00
PC546132 3/4" PLANETARY CARRIER, 46.2% 32-SPLINE 575.00
PC548127 3/4" PLANETARY CARRIER, 48% 27-SPLINE 575.00
PC548132 3/4" PLANETARY CARRIER, 48% 32-SPLINE 575.00
PC550127 3/4" PLANETARY CARRIER, 50% 27-SPLINE 575.00
PC550132 3/4" PLANETARY CARRIER, 50% 32-SPLINE 575.00
PC556127 3/4" PLANETARY CARRIER, 56% 27-SPLINE 575.00
PC556132 3/4" PLANETARY CARRIER, 56% 32-SPLINE 575.00
PC573127 3/4" PLANETARY CARRIER, 73% 27-SPLINE (LENCODRIVE) 675.00
PC573132 3/4" PLANETARY CARRIER, 73% 32-SPLINE (LENCODRIVE) 675.00
PC710327 ST1200 DRIVE PLATE, 27 SPLINE 300 SERIES 189.00
PC710330 ST1200 DRIVE PLATE, 30 SPLINE 300 SERIES 189.00
PC710350 ST1200 REAR CLUTCH PLATE, 300 SERIES 275.00
PC710430 ST1200 DRIVE PLATE, 30 SPLINE 400 SERIES 189.00
PC710450 ST1200 REAR CLUTCH PLATE, 400 SERIES 275.00
PC710530 ST1200 DRIVE PLATE, 30 SPLINE 500 SERIES 189.00
PC710550 ST1200 REAR CLUTCH PLATE, 500 SERIES 275.00
PC710677 ST1200 PLANET CASE, 27 SPLINE 2 PIECE LW 300 SERIES 26% 450.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - PLANETARY CASES (PC) RACER
PC710680 ST1200 PLANET CASE, 30 SPLINE 2 PIECE LW 300 SERIES 29% 35% 450.00
PC710880 ST1200 PLANET CASE, 30 SPLINE 2 PIECE LW 400 SERIES 31% 41% 44% 450.00
PC711080 ST1200 PLANET CASE, 30 SPLINE 2 PIECE LW 500 SERIES 38% 48% 450.00
PC725027 ST1200 PLANETARY CARRIER, 25% 27-SPLINE 450.00
PC731030 ST1200 PLANETARY CARRIER, 31% 30-SPLINE 450.00
PC738030 ST1200 PLANETARY CARRIER, 38% 30-SPLINE 450.00
PC744030 ST1200 PLANETARY CARRIER, 44% 30-SPLINE 450.00
PC748030 ST1200 PLANETARY CARRIER, 48%-30 SPLINE 450.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - PLANET GEARS (PG) RACER
PG100025 1" PLANETARY GEAR, 25% 99.00
PG100028 1" PLANETARY GEAR, 28% 99.00
PG100031 1" PLANETARY GEAR, 31% 98.00
PG100034 1" PLANETARY GEAR, 24% & 41% 97.00
PG100036 1" PLANETARY GEAR, 36% 97.00
PG100037 1" PLANETARY GEAR, 37% 97.00
PG100038 1" PLANETARY GEAR, 38% 97.00
PG100044 1" PLANETARY GEAR, 44% (1/2" PIN) 97.00
PG100048 1" PLANETARY GEAR, 48% 97.00
PG100050 1" PLANETARY GEAR, 50% 97.00
PG100056 1" PLANETARY GEAR, 56% 97.00
PG100068 1" PLANETARY GEAR, 68% 97.00
PG100217 1" PLANETARY GEAR, 16.5% (DOUBLE) 179.00
PG100219 1" PLANETARY GEAR, 19% (DOUBLE) 179.00
PG100220 1" PLANETARY GEAR, 20% (DOUBLE) 179.00
PG100222 1" PLANETARY GEAR, 22% (DOUBLE) 179.00
PG100225 1" PLANETARY GEAR, 25% (DOUBLE) 179.00
PG100244 1" PLANETARY GEAR, 44% (5/8" PIN) 97.00
PG140044 1" PLANETARY GEAR, 44% (3/4"-PIN) 97.00
PG170270 1" PLANETARY AXLE, 3/4"-PIN (LIGHT WEIGHT) 14.00
PG170271 1" PLANETARY AXLE, 5/8"-PIN 13.00
PG170272 1" PLANETARY AXLE, 1/2"-PIN 13.00
PG170274 1" PLANETARY AXLE, 3/4"-PIN (2.75" OAL FOR 15,16,19,22&25%) 19.00
PG200020 1/2" PLANETARY GEAR, 20% 92.00
PG200023 1/2" PLANETARY GEAR, 22.5% 92.00
PG200025 1/2" PLANETARY GEAR, 25% 92.00
PG200028 1/2" PLANETARY GEAR, 28% 92.00
PG200029 1/2" PLANETARY GEAR, 29.7% 92.00
PG200031 1/2" PLANETARY GEAR, 31% 92.00
PG200034 1/2" PLANETARY GEAR, 34% 92.00
PG200036 1/2" PLANETARY GEAR, 36% 92.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - PLANET GEARS (PG) RACER
PG200038 1/2" PLANETARY GEAR, 38% 92.00
PG200041 1/2" PLANETARY GEAR, 41% 92.00
PG200044 1/2" PLANETARY GEAR, 44% 92.00
PG200048 1/2" PLANETARY GEAR, 48% 92.00
PG200050 1/2" PLANETARY GEAR, 50% 92.00
PG200056 1/2" PLANETARY GEAR, 56% 92.00
PG200073 1/2" PLANETARY GEAR, 73% 92.00
PG200120 1/2" PLANETARY GEAR, 20% (20MM-PIN) 92.00
PG200123 1/2" PLANETARY GEAR, 22.5% (20MM-PIN) 92.00
PG200125 1/2" PLANETARY GEAR, 25% (20MM-PIN) 92.00
PG200128 1/2" PLANETARY GEAR, 28% (20MM-PIN) 92.00
PG200129 1/2" PLANETARY GEAR, 29.7% (20MM-PIN) 92.00
PG200131 1/2" PLANETARY GEAR, 31% & (34% PAG) (20MM-PIN) 92.00
PG200134 1/2" PLANETARY GEAR, 34% (5/8"-PIN) 92.00
PG200135 1/2" PLANETARY GEAR, 35.6% (20MM-PIN) 92.00
PG200136 1/2" PLANETARY GEAR, 36% (5/8"-PIN) 92.00
PG200138 1/2" PLANETARY GEAR, 38% (20MM-PIN) 92.00
PG200141 1/2" PLANETARY GEAR, 41% (20MM-PIN) 92.00
PG200144 1/2" PLANETARY GEAR, 44% (5/8"-PIN) 92.00
PG200148 1/2" PLANETARY GEAR, 48% (5/8"-PIN) 92.00
PG200150 1/2" PLANETARY GEAR, 50% (5/8"-PIN) 92.00
PG200156 1/2" PLANETARY GEAR, 56% (5/8"-PIN) 92.00
PG200173 1/2" PLANETARY GEAR, 73% 92.00
PG200625 1/2" PLANETARY AXLE, 5/8"-PIN 13.00
PG200750 1/2" PLANETARY AXLE, 3/4"-PIN 13.00
PG200787 1/2" PLANETARY AXLE, 20MM-PIN 13.00
PG201028 1/2" PLANETARY GEAR, 28% (PRO 32) 92.00
PG201031 1/2" PLANETARY GEAR, 31% (PRO 32) 92.00
PG201034 1/2" PLANETARY GEAR, 34% (PRO 32) 92.00
PG201131 1/2" PLANETARY GEAR, 31% (PRO 32) 92.00
PG201134 1/2" PLANETARY GEAR, 34% (PRO 32) 92.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - PLANET GEARS (PG) RACER
PG300216 1/2" PLANETARY GEAR, 16% (DOUBLE) 169.00
PG300218 1/2" PLANETARY GEAR, 18% (DOUBLE) 169.00
PG300220 1/2" PLANETARY GEAR, 20% (DOUBLE) 169.00
PG300221 1/2" PLANETARY GEAR, 21.4% (DOUBLE) 169.00
PG300222 1/2" PLANETARY GEAR, 22.4% (DOUBLE) 169.00
PG300224 1/2" PLANETARY GEAR, 24.1% (DOUBLE) 169.00
PG300225 1/2" PLANETARY GEAR, 25% (DOUBLE) 169.00
PG300750 1/2" PLANETARY AXLE, 3/4"-PIN (DOUBLE GS) 16.00
PG400018 5/8" PLANET GEAR,18-TOOTH CS4 16MM 92.00
PG400019 5/8" PLANET GEAR,19-TOOTH CS4 16MM 92.00
PG400020 5/8" PLANET GEAR,20-TOOTH CS4 16MM 92.00
PG400021 5/8" PLANET GEAR,21-TOOTH CS4 18MM 92.00
PG400022 5/8" PLANET GEAR,22-TOOTH CS4 18MM 92.00
PG400023 5/8" PLANET GEAR,23-TOOTH CS4 18MM 92.00
PG400024 5/8" PLANET GEAR,24-TOOTH CS4 18MM 92.00
PG400025 5/8" PLANET GEAR,25-TOOTH CS4 18MM 92.00
PG400027 5/8" PLANET GEAR,27-TOOTH CS4 18MM 92.00
PG400028 5/8" PLANET GEAR,28-TOOTH CS4 18MM 92.00
PG400029 5/8" PLANET GEAR,29-TOOTH CS4 18MM 93.00
PG400030 5/8" PLANET GEAR,30-TOOTH CS4 18MM 95.00
PG400031 5/8" PLANET GEAR,31-TOOTH CS4 18MM 98.00
PG400032 5/8" PLANET GEAR,32-TOOTH CS4 18MM 99.00
PG418000 PLANET AXLE, 18MM PIN, CS4 5/8" GEAR SET 13.00
PG500020 3/4" PLANETARY GEAR, 20.5% (18MM-PIN) 109.00
PG500023 3/4" PLANETARY GEAR, 22.5% (18MM-PIN) 109.00
PG500025 3/4" PLANETARY GEAR, 25 & 28% (18MM-PIN) 105.00
PG500028 3/4" PLANETARY GEAR, 28% (18MM-PIN) 99.00
PG500029 3/4" PLANETARY GEAR, 29 & 35% (18MM-PIN) 98.00
PG500031 3/4" PLANETARY GEAR, 31% (18MM-PIN) 96.00
PG500034 3/4" PLANETARY GEAR, 34% (18MM-PIN) 96.00
PG500036 3/4" PLANETARY GEAR, 36 & 38% (18MM-PIN) 96.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - PLANET GEARS (PG) RACER
PG500041 3/4" PLANETARY GEAR, 41% (18MM-PIN) 96.00
PG500044 3/4" PLANETARY GEAR, 44, 48, 50 & 56% (18MM-PIN) 96.00
PG500073 3/4" PLANETARY GEAR, 73% (18MM-PIN) 96.00
PG500125 3/4" PLANETARY GEAR, 25% (18MM-PIN) (PRO / 32-SPLINE) 109.00
PG500216 3/4" PLANETARY GEAR, 17% (18MM-PIN) (DOUBLE GS) 179.00
PG500220 3/4" PLANETARY GEAR, 19% (18MM-PIN) (DOUBLE GS) 179.00
PG500222 3/4" PLANETARY GEAR, 22.4% (18MM-PIN) (DOUBLE GS) 179.00
PG500368 3/4" PLANETARY AXLE, 12MM-PIN 13.00
PG500708 3/4" PLANETARY AXLE, 18MM-PIN 13.00
PG520708 3/4" PLANETARY AXLE, 18MM-PIN (DOUBLE GS) 18.00
PG600073 3/4" PLANETARY GEAR, 73% (12MM-PIN) 96.00
PG700025 ST1200 PLANETARY GEAR, 25% (18MM-PIN) 99.00
PG700031 ST1200 PLANETARY GEAR, 31% (18MM-PIN) 99.00
PG700038 ST1200 PLANETARY GEAR, 38% (18MM-PIN) 99.00
PG700044 ST1200 PLANETARY GEAR, 44% (18MM-PIN) 99.00
PG700708 ST1200 PLANETARY AXLE (18MM-PIN) 13.00
PG710021 ST1200 PLANETARY GEAR 21 TOOTH 48% 99.00
PG710022 ST1200 PLANETARY GEAR 22 TOOTH 44% 99.00
PG710024 ST1200 PLANETARY GEAR 24 TOOTH 41% 99.00
PG710026 ST1200 PLANETARY GEAR 27 TOOTH 38% 99.00
PG710027 ST1200 PLANETARY GEAR 26 TOOTH 35% 99.00
PG710030 ST1200 PLANETARY GEAR 30 TOOTH 29% AND 31% 99.00
PG710032 ST1200 PLANETARY GEAR 32 TOOTH 26% 99.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - PUMP HOUSING, LENCODRIVE (PH) RACER
PH600100 USE: LD600150 / PUMP HOUSING (LENCODRIVE) C-6 350.00
PH600300 USE: LD600160 / PUMP HOUSING (LENCODRIVE) TURBO-400 350.00
PI1600100 USE LD600200 / PISTON, TRANS-BRAKE (LENCODRIVE) 89.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SET RING GEARS (RG) RACER
RG110084 RING GEAR, 84-TOOTH 35 SPLINE CS1 MODULAR 500.00
RG110085 RING GEAR, 85-TOOTH 35 SPLINE CS1 MODULAR 500.00
RG110088 RING GEAR, 88-TOOTH 35 SPLINE CS1 MODULAR 500.00
RG115035 RING GEAR, 15D% 35-SPLINE (STANDARD) 500.00
RG117035 RING GEAR, 16.5D% 35-SPLINE (STANDARD) 500.00
RG122035 RING GEAR, 22% 35-SPLINE (STANDARD) 500.00
RG125035 RING GEAR, 19D, 25, 68 & 95D% 35-SPLINE (STANDARD) 500.00
RG125135 RING GEAR, 25% 500.00
RG125235 RING GEAR, 25D% 35-SPLINE 500.00
RG128035 RING GEAR, 28% 35-SPLINE (STANDARD) 500.00
RG131035 RING GEAR, 31% 35-SPLINE (STANDARD) 500.00
RG134035 RING GEAR, 34% 35-SPLINE (STANDARD) 500.00
RG137035 RING GEAR, 37% 35-SPLINE (STANDARD) 500.00
RG138035 RING GEAR, 38% 35-SPLINE (STANDARD) 500.00
RG141035 RING GEAR, 41 & 37% 35-SPLINE (STANDARD) 500.00
RG146035 RING GEAR, 46% 35-SPLINE (STANDARD) 500.00
RG148035 RING GEAR, 48% 35-SPLINE (STANDARD) 500.00
RG150035 RING GEAR, 50% 35-SPLINE (STANDARD) 500.00
RG156035 RING GEAR, 56% 35-SPLINE (STANDARD) 500.00
RG223032 1/2" RING GEAR, 22.5% 32-SPLINE (LIGHT WEIGHT) 500.00
RG225035 1/2" RING GEAR, 25% 35-SPLINE (STANDARD) 500.00
RG225132 1/2" RING GEAR, 25% 32-SPLINE (LIGHT WEIGHT) 500.00
RG228032 1/2" RING GEAR, 28% 32-SPLINE (STANDARD) 500.00
RG228035 1/2" RING GEAR, 28% 35-SPLINE (STANDARD) 500.00
RG228132 1/2" RING GEAR, 28% 32-SPLINE (LIGHT WEIGHT) 500.00
RG229132 1/2" RING GEAR, 29.7% 32-SPLINE (LIGHT WEIGHT) 500.00
RG231035 1/2" RING GEAR, 31% 35-SPLINE (STANDARD) 500.00
RG231132 1/2" RING GEAR, 31% 32-SPLINE (LIGHT WEIGHT) 500.00
RG234032 1/2" RING GEAR, 34% 32-SPLINE (STANDARD) 500.00
RG234035 1/2" RING GEAR, 34% 35-SPLINE (STANDARD) 500.00
RG234132 1/2" RING GEAR, 34% 32-SPLINE (LIGHT WEIGHT) 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SET RING GEARS (RG) RACER
RG236035 1/2" RING GEAR, 36% 35-SPLINE (STANDARD) 500.00
RG236132 1/2" RING GEAR, 36% 32-SPLINE (LIGHT WEIGHT) 500.00
RG238032 1/2" RING GEAR, 38% 32-SPLINE (STANDARD) 500.00
RG238035 1/2" RING GEAR, 38% 35-SPLINE (STANDARD) 500.00
RG238132 1/2" RING GEAR, 38% 32-SPLINE (LIGHT WEIGHT) 500.00
RG241035 1/2" RING GEAR, 41% 35-SPLINE (STANDARD) 500.00
RG241132 1/2" RING GEAR, 41% 32-SPLINE (LIGHT WEIGHT) (RG316132) 500.00
RG244035 1/2" RING GEAR, 44% 35-SPLINE (STANDARD) 500.00
RG244132 1/2" RING GEAR, 44% 32-SPLINE (LIGHT WEIGHT) 500.00
RG248035 1/2" RING GEAR, 48% 35-SPLINE (STANDARD) 500.00
RG248132 1/2" RING GEAR, 48% 32-SPLINE (LIGHT WEIGHT) 500.00
RG250035 1/2" RING GEAR, 50% 35-SPLINE (STANDARD) 500.00
RG250132 1/2" RING GEAR, 50% 32-SPLINE (LIGHT WEIGHT) 500.00
RG256035 1/2" RING GEAR, 56% 35-SPLINE (STANDARD) 500.00
RG256132 1/2" RING GEAR, 56% 32-SPLINE (LIGHT WEIGHT) 500.00
RG273035 1/2" RING GEAR, 73% 35-SPLINE (STANDARD) 500.00
RG273132 1/2" RING GEAR, 73% 32-SPLINE (LIGHT WEIGHT) 500.00
RG316132 1/2" RING GEAR, 16.2% 32-SPLINE (LIGHT WEIGHT) (RG241132) 500.00
RG318132 1/2" RING GEAR, 18% 32-SPLINE (LIGHT WEIGHT) 500.00
RG320132 1/2" RING GEAR, 19.9% 32-SPLINE (LIGHT WEIGHT) 500.00
RG322132 1/2" RING GEAR, 22.4% 32-SPLINE (LIGHT WEIGHT) 500.00
RG324132 1/2" RING GEAR, 24.1% 32-SPLINE (LIGHT WEIGHT) 500.00
RG325132 1/2" RING GEAR, 24.9% 32-SPLINE (LIGHT WEIGHT) 500.00
RG400078 5/8" RING GEAR,78-TOOTH 32-SPLINE LW CS4 500.00
RG400079 5/8" RING GEAR,79-TOOTH 32-SPLINE LW CS4 500.00
RG400080 5/8" RING GEAR,80-TOOTH 32-SPLINE LW CS4 500.00
RG400081 5/8" RING GEAR,81-TOOTH 32-SPLINE LW CS4 500.00
RG400082 5/8" RING GEAR,82-TOOTH 32-SPLINE LW CS4 500.00
RG400084 5/8" RING GEAR,84-TOOTH 32-SPLINE LW CS4 500.00
RG400086 5/8" RING GEAR,86-TOOTH 32-SPLINE LW CS4 500.00
RG400087 5/8" RING GEAR,87-TOOTH 32-SPLINE LW CS4 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SET RING GEARS (RG) RACER
RG400088 5/8" RING GEAR,88-TOOTH 32-SPLINE LW CS4 500.00
RG400178 5/8" RING GEAR,78-TOOTH 35-SPLINE LW CS4 500.00
RG400179 5/8" RING GEAR,79-TOOTH 35-SPLINE LW CS4 500.00
RG400180 5/8" RING GEAR,80-TOOTH 35-SPLINE LW CS4 500.00
RG400181 5/8" RING GEAR,81-TOOTH 35-SPLINE LW CS4 500.00
RG400182 5/8" RING GEAR,82-TOOTH 35-SPLINE LW CS4 500.00
RG400184 5/8" RING GEAR,84-TOOTH 35-SPLINE LW CS4 500.00
RG400186 5/8" RING GEAR,86-TOOTH 35-SPLINE LW CS4 500.00
RG400187 5/8" RING GEAR,87-TOOTH 35-SPLINE LW CS4 500.00
RG400188 5/8" RING GEAR.88-TOOTH 35-SPLINE LW CS4 500.00
RG444035 1" RING GEAR, 44% 35-SPLINE 500.00
RG510086 3/4" RING GEAR, 86-TOOTH CS2 500.00
RG510101 3/4" RING GEAR, 25% 35 SPLINE (MOD) 500.00
RG520032 3/4" RING GEAR, 20% 32-SPLINE 500.00
RG520132 3/4" RING GEAR, 20% 32-SPLINE (LIGHT WEIGHT) 500.00
RG522035 3/4" RING GEAR, 22.4% 35-SPLINE (DOUBLE) 500.00
RG523032 3/4" RING GEAR, 22.5% 32-SPLINE (STANDARD) 500.00
RG523132 3/4" RING GEAR, 22.5% 32-SPLINE (LIGHT WEIGHT) 500.00
RG525035 3/4" RING GEAR, 25% 35-SPLINE (STANDARD) 500.00
RG525132 3/4" RING GEAR, 25% 32-SPLINE (LIGHT WEIGHT) 500.00
RG528035 3/4" RING GEAR, 28% 35-SPLINE (STANDARD) 500.00
RG528132 3/4" RING GEAR, 28% 32-SPLINE (LIGHT WEIGHT) 500.00
RG531035 3/4" RING GEAR, 31% 35-SPLINE (STANDARD) 500.00
RG531132 3/4" RING GEAR, 31% 32-SPLINE (LIGHT WEIGHT) 500.00
RG534035 3/4" RING GEAR, 34 & 38% 35-SPLINE (STANDARD) (RG538035) 500.00
RG534132 3/4" RING GEAR, 34 & 38% 32-SPLINE (LIGHT WEIGHT) (RG538132) 500.00
RG536132 3/4" RING GEAR, 36% 32-SPLINE (LIGHT WEIGHT) 500.00
RG538035 3/4" RING GEAR, 38 & 34% 35-SPLINE (STANDARD) (RG534035) 500.00
RG538132 3/4" RING GEAR, 38 & 34% 32-SPLINE (LIGHT WEIGHT) (RG534132) 500.00
RG541035 3/4" RING GEAR, 41 & 44% 35-SPLINE (STANDARD) 500.00
RG541132 3/4" RING GEAR, 41 & 44% 32-SPLINE (LIGHT WEIGHT) 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - GEAR SET RING GEARS (RG) RACER
RG546035 3/4" RING GEAR, 46.2% 35-SPLINE (STANDARD) 500.00
RG546132 3/4" RING GEAR, 46.2% 32-SPLINE (LIGHT WEIGHT) 500.00
RG548035 3/4" RING GEAR, 48% 35-SPLINE (STANDARD) 500.00
RG548132 3/4" RING GEAR, 48% 32-SPLINE (LIGHT WEIGHT) 500.00
RG550035 3/4" RING GEAR, 50% 35SPLINE (STANDARD) 500.00
RG550132 3/4" RING GEAR, 50% 32-SPLINE (LIGHT WEIGHT) 500.00
RG556035 3/4" RING GEAR, 56% 35-SPLINE (STANDARD) 500.00
RG556132 3/4" RING GEAR, 56% 32-SPLINE (LIGHT WEIGHT) 500.00
RG573032 3/4" RING GEAR, 73% 32-SPLINE (STANDARD) 500.00
RG573035 3/4" RING GEAR, 73% 35-SPLINE (STANDARD) 500.00
RG710079 ST1200 RING GEAR 44% 79T 500.00
RG710080 ST1200 RING GEAR 35% 80T 500.00
RG710081 ST1200 RING GEAR 41% 48% 81T 500.00
RG710084 ST1200 RING GEAR 29% 84T 500.00
RG710086 ST1200 RING GEAR 26% 86T 500.00
RG710087 ST1200 RING GEAR 31% 38% 87T 500.00
RG725032 ST1200 RING GEAR, 25% 32-SPLINE 500.00
RG731032 ST1200 RING GEAR, 31% 32-SPLINE 500.00
RG738032 ST1200 RING GEAR, 38% 32-SPLINE 500.00
RG744032 ST1200 RING GEAR, 44% 32-SPLINE 500.00
RG748032 ST1200 RING GEAR, 48% 32-SPLINE 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - REVERSE (RV) RACER
RV100940 REVERSE DETENT PLUNGER, 1/2" 19.00
RV113232 REVERSE PLANETARY CARRIER, NEW STYLE 149.00
RV114232 REVERSE PLANETARY ASSEMBLY, NEW STYLE 349.00
RV115206 REVERSE SUN GEAR, 6 SPLINE 139.00
RV115232 REVERSE SUN GEAR, NEW STYLE 125.00
RV117232 REVERSE RING GEAR, NEW STYLE 315.00
RV122006 FORWARD DRIVE GEAR, 6-SPLINE (STANDARD) 149.00
RV122032 FORWARD DRIVE GEAR, 32-SPLINE (STANDARD) 135.00
RV122035 FORWARD DRIVE GEAR, 35-SPLINE (STANDARD) 135.00
RV122106 FORWARD DRIVE GEAR, 6-SPLINE (NEUTRAL) 149.00
RV122132 FORWARD DRIVE GEAR, 32-SPLINE (NEUTRAL) 135.00
RV122135 FORWARD DRIVE GEAR, 35-SPLINE (NEUTRAL) 135.00
RV123006 HALF & HALF SLIDER, 6-SPLINE (STANDARD) 179.00
RV123032 HALF & HALF SLIDER, 32-SPLINE (STANDARD) 169.00
RV123035 HALF & HALF SLIDER, 35-SPLINE (STANDARD) 169.00
RV123106 HALF & HALF SLIDER, 6-SPLINE (NEUTRAL) 179.00
RV123132 HALF & HALF SLIDER, 32-SPLINE (NEUTRAL) 169.00
RV123135 HALF & HALF SLIDER, 35-SPLINE (NEUTRAL) 169.00
RV124000 REVERSE SHIFT FORKBILLET 99.00
RV171000 LEVER, 2 & 3-SPEED STD. STRAIGHT REVERSE (STEEL) 29.00
RV171004 LEVER, 40-SPLINE NEUTRAL REVERSE WITH PIT PIN 42.00
RV171005 LEVER, 2 & 3-SPEED STD. STRAIGHT REVERSE (ALUMINUM) 27.00
RV171010 LEVER, 4-SPEED REVERSE W/BEND (STEEL) 29.00
RV171015 LEVER, REAR-MOUNT REVERSE /"L" SHAPED (STEEL) 39.00
RV171020 LEVER, NG FLAT-SHIFTER REVERSE (ALUMINUM) 39.00
RV171025 LEVER, NG HEX-SHIFTER REVERSE (ALUMINUM) 32.00
RV171040 RETAINER, REVERSE CROSS SHAFT 9.00
RV171070 CROSS SHAFT, REVERSE (STEEL) 49.00
RV171071 BUSHING, REVERSE CROSS SHAFT (STEEL) 19.00
RV171072 CROSS SHAFT ASSEMBLY, REVERSE (STEEL) 59.00
RV171073 PLUG, REVERSE CROSS SHAFT 10.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - REVERSE (RV) RACER
RV171075 CROSS SHAFT, REVERSE, BILLET CASES 60.00
RV171170 BUTTON, REVERSE CROSS SHAFT 8.00
RV171280 BEARING RETAINER, REVERSE LID (ALUMINUM) 39.00
RV171282 BEARING RETAINER, REVERSE LID (STEEL) 39.00
RV171284 BEARING RETAINER, REVERSE LID 35-SPLINE (STEEL) 39.00
RV171317 SEAL RETAINER, 35-SPLINE (w/O-RING GROOVE) 25.00
RV171415 SEAL RETAINER, 6 & 32-SPLINE REVERSE (ALUMINUM) 23.00
RV171417 SEAL RETAINER, 6 & 32-SPLINE w/SCREWS REVERSE (ALUMINUM) 25.00
RV171420 SEAL RETAINER, 35-SPLINE REVERSE 23.00
RV172032 COUPLER, HIGH GEAR 32 x 35-SPLINE 169.00
RV172035 COUPLER, HIGH GEAR 35-SPLINE 169.00
RV313040 CARRIER, REVERSE PLANETARY 40-SPLINE 150.00
RV313140 CARRIER ASSEMBLY, REVERSE PLANETARY 40-SPLINE 406.00
RV314040 PLANETARY GEAR, REVERSE 40-SPLINE 42.00
RV314044 PLANETARY PIN w/SHOULDER, REVERSE 32 & 40-SPLINE 19.00
RV315040 SUN GEAR, REVERSE 40-SPLINE 199.00
RV317040 RING GEAR, REVERSE 40-SPLINE 395.00
RV317140 RING GEAR, REVERSE 40-SPLINE NEUTRAL 395.00
RV322040 FORWARD DRIVE GEAR, REVERSE 40-SPLINE 139.00
RV322140 FORWARD DRIVE GEAR, REVERSE 40-SPLINE NEUTRAL 139.00
RV323040 SLIDER,REVERSE 40-SPLINE 189.00
RV323140 SLIDER, REVERSE 40-SPLINE NEUTRAL 189.00
RV324000 SHIFT FORK, REVERSE 40-SPLINE 129.00
RV324100 SHIFT FORK, REVERSE 40-SPLINE NEUTRAL 150.00
RV371280 BEARING RETAINER, REVERSE LID 40-SPLINE (STEEL) 39.00
RV371285 BEARING RETAINER, REVERSE LID 40-SPLINE (ALUMINUM) 39.00
RV410100 SHAFT SPACER, 40-SPLINE (BR270221) 12.00
RV513032 REVERSE PLANETARY CARRIER, 32-SPLINE (LOW DRAG) 159.00
RV514044 REVERSE PLANETARY PIN, w/SHOULDER 19.00
RV515032 REVERSE FRONT SLIDER, 32-SPLINE (LOW DRAG) 129.00
RV517032 REVERSE RING GEAR, 32-SPLINE (LOW DRAG) 285.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - REVERSE (RV) RACER
RV523032 HALF & HALF SLIDER, 32-SPLINE (LOW DRAG) 169.00
RV525032 REVERSE PLANETARY ASSEMBLY, (NG 32-SPLINE LOW DRAG) 349.00
RV623132 HALF & HALF SLIDER, 32-SPLINE (WIDE NEUTRAL) 169.00
RV718000 REVERSE HALF RING GEAR (STD. WIDE NEUTRAL) 139.00
RV771071 REVERSE CROSS SHAFT BUSHING (ST-1200) 16.00
RV771073 REVERSE CROSS SHAFT PLUG (ST-7200) 14.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - SUN GEAR (SG) RACER
SG100015 1" SUN GEAR, 15% & 19% 339.00
SG100017 1" SUN GEAR, 17% 339.00
SG100025 1" SUN GEAR, 25% 289.00
SG100031 1" SUN GEAR, 28, 31, 34 & 36% 289.00
SG100038 1" SUN GEAR, 38% 289.00
SG100041 1" SUN GEAR, 41% & 50% 289.00
SG100044 1" SUN GEAR, 44% (STUB) 289.00
SG100046 1" SUN GEAR, 46% 289.00
SG100056 1" SUN GEAR TUBE, 48, 56 & 68% 169.00
S5G100248 1" SUN GEAR, 48% 199.00
SG100256 1" SUN GEAR, 56% 199.00
SG100268 1" SUN GEAR, 68% 199.00
SG200021 1/2" SUN GEAR, 21-TOOTH (20 & 28%) 289.00
S$G200022 1/2" SUN GEAR, 22-TOOTH (22.5, 25, 29, 31, 34%) 289.00
SG200023 1/2" SUN GEAR, 23-TOOTH (25% 35-SPLINE RING GEAR) 289.00
SG200025 1/2" SUN GEAR, 25-TOOTH (36, P31, P34%) 289.00
SG200028 1/2" SUN GEAR, 28-TOOTH (38%) 289.00
S5G200032  1/2" SUN GEAR ASSEMBLY, 32-TOOTH (41 & 44%) 325.00
SG200035 1/2" SUN GEAR ASSEMBLY, 35-TOOTH (48%) 325.00
S5G200038 1/2" SUN GEAR ASSEMBLY, 38-TOOTH (50%) 325.00
SG200045 1/2" SUN GEAR ASSEMBLY, 45-TOOTH (56%) 325.00
S5G200076 1/2" SUN GEAR ASSEMBLY, 76-TOOTH (73%) 325.00
SG300522 1/2" SUN GEAR, 22-TOOTH (5-PACK DOUBLE 16, 20, 25%) 395.00
SG300523 1/2" SUN GEAR, 23-TOOTH (5-PACK DOUBLE 10%) 395.00
SG300524 1/2" SUN GEAR, 24-TOOTH (5-PACK DOUBLE 22.4%) 395.00
SG300525 1/2" SUN GEAR, 25-TOOTH (5-PACK DOUBLE 23%) 395.00
SG400000 SUN GEAR TUBE,CS4 5/8" 169.00
S5G400022 5/8" SUN GEAR, 22-TOOTH CS4 289.00
SG400024 5/8" SUN GEAR, 24-TOOTH CS4 289.00
SG400026 5/8" SUN GEAR, 26-TOOTH CS4 289.00
SG400027 5/8" SUN GEAR, 27-TOOTH CS4 289.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - SUN GEAR (SG) RACER
SG400028 5/8" SUN GEAR, 28-TOOTH CS4 289.00
SG400032  5/8" SUN GEAR, 32-TOOTH CS4 289.00
SG400033 5/8" SUN GEAR, 33-TOOTH CS4 289.00
SG400034 5/8' SUN GEAR, 34-TOOTH CS4 299.00
SG400035 5/8" SUN GEAR, 35 TOOTH CS4 299.00
SG400038 5/8" SUN GEAR, 38 TOOTH CS4 (NEEDS TUBE) 199.00
SG400039 5/8" SUN GEAR, 39-TOOTH CS4 (NEEDS TUBE) 199.00
SG400040 5/8" SUN GEAR, 40-TOOTH CS4 (NEEDS TUBE) 199.00
SG400041 5/8" SUN GEAR, 41-TOOTH CS4 (NEEDS TUBE) 199.00
SG400042 5/8" SUN GEAR, 42-TOOTH CS4 (NEEDS TUBE) 199.00
SG400037 1" SUN GEAR, 37% 289.00
SG400044 1" SUN GEAR, 44% (REPLACEMENT) 289.00
SG500021  3/4" SUN GEAR, 21-TOOTH (20%) 289.00
SG500022 3/4" SUN GEAR, 22-TOOTH (22.5, 25, 29%) 289.00
SG500023 3/4" SUN GEAR, 23-TOOTH (DOUBLE 22.4%) 289.00
SG500025 3/4" SUN GEAR, 25-TOOTH (28, 31, 24, 36%) 289.00
SG500028 3/4" SUN GEAR, 28-TOOTH (38%) 289.00
SG500032  3/4" SUN GEAR ASSEMBLY, 32-TOOTH (41%) 325.00
SG500035 3/4" SUN GEAR ASSEMBLY, 35-TOOTH (44%) 325.00
SG500037  3/4" SUN GEAR ASSEMBLY, 37-TOOTH (46%) 325.00
SG500040 3/4" SUN GEAR ASSEMBLY, 40-TOOTH (48%) 325.00
SG500044 3/4" SUN GEAR ASSEMBLY, 44-TOOTH (50%) 325.00
SG500055 3/4" SUN GEAR ASSEMBLY, 55-TOOTH (56%) 325.00
SG500168 3/4" SUN GEAR TUBE, (68 & 73%) 179.00
SG500255 3/4" SUN GEAR BLANK, 55-TOOTH (56%) 199.00
SG500276  3/4" SUN GEAR, 76-TOOTH (73%) 229.00
SG700022 ST1200 SUN GEAR, 22-TOOTH (25%) 289.00
SG700025 ST1200 SUN GEAR, 25-TOOTH (31%) 289.00
SG700028 ST1200 SUN GEAR, 28-TOOTH (38%) 289.00
SG700035 ST1200 SUN GEAR ASSEMBLY, 35-TOOTH (44%) 310.00
SG700040 ST1200 SUN GEAR ASSEMBLY, 40-TOOTH (48%) 310.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - SUN GEAR (SG) RACER
SG710022 ST1200 SUN GEAR 26% 22T 289.00
SG710024 ST1200 SUN GEAR 41% 24T 289.00
SG710027 ST1200 SUN GEAR 31% 27T 289.00
SG710028 ST1200 SUN GEAR 35% 28T 289.00
SG710033 ST1200 SUN GEAR 38% 41% 33T 325.00
SG710035 ST1200 SUN GEAR 44% 35T 325.00
SG710039 ST1200 SUN GEAR 48% 39T 325.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH100010 INTERMEDIATE RETAINING RING 12.00
SH100020 SEAL COLLAR, 35-SPLINE 19.00
SH100030 SEAL COLLAR, FORD 19.00
SH100040 SEAL COLLAR, CHEVY 19.00
SH100050 SEAL COLLAR, CHRYSLER 19.00
SH100060 SPACER, SHAFT PILOT 13.00
SH100100 SHAFT SPACER, 1-3/8" 20.00
SH100110 SHAFT SPACER, 1-1/2" 20.00
SH100120 240 BOAT SPACER 13.00
SH120010 INPUT, CHEVY 1-1/8" 10 X 6-SPLINE (PRO) 350.00
SH120020 INPUT, CHEVY 1-1/8" 10 X 6-SPLINE (PRO, LONG) 350.00
SH120022 INPUT, CHEVY 1-1/8" 10 X 6-SPLINE (PRO, X-LONG) 350.00
SH120030 INPUT, CHEVY 18 X 6-SPLINE (PRO) 350.00
SH120032  INPUT, CHEVY 18 X 35-SPLINE 350.00
SH120040 INPUT, CHEVY 18 X 6-SPLINE (PRO LONG) 350.00
SH120042 INPUT, CHEVY 18 X 35-SPLINE (PRO, LONG) 350.00
SH120050 INPUT, CHEVY 18 X 6-SPLINE (PRO X-LONG) 350.00
SH120051 INPUT, CHEVY 18 X 6-SPLINE (PRO XX-LONG) 350.00
SH120052  INPUT, CHEVY 18 X 35-SPLINE (PRO X-LONG) 375.00
SH120060 INPUT, CHEVY 1-3/8" 10 X 6-SPLINE (PRO) 350.00
SH120065 INPUT, CHEVY PRO 26 X 32-SPLINE 350.00
SH120070 INPUT, FORD 1-3/8" 10-SPLINE (PRO) 350.00
SH120080 INPUT, CHRYSLER 18 X 6-SPLINE (PRO) 350.00
SH120090 INPUT, CHRYSLER 18 X 6-SPLINE (PRO, 11.05" OAL) 350.00
SH120092 INPUT, CHRYSLER 18 X 6-SPLINE (PRO, 11.05" OAL) 350.00
SH120093 INPUT, CHRYSLER 18 X 35-SPLINE (PRO, 11.05" OAL) 375.00
SH120094 INPUT, CHRYSLER 18 X 32-SPLINE (PRO, 11.22" OAL) 375.00
SH120095 INPUT, CHRYSLER 10 X 32-SPLINE (PRO, 11.29" OAL) 375.00
SH120100 INPUT, 6" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120110  INPUT, 6" 304 1-3/8" 10 X 6-SPLINE 350.00
SH120115  INPUT, 6-3/8" 203 1-3/8" 10 X 6-SPLINE 350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH120120 INPUT, 6-1/2" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120130 INPUT, 6-1/2" 304 1-3/8" 10 X 6-SPLINE 350.00
SH120140 INPUT, 6-5/8" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120142  INPUT, 203 1-3/8" 10 X 6-SPLINE (9.00" OAL) 350.00
SH120145  INPUT, 6-5/8" 203 1-3/16" 18 X 1-1/2" 35-SPLINE 350.00
SH120149  INPUT, 6-1/2" 203 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120150 INPUT, 6-5/8" 203 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120152  INPUT, 7-1/8" 203 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120153  INPUT, 7-3/8" 203 1-3/8" 10 X 1 1/2" 35-SPLINE 350.00
SH120155 INPUT, 7-5/8" 203 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120157  INPUT, 8-5/8" 203 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120160 INPUT, 6-5/8" 304 1-3/8" 10 X 6-SPLINE 350.00
SH120170 INPUT, 6-5/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120180 INPUT, 7-1/8" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120184 INPUT, 7-5/8" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120185 INPUT, 7-1/8" 203 1-1/2" 10 X 35-SPLINE 350.00
SH120190 INPUT, 7-1/8" 304 10 X 6-SPLINE 350.00
SH120200 INPUT, 7-1/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120210 INPUT, 7-3/8" 304 10 x 6-SPLINE 350.00
SH120220  INPUT, 7-3/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120225 INPUT, 7-5/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120227  INPUT, 8-5/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120230 INPUT, 7-5/8" 304 1-3/8" 10 X 6-SPLINE 350.00
SH120232  INPUT, 7-5/8" 304 1-1/2" 10 X 1-3/8" 6-SPLINE 350.00
SH120235 INPUT, 8-1/8" 203 1-3/8" 10 X 6-SPLINE 350.00
SH120250 INPUT, 7-5/8" 304 1-1/2" 10 X 35-SPLINE (300M) 350.00
SH120255 INPUT, 8-5/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE 350.00
SH120400 INPUT, 7-1/8" 304 1-3/8" 32 X 1-1/2" 35-SPLINE (300M) 350.00
SH120800 INPUT, 1-3/8" 10 X 6-SPLINE (CHEVY BOAT) 250.00
SH120810 INPUT, 1-3/8" 10 X 6-SPLINE (CHRYSLER BOAT) 250.00
SH120820 INPUT, 1-1/2" 35 X 35-SPLINE (CHRYSLER BOAT) 250.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH120830 INPUT, 1-1/2" 35 X 35-SPLINE (CHEVY BOAT) 250.00
SH120840 INPUT, 1-1/2" 35 X 35-SPLINE (CHEVY BOAT CLUTCH) 250.00
SH120845 INPUT, 1-3/8" 10 X 1-1/2" 35-SPLINE (BOAT CLUTCH) 250.00
SH120850 INPUT, 1-1/2" 35 X 35-SPLINE (CHRYSLER BOAT CLUTCH) 250.00
SH120855 INPUT, 1-3/8" 32 X 32-SPLINE (CHRYSLER BOAT) 250.00
SH120860 INPUT, 1-3/8" 6 X 10-SPLINE (BOAT CLUTCH) 250.00
SH120865 INPUT, 1-38" 6 X 32-SPLINE (BOAT CLUTCH) 250.00
SH120875 INPUT, 1-3/4" 40 X 35-SPLINE (BOAT CLUTCH) 250.00
SH120880 INPUT, 1-3/4" 40 X 40-SPLINE (BOAT CLUTCH) 250.00
SH120885 INPUT, 1-3/4" 40 X 1-1/2 35-SPLINE (BOAT CLUTCH) 300.00
SH120950 INPUT, 1-3/8" 6 X 6-SPLINE (GEAR REDUCTION) 350.00
SH121100 INTERMEDIATE, 1-3/8" 6 X 6-SPLINE (GEAR RED. TO 2-SPD.) 250.00
SH121102 INTERMEDIATE, 1-3/8" 6 X 6-SPL (GEAR RED. TO 2-SPD. w/SUPPORT) 250.00
SH121110 INTERMEDIATE, 1-3/8" 6 X 29-SPLINE (GEAR RED. TO 2-SPD.) 250.00
SH121120 INTERMEDIATE, 1-3/8" 32 X 1-1/2" 35-SPLINE (GEAR RED. TO 2-SPD.) 250.00
SH121210 REVERSE INTERMEDIATE, 32-SPLINE (HIGH GEAR) 250.00
SH121300 INTERMEDIATE, 6 X 6-SPLINE (GEAR REDUCTION ADD-ON w/REV.) 250.00
SH121400 INTERMEDIATE, 32 X 32-SPLINE (GEAR RED ADD-ON w/REV 6.5" OAL) 250.00
SH121410 INTERMEDIATE, 32 X 32-SPLINE (GEAR RED ADD-ON w/REV 6.885" OAL) 250.00
SH121420 INTERMEDIATE, 32 X 35-SPLINE (GEAR REDUCTION 5.25" OAL) 250.00
SH121430 INTERMEDIATE, 32 X 35-SPLINE (GEAR REDUCTION 4.85" OAL) 250.00
SH122020 INTERMEDIATE (SB), 6 X 6-SPLINE 279.00
SH122040 INTERMEDIATE (SB), 29 X 6-SPLINE 279.00
SH122050 INTERMEDIATE (SB), 29 X 35-SPLINE 279.00
SH122050M INTERMEDIATE (SB), 29 X 35-SPLINE - MARAGING MATERIAL 379.00
SH122060 INTERMEDIATE (SB), 32 X 35-SPLINE 279.00
SH122060 INTERMEDIATE (SB), 32 X 35-SPLINE - MARAGING MATERIAL 379.00
SH122070 INTERMEDIATE (SB), 19% 32 X 35-SPLINE 279.00
SH122075 INTERMEDIATE (SB), 19% 32 X 35-SPLINE (DUAL SPRAG) 325.00
SH122140 REVERSE INTERMEDIATE (SB), 6 X 6-SPLINE 289.00
SH122150 REVERSE INTERMEDIATE (SB), 29 X 6-SPLINE 289.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH122160 REVERSE INTERMEDIATE (SB), 29 X 32-SPLINE 289.00
SH122160 REVERSE INTERMEDIATE (SB), 29 X 32-SPLINE - MARAGING MATERIAL 389.00
SH122165 REVERSE INTERMEDIATE (SB), 29 X 32-SPLINE (DUAL SPRAG) 319.00
SH122170 REVERSE INTERMEDIATE (SB), 32 X 32-SPLINE 289.00
SH122170M REVERSE INTERMEDIATE (SB), 32 X 32-SPLINE - MARAGING 409.00
SH122180 REVERSE INTERMEDIATE (SB),19% 32 X 32-SPLINE 279.00
SH122185 REVERSE INTERMEDIATE (SB),19% 32 X 32-SPLINE (DUAL SPRAG) 329.00
SH122606 INPUT, 26 X 6-SPLINE CHEVY PRO 350.00
SH125010 OUTPUT, 1-3/8" 16-SPLINE REVERSE 259.00
SH125020 OUTPUT, 1-3/8" 32-SPLINE REVERSE 259.00
SH125025 OUTPUT, 1-3/8" 32-SPLINE REVERSE (DOUBLE-BEARING) 269.00
SH125040 OUTPUT, 16 X 6-SPLINE REVERSE PRO 259.00
SH125045 OUTPUT, 1-3/8" 32-SPLINE REVERSE PRO 269.00
SH125048 OUTPUT, 1-3/8" 32-SPLINE REVERSE PRO (FOR YOKES) 269.00
SH125050 OUTPUT, 1-3/8" 32-SPLINE REVERSE LONG 289.00
SH125055 OUTPUT, 1-3/8" 32-SPLINE REVERSE X-LONG 309.00
SH125060 OUTPUT, 1-3/8" 32-SPLINE REVERSE (SINGLE BEARING) 259.00
SH125061  OUTPUT, 1-3/8" 32-SPLINE REVERSE LONG (SINGLE BEARING) 269.00
SH125062 OUTPUT, 1-3/8" 32-SPLINE REVERSE X-LONG (SINGLE BEARING) 279.00
SH125070 OUTPUT, 1-3/8" 32-SPLINE MEYERS LENGTH 279.00
SH125100 OUTPUT, 1-1/2" 35-SPLINE REVERSE (300M) 279.00
SH125120 OUTPUT, 1-1/2" 35-SPLINE REVERSE 10.5" OAL (300M) 329.00
SH125125 OUTPUT, 1-1/2" 35-SPLINE REVERSE (SINGLE BEARING) 289.00
SH125126  OUTPUT, 1-1/2" 35-SPLINE REVERSE (DOUBLE ROW BEARING)7.082 OAL 289.00
SH125127 OUTPUT, 1-1/2" 35-SPLINE REVERSE (DBL.-ROW BRG) LONG 10.500 OAL 329.00
SH125130 OUTPUT, 1 1/2" 35-SPLINE REVERSE (DBL.-ROW BRG.) 8.350 OAL 289.00
SH126020 OUTPUT, 1-3/8" 32-SPLINE REVERSE 7.825" OAL (DBL BEARING) 259.00
SH126060 OUTPUT, 1-3/8" 32-SPLINE REVERSE PRO-STOCK (DBL BEARING) 259.00
SH126080 OUTPUT, 1-3/8" 32-SPLINE REV MEYER LENGTH (DBL BEARING) 269.00
SH126870 OUTPUT (SB), BOAT 16 X 6-SPLINE (SINGLE BEARING) 279.00
SH126871 OUTPUT (NO SB), BOAT 16 X 6-SPLINE (SINGLE BEARING) 279.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH126873 OUTPUT (SB), BOAT 16 X 6-SPLINE (SINGLE BRG / DBL SPRAG) 289.00
SH126875 OUTPUT (SB), BOAT 29 X 32-SPLINE (SINGLE BEARING) 279.00
SH126880 OUTPUT (SB), BOAT 1-3/8" 32-SPLINE (SINGLE BEARING) 279.00
SH126885 OUTPUT (SB), 1-3/8" 32-SPLINE 19% BOAT (SINGLE BEARING) 289.00
SH126887 OUTPUT (SB), 29 X 16-SPLINE BOAT (SINGLE BEARING) 279.00
SH126890 OUTPUT (SB), 1-3/8" 32-SPLINE BOAT (SINGLE BRG / DBL SPRAG) 289.00
SH126892 OUTPUT (SB), 1-3/8" 32-SPLINE BOAT (DOUBLE SPRAG) 299.00
SH126895 OUTPUT (SB), 29 X 32-SPLINE HD BOAT (SINGLE BRG / DBL SPRAG) 299.00
SH126898 OUTPUT (SB), 1-3/8" 32-SPLINE BOAT (N/G LARGE / DBL SPRAG) 309.00
SH127000 OUTPUT, 6 X 6-SPLINE GEAR REDUCTION 269.00
SH127010 OUTPUT, 6 X 16-SPLINE GEAR REDUCTION 269.00
SH127015 OUTPUT, 16 X 32-SPLINE GEAR REDUCTION 269.00
SH127020 OUTPUT, 32 X 32-SPLINE GEAR REDUCTION 269.00
SH127030 OUTPUT, 6 X 16-SPLINE GEAR REDUCTION 269.00
SH127040 OUTPUT, 32 X 32-SPLINE GEAR REDUCTION 269.00
SH128018 OUTPUT, 16 X 31-SPLINE BOAT CLUTCH 269.00
SH128032 OUTPUT, 32-SPLINE BOAT CLUTCH 269.00
SH128034 OUTPUT, 16 X 35-SPLINE BOAT CLUTCH 269.00
SH128035 OUTPUT, 32 X 35-SPLINE BOAT CLUTCH 269.00
SH128036  OUTPUT, 32 X 35-SPLINE BOAT CLUTCH 269.00
SH128037 OUTPUT, 35 X 35-SPLINE BOAT CLUTCH 269.00
SH128040 OUTPUT, 1-3/4" 40 X 40-SPLINE BOAT CLUTCH 299.00
SH128860 INTERMEDIATE BOAT CLUTCH TO 2-SPD, 31 X 35-SPLINE 259.00
SH128865 INTERMEDIATE BOAT CLUTCH TO 2-SPD, 35 X 35-SPLINE 259.00
SH128867 INTERMEDIATE BOAT CLUTCH SHAFT, 35 X 35-SPLINE (MOD.) 259.00
SH178706  SPACER, INPUT SHAFT 0.060" 304 PILOT 10.00
SH178708 SPACER, INPUT SHAFT 0.080" 304 PILOT 10.00
SH178710 SPACER, INPUT SHAFT 0.100" 304 PILOT 10.00
SH200110  SHAFT SPACER, 1-1/2" 19.00
SH210010  INPUT, 6-1/2" 203 1-3/8" 10 X 32-SPLINE 350.00
SH210020 INPUT, 7-1/8" 203 1-3/8" 10 X 32-SPLINE 350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH220000 INPUT, CHEVY 1-1/8" 10-SPLINE (PRO, LONG) 350.00
SH220010 INPUT, 6-1/2" 203 1-3/8" 10 X 32-SPLINE 350.00
SH220020 INPUT, 7-1/8" 203 1-3/8" 10 X 32-SPLINE 350.00
SH220022  INPUT, 7-3/8" 203 1-3/8" 10 X 32-SPLINE 350.00
SH220023  INPUT, 7-5/8" 304 1-3/8" 10 X 32-SPLINE 350.00
SH220024 INPUT, 7-5/8" 203 1-3/8" 10 X 32-SPLINE 350.00
SH220026  INPUT, 7-3/4" 203 1-3/8" 10 X 32-SPLINE 350.00
SH220030 INPUT, CHEVY PRO 18 X 32-SPLINE (7.235" OAL) 350.00
SH220032  INPUT, CHEVY PRO 18 X 32-SPLINE (7.575" OAL) 350.00
SH220040 INPUT, CHEVY PRO 18 X 32-SPLINE (8.500" OAL) 350.00
SH220042 INPUT, CHEVY PRO 18 X 32-SPLINE (8.750" OAL) 350.00
SH220050 INPUT, CHEVY PRO X-LONG 18 X 32-SPLINE (8.950" OAL) 350.00
SH220080 INPUT, CHRYSLER PRO 18 X 32-SPLINE (10.300" OAL) 350.00
SH220215 INPUT, 7-3/8" 304 1-3/8" 10 X 32-SPLINE 350.00
SH220230 INPUT, 8-1/8" 203 1-3/8" 10 X 32-SPLINE (9.775" OAL) 350.00
SH222055 INTERMEDIATE, SB 32 X 32 SPLINE 275.00
SH222060 INTERMEDIATE, SB 32 X 35-SPLINE 275.00
SH222063 INTERMEDIATE, 22.4% DOUBLE GEAR SET SB 32 X 35-SPLINE 275.00
SH222065 INTERMEDIATE, SB 27 X 32-SPLINE 275.00
SH222065M INTERMEDIATE, SB 27 X 32-SPLINE - MARAGING MATERIAL 375.00
SH222067 INTERMEDIATE, SB 27 X 35-SPLINE 275.00
SH222067M INTERMEDIATE, SB 27 X 35-SPLINE - MARAGING MATERIAL 375.00
SH222170 INTERMEDIATE, REVERSE SB 32 X 32-SPLINE 279.00
SH222173  INTERMEDIATE, 22.4% REVERSE SB 32 X 32-SPLINE 279.00
SH222175 INTERMEDIATE, REVERSE SB 27 X 32-SPLINE 279.00
SH222175M INTERMEDIATE, REVERSE SB 27 X 32-SPLINE - MARAGING MATERIAL 400.00
SH222215 INTERMEDIATE, LOW DRAG REVERSE SB 27 X 32-SPLINE 279.00
SH226868 OUTPUT, 32 X 32 SPLINE (2 & 3 SPEED ONLY) 329.00
SH226870 OUTPUT, BOAT 27 X 32-SPLINE DOUBLE SPRAG (10.812" OAL) 279.00
SH226871 OUTPUT, BOAT 27 X 32-SPLINE DOUBLE SPRAG (10.412" OAL) 279.00
SH226872 OUTPUT, BOAT 27 X 32-SPLINE SINGLE SPRAG (10.812" OAL) 279.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH227010 OUTPUT, LOW DRAG REVERSE 32 X 32-SPLINE 259.00
SH227011  OUTPUT, LOW DRAG REVERSE 32 X 32-SPLINE (FOR YOKES) 259.00
SH227015 OUTPUT, LOW DRAG REVERSE 16 X 32-SPLINE 259.00
SH230410 INPUT, 7-5/8" 304 32 X 35-SPLINE 350.00
SH300040 SEAL COLLAR, 40-SPLINE 20.00
SH337040 INTERMEDIATE, REVERSE 40-SPLINE (MA) E 300M 300.00
SH337200 OUTPUT, REVERSE 1-3/4" 40-SPLINE (DOUBLE BEARING) (300M) 375.00
SH337210 OUTPUT, LONG REVERSE 1-3/4" 40-SPLINE (DOUBLE BEARING) (300M) 395.00
SH337220 OUTPUT, REVERSE 1-3/4" 40-SPLINE (SINGLE BEARING) (300M) 375.00
SH620100 INPUT, C-6 LENCODRIVE (300-M / 31 X 32-SPLINE) 275.00
SH630100 INPUT, C-6 LENCODRIVE (MA /31 X 32-SPLINE) 420.00
SH630105  INPUT, TURBO-400 LENCODRIVE (MA /30 X 32-SPLINE) 420.00
SH630110  INPUT, MEGA LENCODRIVE (MA /29 X 35-SPLINE - SPRAGLESS) 420.00
SH630111  INPUT, T-400 LENCODRIVE (MA / 30 X 35-SPLINE - SPRAGLESS) 420.00
SH630112  INPUT, C-6 LENCODRIVE (MA /31 X 35-SPLINE - SPRAGLESS) 420.00
SH720124 INPUT, 1-3/8" 10 X 32-SPLINE 8.225" OAL (ST1200) 350.00
SH720130 INPUT, 26 X 32-SPLINE 8.225" OAL (ST1200) 350.00
SH722065 INTERMEDIATE, 30 X 32-SPLINE (ST1200) 250.00
SH722170 INTERMEDIATE, REVERSE 27 X 32-SPLINE (ST1200) 250.00
SH722175 INTERMEDIATE, REVERSE SB 30 X 32-SPLINE (ST1200) 250.00
SH740065 INTERMEDIATE, SB 27 X 32-SPLINE (ST1200) 250.00
SH743216  OUTPUT, 16 X 32-SPLINE (ST1200) 250.00
SH743232 OUTPUT, 32 X 32-SPLINE (ST1200) 250.00
SH9-CUSTOM ALL INPUT SHAFTS STARTING WITH SH9 450.00
SH937510 SHAFT, LINE UP 1-3/8" 10-SPLINE 304 (ALUMINUM) 99.00
SH937511  SHAFT, LINE UP 1-3/8" 10-SPLINE 304 (STEEL) 109.00
SH937512  SHAFT, LINE UP 1-3/8" 10-SPLINE 203 (ALUMINUM) 99.00
SHO937513  SHAFT, LINE UP 1-3/8" 10-SPLINE 203 (STEEL) 109.00
SH950010 SHAFT, LINE UP 1-1/2" 10-SPLINE (ALUMINUM) 109.00
SH950012  SHAFT, LINE UP 1-1/2" 10-SPLINE (STEEL) 109.00
SH975010 SHAFT, LINE UP 1-3/4" 10-SPLINE (ALUMINUM) 119.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SHAFTS (SH) RACER
SH975012  SHAFT, LINE UP 1-3/4" 10-SPLINE (STEEL) 119.00
SH975013  SHAFT, LINE UP 1-3/4" 40-SPLINE (STEEL) 119.00
SH987518 SHAFT, LINE UP 1-3/16" 18-SPLINE (ALUMINUM) 109.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SEALS (SL) RACER
SL100000 PLUG, FRONT SEAL 23.00
SL100040 FRONT SEAL, BOAT CLUTCH 24.00
SL100050 REAR SEAL, REVERSE 22.00
SL100055 REAR SEAL, REVERSE 35 SPLINE 22.00
SL100060 FRONT SEAL 22.00
SL100070 PINION SEAL, 35-SPLINE 22.00
SL300040 FRONT SEAL, 40-SPLINE (w/ADAPTER) 22.00
SL300060 FRONT SEAL, 35-SPLINE (CANNON) 22.00
SL400040 FRONT SEAL, 40-SPLINE (CANNON) 22.00
SL600105 SEAL 14.00
SL601200 SEAL, C-6 FRONT PUMP 22.00
SL601300 SEAL, TURBO-400 FRONT PUMP 22.00
SL700000 SEAL, CASE GASKET, (ST1200) 18.00
SL700100 SEAL, SHIFT PLUNGER (ST1200) 11.00
SL700200 SEAL, CROSS SHAFT (ST1200) 9.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SPRINGS (SN) RACER
SN100100 SPRING, THROW-OUT BEARING 14.00
SN140160 SPRING, AIR SERVO 7.00
SN140285 SPRING, AIR VALVE DETENT 4.00
SN140300 SPRING, HEX REVERSE LOCKOUT (MCM36079GS) 4.00
SN300100 SPRING, AIR SERVO LOCKING ACTUATOR LID PLUNGER 4.00
SN601401 SPRING, MAIN VALVE PRESSURE CONTROL 9.00
SN601402 SPRING, CONVERTER PRESSURE CONTROL 6.00
SN601403 SPRING, TRANS-BRAKE VALVE RETURN 6.00
SN601404 SPRING, TRANS-BRAKE PISTON RETURN WAVE 12.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SPRAG (SP) RACER
SP152011 SPRAG COVER, BILLET (LIGHT WEIGHT) 139.00
SP153020 INNER SPRAG RACE, LARGE (E52100) 115.00
SP154000 SPRAG, STANDARD 130.00
SP154010 SPRAG, N-50 (STRIPS & CLIPS) 225.00
SP154020 SPRAG, LARGE FORMSPRAG 500.00
SP155000 SPRAG WASHER, LARGE 23.00
SP155015 SPRAG WASHER, LARGE CUP 30.00
SP155020 SPRAG WASHER, LARGE FORMSPRAG 26.00
SP156002 OUTER SPRAG RACE, LARGE (E52100) 160.00
SP156100 OUTER SPRAG RACE, LARGE 160.00
SP157100 SUN GEAR DISK 115.00
SP157200 SUN GEAR PLATE 100.00
SP157300 RETAINER, INTERMEDIATE SHAFT 80.00
SP157350 RETAINER, SEAL, 35 SPLINE 45.00
SP158000 SPRAG ASSEMBLY, LARGE STANDARD 469.00
SP158010 SPRAG ASSEMBLY, LARGE N-50 (STRIPS & CLIPS) 549.00
SP158020 SPRAG ASSEMBLY, LARGE (FORM SPRAG) 795.00
SP252020 SPRAG COVER, 20 DEGREE 195.00
SP252120 SPRAG COVER, 20 DEGREE (STEEL) 229.00
SP253500 SPRAG SUPPORT WASHER, INTERMEDIATE 17.00
SP253510 SPRAG SUPPORT WASHER, REVERSE 17.00
SP257100 SUN GEAR DISC CS2 GEAR REDUCTION 115.00
SP452000 SPRAG COVER, DOUBLE 20 DEGREE 219.00
SP453012 INNER SPRAG RACE, LARGE DOUBLE (E52100) 145.00
SP456001 OUTER SPRAG RACE, LARGE DOUBLE (E52100) 245.00
SP458000 SPRAG ASSEMBLY, DOUBLE LARGE 699.00
SP458010 SPRAG ASSEMBLY, DOUBLE STRIPS AND CLIPS 899.00
SP458020 SPRAG ASSEMBLY, DOUBLE FORMSPRAG 1,459.00
SP500100 SPRAG MODULE REPLACEMENT,CS1 1,200.00
SP500200 SPRAG MODULE REPLACEMENT,CS2 1,200.00
SP510000 COVER,CS2/CS3 SMR 350.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SPRAG (SP) RACER
SP510010 COVER,CS1 SMR 350.00
SP510030 SPRING,SMR 30.00
SP510100 RING, OUTER SPACER 60.00
SP520200 DOG, FACEPLATE 475.00
SP520250 DOG,INNER 275.00
SP610700 DOG ELEMENT, SMR FRONT 275.00
SP610710 DOG ELEMENT, SMR REAR 294.00
SP610720 PISTON HOUSING, CS-2 SMR 350.00
SP610722  PISTON HOUSING, CS-1 SMR 350.00
SP610740B PISTON, SMR 119.00
SP653000 INNER RACE, SAFETY SPRAG (LENCODRIVE) 139.00
SP656000 OUTER RACE, SAFETY SPRAG (LENCODRIVE) 329.00
SP660000 HUB, SAFETY SPRAG ELIMINATOR (8620 / ALL SPRAGLES SHAFTS) 189.00
SP752020 SPRAG COVER, RAMP STYLE (ST-1200) 159.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - SNAP RINGS (SR) RACER
SR100300 SNAP RING, SUN GEAR 4.00
SR100301 SNAP RING, SUN GEAR (SMALL) 4.00
SR100400 SNAP RING, THIN CLUTCH HOUSING 9.00
SR100500 SNAP RING, THICK CLUTCH HOUSING 14.00
SR100600 SNAP RING, PRESSURE PLATE / NG CASE BEARING 6.00
SR100800 SNAP RING, THICK 1-1/2" SHAFT 5.00
SR100900 SNAP RING, THIN 1-1/2" SHAFT 4.00
SR101000 SNAP RING, THIN 1-3/8" SHAFT 4.00
SR101100 SNAP RING, THICK 1-3/8" SHAFT 4.00
SR101200 SNAP RING, SINGLE ROW SEALED REAR LID BEARING (7063) 6.00
SR101300 SNAP RING, REVERSE FRONT / REAR LID BEARING (7064) 5.00
SR140310 SNAP RING, AIR SERVO LID (SMALL) 4.00
SR230020 SNAP RING, LD REVERSE SLIDER 5.00
SR240310 SNAP RING, AIR SERVO LID (LARGE) 6.00
SR300040 SNAP RING, 40-SPLINE SHAFT 6.00
SR300100 SNAP RING, AIR SERVO LOCKING LID PLUNGER 4.00
SR500400 SNAP RING, LARGE CLUTCH HOUSING 13.00
SR601400 SNAP RING, 1-3/8 SPIRAL LOCK INPUT SHAFT RETAINING 4.00
SR601405 SNAP RING, TRANS-BRAKE PISTON RETURN WAVE WASHER 6.00
SR601500 SNAP RING, 1-1/2 SPIRAL LOCK INPUT SHAFT RETAINING 4.00
SR700100 SNAP RING, LD REVERSE PLANETARY 4.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - STATOR SUPPORT, LENCODRIVE (SS) RACER
SS600100 STATOR SUPPORT, C-6 (LENCODRIVE) 479.00
SS600300 STATOR SUPPORT, NEW GM POWERGLIDE (LENCODRIVE) 479.00
SS600400 STATOR SUPPORT, MEGA-SHAFT (LENCODRIVE) 479.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - THROW-OUT BEARING (TB) RACER
TB120003 BEARING RETAINER, HG ONLY BELLHOUSING 49.00
TB120015 CANDLE-STICK, HIGH GEAR (BILLET) 130.00
TB120016 CANDLE-STICK, HIGH GEAR BILLET w/TWO CPB (OPPOSING) 140.00
TB120017 CANDLE-STICK, HIGH GEAR BILLET w/TWO CPB (SIDE-BY-SIDE) 140.00
TB120121 CANDLE-STICK, CHEVROLET SHORT (BILLET) 120.00
TB120123 CANDLE-STICK, CHEVROLET LONG (BILLET) 130.00
TB120131 CANDLE-STICK, FORD SHORT (BILLET 4.85" DIA.) 120.00
TB120132 CANDLE-STICK, FORD SHORT (BILLET 4.68" DIA.) 120.00
TB120133 CANDLE-STICK, FORD LONG (BILLET 4.68" DIA.) 130.00
TB120134 CANDLE-STICK, FORD LONG (BILLET 4.85" DIA.) 130.00
TB120140 CANDLE-STICK, CHRYSLER (BILLET) 120.00
TB130011 THROW-OUT BEARING COLLAR, SHORT (1.637" OAL) 49.00
TB130012 THROW-OUT BEARING COLLAR, MEDIUM (2.074" OAL) 50.00
TB130013 THROW-OUT BEARING COLLAR, LONG (2.262" OAL) 51.00
TB130014 THROW-OUT BEARING COLLAR, X-LONG (2.887" OAL) 52.00
TB130015 THROW-OUT BEARING COLLAR, XX-LONG (3.500" OAL) 54.00
TB131011 THROW-OUT BEARING COLLAR ASSEMBLY, SHORT 119.00
TB131012 THROW-OUT BEARING COLLAR ASSEMBLY, MEDIUM 119.00
TB131013 THROW-OUT BEARING COLLAR ASSEMBLY, LONG 124.00
TB131014 THROW-OUT BEARING COLLAR ASSEMBLY, X-LONG 126.00
TB131015 THROW-OUT BEARING COLLAR ASSEMBLY, XX-LONG 128.00
TB720000 CANDLE-STICK, CHEVROLET SHORT (BILLET) ST1200 120.00
TB720131 CANDLE-STICK, FORD (4.85" DIA.) (ST-1200) 120.00
TB720132 CANDLE-STICK, FORD (4.68" DIA.) (ST-1200) 120.00
TB720135 CANDLE-STICK, FORD (SMALL I.D.) (ST-1200) 120.00
TB720140 CANDLE-STICK, CHRYSLER (ST-71200) 120.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - VALVE BODY, LENCODRIVE (VB) RACER
VB600100 VALVE BODY (LENCODRIVE) 379.00
VB600150 VALVE BODY ASSEMBLY WITH SHUTTLE ONLY 479.00
VB600160 VALVE BODY ASSEMBLY COMPLETE WITH SOLENOID ASSEMBLY 599.00
VB600200 PLUG, MAIN VALVE RETAINING (-1) (LENCODRIVE) 13.00
VB600210 PLUG, CONVERTER VALVE RETAINING (-2) (LENCODRIVE) 12.00
VB600220 PLUG, TRANS-BRAKE VALVE RETAINING (-3) (LENCODRIVE) 12.00
VB600230 PLUG, MAIN VALVE END (-4) (LENCODRIVE) 12.00
VB601100 SPOOL VALVE, MAIN CONTROL (LENCODRIVE) 79.00
VB601200 SPOOL VALVE, TRANS-BRAKE CONTROL (LENCODRIVE) 59.00
VB601300 SPOOL VALVE, CONVERTER CONTROL (LENCODRIVE) 59.00
VB602110 END STOP, SOLENOID SHUTTLE (LENCODRIVE) N/A
VB602120 CAP, SOLENOID SHUTTLE (LENCODRIVE) N/A
VB602130 SLEEVE (TUBE), SOLENOID SHUTTLE (LENCODRIVE) N/A
VB602140 PLUNGER (PISTON), SOLENOID SHUTTLE (LENCODRIVE) N/A
VB602150 PIN, SOLENOID SHUTTLE ACTUATOR (LENCODRIVE) N/A
VB602160 NUT, SOLENOID (LENCODRIVE) 25.00
VB602170 SOLENOID, TRANS-BRAKE (ONLY) 100.00
VB602180 SHUTTLE (ONLY) 100.00
VB602185 SOLENOID AND SHUTTLE ASSEMBLY WITH NUT 225.00
VB602190 SCREEN,VALVE BODY 25.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART# DESCRIPTION - WASHERS (WA) RACER
WA100100 WASHER, FLANGED FRONT CASE MOUNTING HOLE 4.00
WA100800 WASHER, 1/4" AN (SS) 1.00
WA100810 WASHER, 5/16" AN (SS) 1.00
WA100820 WASHER, 3/8" AN (SS) 1.00
WA100830 WASHER, 7/16" AN (SS) 1.00
WA100850 WASHER, 1/2" AN (AIR SERVO) 1.00
WA101000 WASHER, 5/16" (LOCK SHIFT VALVE) 1.00
WA101010 WASHER, 3/8" (LOCK) 1.00
WA101020 WASHER, 3/8" NYLON (HEX SHIFTER) 1.00
WAG00100 WASHER, RETAINER (LENCODRIVE / DRAGSTERS ONLY) 12.00
WAG01010 WASHER, NYLON INULATOR (LENCODRIVE) 1.00
WAG01015 WASHER, #10 STAR (LENCODRIVE) 1.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
AS102050 SCALE, BRASS 0 TO 50#

AS130050 C02 RELAY KIT 90.00
AS130230 AIR SHIFTER VALVE KNOB 15.00
AS140090 AIR SERVO BODY (DISCONTINUED) 75.00
AS140095 AIR SERVO BODY, TALL (DISCONTINUED) 85.00
AS140100 AIR SERVO PISTON (DISCONTINUED) 44.50
AS140143 AIR SERVO SUPPORT CS1 CLUTCH

AS140175 AIR REGULATOR TUBE & NUT 29.00
AS140180 AIR REGULATOR PLUNGER 34.00
AS140200 CO2 BOTTLE TOPS

AS140202 AIR BOTTLE BURST CAP, LARGE 16.30
AS140204 AIR BOTTLE BURST PANEL, SMALL 8.00
AS140212 CO2 VALVE BODY 10 OZ. 59.00
AS140222 CO2 VALVE BODY, 2.5Ib. 59.00
AS140400 REGULATOR GAUGE H/P, 1/4" PIPE 24.00
AS140410 REGULATOR GAUGE L/P, 1/4" PIPE 24.00
AS140420 REGULATOR GAUGE L/P, 1/8" PIPE 24.00
AS140430 REGULATOR GAUGE H/P, 1/8" PIPE 24.00
AS240090 AIR SERVO BODY, LARGE

AS240117 AIR SERVO COVER, w/BOSS & 1/4" PIPE 45.00
AS400002 AIR REGULATOR MANIFOLD, 2-PORT 50.00
AS400003 AIR REGULATOR MANIFOLD, 3-PORT 70.00
AX100040 PLUG, 40 AXLE 15.00
BE600720 BELLHOUSING, 7.200" TURBO-400 (LENCODRIVE)

BE600738 BELLHOUSING, 7.375" LONG (LENCODRIVE)

BG100110 RACE, 35-SPLINE SPOOL BEARING

BG100120 BEARING, 35-SPLINE SPOOL

BG100540 BEARING, 31-SPLINE SPOOL

BG100545 RACE, 31-SPLINE SPOOL BEARING

BG100550 BEARING AND RACE ASSEMBLY, 31-SPLINE

BG150080 BEARING, PINION SUPPORT (6-SPLINE)

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
BG150082 BEARING, FRONT PINION SUPPORT (STOCK)

BG150085 RACE, FRONT PINION SUPPORT

BG150149 RACE, LARGE REAR PINION SUPPORT 45.00
BG150150 RACE, SMALL REAR PINION SUPPORT 45.00
BG150159 BEARING, LARGE REAR PINION SUPPORT 75.00
BG150160 BEARING, SMALL REAR PINION SUPPORT 75.00
BG150161 TAIL BEARING RETAINER

BG150165 PINION TAIL BEARING

BG150282 BEARING, 35-SPLINE FRONT PINION 45.00
BG160310 BEARING, FUEL PUMP OVERDRIVE SPUR GEAR 30.00
BG160360 BEARING, FUEL PUMP OVERDRIVE RING GEAR 60.00
BG160500 BEARING, HIGH GEAR SHAFT BELLHOUSING 75.00
BG191210 BEARING, FLOATER HUB 70.00
BL100015 FHCS, 1/4-20 X 3/8" (LENCO LOCKER HOUSING) 1.00
BL100240 HEX HEAD BOLT, 3/8-24 X 3/4" (CALIPER BRACKET) 1.00
BL100250 HEX HEAD BOLT, 3/8-24 X 1" (CALIPER BRACKET) 1.00
BL100428 SHCS, 5/16-24 X 7/8" (BRAKE ROTOR TO HUB) 1.00
BL601111 OBSOLETE PLUG, 1/4" CUP STEEL EXPANSION (LENCODRIVE) 1.00
BR170272 WASHER, 1/2" PLANETARY (68% GS / LD-32 & 40-SPL REV) 6.00
BR170274 WASHER, 1/2" PLANETARY 6.00
BR170276 WASHER, 5/8" PLANETARY 6.00
BR170278 WASHER, 3/4" PLANETARY 6.00
BR170279 WASHER, 3/4" PLANETARY THICK 6.00
BR170280 WASHER, 20MM PLANETARY 6.00
BR191220 RACE, FLOATER HUB 90.00
BT180030 SAFE DRIVE, DRIVE HUB P.O.R.
BT180060 SPRAG RACE, SAFE DRIVE INNER P.O.R.
BT180206 BOAT CLUTCH DRIVE FLANGE, 1-3/8" 6-SPLINE 222.00
CB100020 CRANK BUTTON, CHEVY 1-3/8" 16-SPLINE (6-HOLE) 179.00
CB100050 CRANK BUTTON, CHRYSLER 10-SPLINE (EVEN PATTERN) 189.00
CL136008 CLUTCH HOUSING, STEEL (8-LUG) OBSOLETE 115.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
CL136256 CLUTCH HOUSING, STEEL 68% (MULTI 56-TOOTH) 115.00
CL137007 CLUTCH HUB, 7-PACK (EARLY STYLE) 90.00
CL140115 FLOATER, STEEL BEAD BLASTED THIN (.060") 12.00
CL141005 DISC, BLUE (SMALL, MACHINED O.D. for RUBBERIZED FLOATERS) 17.00
CL141090 DISC, RED (OBSOLETE) 9.00
CL142001 PRESSURE PLATE, 10 PACK (.450") 89.00
CL146000 ROLLER PLATE ASSEMBLY SET 210.00
CL146001 ROLLER PLATE, MALE w/PINS 45.00
CL146002 ROLLER PLATE, FEMALE 39.00
CL146011 ROLLER PLATE, MALE ASSEMBLY 129.00
CL146012 ROLLER PLATE, FEMALE ASSEMBLY 129.00
CL171316 6" QUICK RELEASE TUBE 135.00
CL240140 FLOATER, RUBBER BOND (40-DUROMETER) 29.00
CL240150 FLOATER, RUBBER BOND (50-DUROMETER) 29.00
CL240170 FLOATER, RUBBER BOND (70-DUROMETER) 29.00
CL436556 CLUTCH HOUSING, 5-PACK ALUM 10%-GEAR SET (CS2 BOLT-ON) 175.00
CL536868 CLUTCH HOUSING, 8-PACK LARGE (CS2) 149.00
CL537008 CLUTCH HUB, 8-PACK LARGE (CS2) 144.00
CL541000 DISC, LARGE BLUE (CS2) 24.00
CL541085 DISC, LARGE SPECIAL GREEN KEVLAR (CS2 / SK WELLMAN) 16.00
CL542800 PRESSURE PLATE, 8-PACK LARGE (CS2) 95.00
CL600100 CLUTCH PLATE, GOLD (TRANS-BRAKE) 14.00
CL700970 PRESSURE PLATE SPRING, .030"-THICK (ST-1200) 14.00
CL741000 CLUTCH DISC, RED (ST1200) 8.00
CP100100 COUPLER, 8-3/4" CHRYSLER MALE PINION (1-3/16" 10-SPLINE) 119.00
CP100140 COUPLER, 1-1/4" 10-SPLINE MALE (HALIBRAND REAR END) 119.00
CP100225 COUPLER, 1-3/8" 13-SPLINE MALE (LATE OLDS PINION 2.460" OAL) 119.00
CP100355 DRIVE SHAFT CLAMP, 1-3/8" 16/32-SPLINE w/MAGNET HOLES (2-PC) 49.00
CP100375 COUPLER SLEEVE, 1-1/4" 10-SPLINE 60.00
CP100378 COUPLER SLEEVE, 1-3/8" 10-SPLINE 60.00
CP100500 COUPLER, 1-1/4" 10-SPLINE MALE 109.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
CP101140 COUPLER, DUAL ENGINE (CHRYSLER) 670.00
CP101145 COUPLER, DUAL ENGINE, FLYWHEEL HALF (CHRYSLER) 253.00
CP101150 COUPLER, DUAL ENGINE (CHEVY) 670.00
CP101155 COUPLER, DUAL ENGINE, FLYWHEEL HALF (CHEVY) 253.00
CP101160 COUPLER SLEEVE, DUAL ENGINE 217.00
CP101170 COUPLER, DUAL ENGINE CRANK HUB 242.00
CP101180 COUPLER, ENGINE REAR/FRONT (FORD 2) 567.00
CP101535 COUPLER, 1-1/2" 35-SPLINE STAR (1.50" OAL) 88.00
CP130070 COUPLER, 1-3/8" 6-SPLINE FEMALE PINION 95.00
CP130080 COUPLER, 1-3/8" 13-SPLINE FEMALE PINION (LATE OLDS) 89.00
CP130090 COUPLER, 1-3/16" 10-SPLINE FEMALE PINION (EARLY OLDS) 89.00
CP130100 COUPLER, 1-3/16" 10-SPLINE FEMALE PINION (8-3/4" CHRYSLER) 119.00
CP130110 COUPLER, 1-3/8" 29-SPLINE FEMALE PINION (DANA) 119.00
CP130500 COUPLER, 1-1/4" 10-SPLINE FEMALE (CUSTOM LENGTH) P.O.R
CP140100 U-JOINT, SERIES 1350 P.O.R
CP140127 YOKE, 1-3/16" 27-SPLINE BILLET POWERGLIDE 279.00
CP190048 COUPLER, 1-1/8" 48-SPLINE BLOWER SNOUT DRIVE 35.00
CP300050 COUPLER, 35 TO 40-SPLINE FRONT DRIVE 145.00
CP300055 COUPLER, 40 TO 35-SPLINE FRONT DRIVE 145.00
CP300140 COUPLER, 40-SPLINE FRONT DRIVE (SMALL BEARING) 145.00
CP340040 CLAMP, 1-3/4" 40-SPLINE COMPUTER 39.00
CS100019 CASE, 2-SPEED ONLY (CS1-N) 859.00
CS100119 CASE, 2-SPEED ONLY (CS1-N / DUAL SPRAG) 859.00
CS101019 CASE, CS1-N CENTER IN FRONT 859.00
CS101119 CASE, CS1-N CENTER (DUEL SPRAG) 759.00
CS103012 CASE, 3-SPEED 12-BOLT REAR (NO SIDE HOLES) 590.00
CS103119 CASE, CS1-N REAR (DUAL SPRAG) 759.00
CS111008 CASE, REVERSE ONLY (FLANGE STYLE) P.O.R
CS111009 CASE, REVERSE ONLY (EARLY STYLE) P.O.R
CS111019 CASE, CS1-N REVERSE 579.00
CS111020 CASE, CS1-N REVERSE BILLET BLACK ANODIZED 579.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
CS111119 CASE, CS1-N REVERSE (DUAL SPRAG) 579.00
CS111120 CASE, CS1-N REVERSE (DUAL SPRAG) BILLET BLACK ANODIZED 579.00
CS166005 ENDPLATE, 2-SPEED 12-BOLT .360" C'BORE (MAG) 175.00
CS166019 ENDPLATE, 2-SPEED CS1-N (MAG) 175.00
CS170000 HIGH GEAR ONLY ADAPTER, 35-SPLINE (MAG) 499.00
CS170010 HIGH GEAR ONLY ADAPTER, 35-SPLINE (ALUM) 255.00
CS171314 REVERSE LID, 8-HOLE (MAG) 125.00
CS212500 ADAPTOR PLATE, LARGE NG CASE (3/4" DOUBLE) 269.00
CS300000 CASE, SMALL NG FRONT 759.00
CS301000 CASE, SMALL NG REAR (DISC) 759.00
CS311035 CASE, 35-SPLINE CANNON STYLE HG REVERSE 559.00
CS311040 CASE, 40-SPLINE CANNON STYLE HG REVERSE 559.00
CS411040 CASE, 40-SPLINE CANNON (HIGH GEAR ONLY) 559.00
CS466010 ENDPLATE, BOAT 10% 169.00
CS466019 ENDPLATE, 2-SPEED 19% (DOUBLE SPRAG) 169.00
CS466020 ENDPLATE, 2-SPEED CS2 (DOUBLE SPRAG) 169.00
CS470000 HIGH GEAR ONLY ADAPTER, 40-SPLINE (MAG) 499.00
CS480010 CASE, BOAT (10%) 750.00
CS600100 CASE, LENCODRIVE (ALUMINUM) 1,270.00
CS600250 OIL PAN, LENCODRIVE (MAG) 325.00
CS600300 BELLHOUSING, LENCODRIVE SHORT (6.700") 540.00
CS600310 BELLHOUSING, LENCODRIVE LONG (7.375") 540.00
CS771314 REVERSE LID, ST1200 8-HOLE (ALUM) 129.00
CS980000 ADAPTER, BOAT OVERDRIVE P.O.R
DRIVESHAFT SPECIAL LENGTHS...ADD 50.00
DRIVESHAFT RIFLE DRILLING (EXCEPT 16 SPLINE)...ADD 180.00
DRIVESHAFT EXPEDITION CHARGE...ADD 100.00
DRIVESHAFT LENGTHS OVER 36" (16/32 SP. 300M)...ADD (PER INCH) 30.00
DRIVESHAFT LENGTHS OVER 36" (32 SP. MARAGE)...ADD (PER INCH) 50.00
DRIVESHAFT LENGTHS OVER 36" (35 SP. 300M)...ADD (PER INCH) 40.00
DRIVESHAFT LENGTHS OVER 36" (35 SP. MARAGE)...ADD (PER INCH) 50.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
DRIVESHAFT LENGTHS OVER 36" (40 SP. MARAGE)...ADD (PER INCH) 60.00
DS104210 DRIVE SHAFT, 10-SPLINE 4" ALL-SPLINE (300-M) 175.00
DS130340 DRIVE SHAFT, 40-SPLINE 30" (MA-300) 1,100.00
FP160010 HOUSING, FUEL PUMP O.D. (BLACK 6% ONLY) 157.00
FP160020 HOUSING, FUEL PUMP O.D. (BLUE 10/14/18/22%) 157.00
FP160030 HOUSING, FUEL PUMP O.D. (ORANGEBURG) 157.00
FP160060 SPUR GEAR, FUEL PUMP O.D. (6% 3/8"-HEX) 57.00
FP160065 SPUR GEAR, FUEL PUMP O.D. (6% 7/16"-HEX) 57.00
FP160100 SPUR GEAR, FUEL PUMP O.D. (10% 3/8"-HEX) 57.00
FP160105 SPUR GEAR, FUEL PUMP O.D. (10% 7/16"-HEX) 57.00
FP160120 SPUR GEAR, FUEL PUMP O.D. (10% FOR 6% HOUSING) 57.00
FP160140 SPUR GEAR, FUEL PUMP O.D. (14% 3/8"-HEX) 57.00
FP160145 SPUR GEAR, FUEL PUMP O.D. (14% 7/16"-HEX) 57.00
FP160180 SPUR GEAR, FUEL PUMP O.D. (18% 3/8"-HEX) 57.00
FP160185 SPUR GEAR, FUEL PUMP O.D. (18% 7/16"-HEX) 57.00
FP160220 SPUR GEAR, FUEL PUMP O.D. (22% 3/8"-HEX) 57.00
FP160225 SPUR GEAR, FUEL PUMP O.D. (22% 7/16"-HEX) 57.00
FP160320 WASHER, FUEL PUMP O.D. 14.00
FP160330 RING GEAR, FUEL PUMP O.D. (3/8"-HEX) 84.00
FP160335 RING GEAR, FUEL PUMP O.D. (7/16"-HEX) 84.00
FP160370 SHAFT, FUEL PUMP O.D. (3/8"-HEX) 12.00
FP161060 ASSEMBLY, FUEL PUMP O.D. (6% 3/8"-HEX) 330.00
FP161065 ASSEMBLY, FUEL PUMP O.D. (6% 7/16"-HEX) 330.00
FP161100 ASSEMBLY, FUEL PUMP O.D. (10% 3/8"-HEX) 330.00
FP161105 ASSEMBLY, FUEL PUMP O.D. (10% 7/16"-HEX) 330.00
FP161140 ASSEMBLY, FUEL PUMP O.D. (14% 3/8"-HEX) 330.00
FP161145 ASSEMBLY, FUEL PUMP O.D. (14% 7/16"-HEX) 330.00
FP161180 ASSEMBLY, FUEL PUMP O.D. (18% 3/8"-HEX) 330.00
FP161185 ASSEMBLY, FUEL PUMP O.D. (18% 7/16"-HEX) 330.00
FP161220 ASSEMBLY, FUEL PUMP O.D. (22% 3/8"-HEX) 330.00
FP161225 ASSEMBLY, FUEL PUMP O.D. (22% 7/16"-HEX) 330.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
FP860330 RING GEAR, FUEL PUMP O.D. (ORANGEBURG CYCLE) P.O.R
FS191020 BRAKE ROTOR 95.00
FS191025 BRAKE ROTOR, LIGHT WEIGHT 115.00
FS191027 BRAKE ROTOR, LIGHT WEIGHT (FULL CIRCLE ID) 147.00
FS191060 NUT, FLOATER SPINDLE (LEFT HAND) 35.00
FS191062 NUT, FLOATER SPINDLE (RIGHT HAND) 35.00
FS191080 FLOATER SPINDLE, SMALL BORE (R/H THREAD) 252.00
FS191081 FLOATER SPINDLE, SMALL BORE (L/H THREAD) 252.00
FS191082 FLOATER SPINDLE, LARGE BORE (R/H THREAD) 252.00
FS191083 FLOATER SPINDLE, LARGE BORE (L/H THREAD) 252.00
FS191091 FLOATER DRIVE PLATE, 35-SPLINE 131.00
FS191092 FLOATER DRIVE PLATE, 35-SPLINE (.3 FLANGE) 131.00
FS191095 FLOATER DRIVE PLATE, 40-SPLINE 131.00
FS191096 FLOATER DRIVE PLATE, 40-SPLINE (.3 FLANGE) 131.00
FS191110 FLOATER WASHER, 11/16" 3.50
FS191120 FLOATER NUT 10.00
FS191125 FLOATER NUT (7075 ALUMINUM) 12.00
FS191150 AXLE RETAINER 8.00
FS191155 AXLE RETAINER, 40-SPLINE 9.50
FS191190 FLOATER BOLT, STANDARD 33.00
FS191192 FLOATER BOLT, LONG 37.00
FS191195 FLOATER BOLT, TITANIUM P.O.R
FS191200 FLOATER HUB MAG 275.00
FS191210 FLOATER HUB, CARBON FIBER ROTOR MAG 295.00
FS191215 RETAINER RING, CARBON FIBER ROTOR 50.00
FS191220 FLOATER HUB, BILLET ALUMINUM 275.00
FS191300 BRACKET, CALIPER 78.00
FS191350 BRACKET, CALIPER (WILWOOD TYPE) MEYER 78.00
FS191430 PADS, BRAKE CALIPER P.O.R
FS900100 SPACER,FLOATER HUB RACE 24.00
GS175006 1" GEAR SET, 75% 6-SPLINE (DOUBLE) 1,880.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
GS195006 1" GEAR SET, 95% 6-SPLINE (DOUBLE) 1,880.00
GS195032 1" GEAR SET, 95% 32 X 35-SPLINE (DOUBLE) 1,880.00
GS234127 1/2" GEAR SET, 34% 27 X 32-SPLINE (OBSOLETE - USE: GS634127) 1,375.00
GS234132 1/2" GEAR SET, 34% 32 X 35-SPLINE (OBSOLETE) 1,375.00
GS234727 1/2" GEAR SET, 34% 27 X 32-SPL (T1) (OBSOLETE - USE: GS634727) P.O.R
GS268127 1/2" GEAR SET, 68% 27 X 32-SPLINE (6-GEAR) 1,650.00
GS273127 1/2" GEAR SET, 73% 27 X 32-SPLINE (6-GEAR) 1,650.00
GS373127 1/2" GEAR SET, 73% DOUBLE 27 X 32-SPLINE  (DISC.)

GS520727 3/4" GEAR SET, 20% 27 X 32-SPLINE (TITANIUM) P.O.R
GS523727 3/4" GEAR SET, 23% 27 X 32-SPLINE (TITANIUM) P.O.R
GS525727 3/4" GEAR SET, 25% 27 X 32-SPLINE (TITANIUM) P.O.R
GS528727 3/4" GEAR SET, 28% 27 X 32-SPLINE (TITANIUM) P.O.R
GS529727 3/4" GEAR SET, 29.7% 27 X 32-SPLINE (TITANIUM) P.O.R
GS531727 3/4" GEAR SET, 31% 27 X 32-SPLINE (TITANIUM) P.O.R
GS531732 3/4" GEAR SET, 31% 32 X 35-SPLINE (TITANIUM) P.O.R
GS534727 3/4" GEAR SET, 34% 27 X 32-SPLINE (TITANIUM) P.O.R
(GS534732 3/4" GEAR SET, 34% 32 X 35-SPLINE (TITANIUM) P.O.R
GS536727 3/4" GEAR SET, 36% 27 X 32-SPLINE (TITANIUM) P.O.R
GS536732 3/4" GEAR SET, 36% 32 X 35-SPLINE (TITANIUM) P.O.R
GS538727 3/4" GEAR SET, 38% 27 X 32-SPLINE (TITANIUM) P.O.R
(GS538732 3/4" GEAR SET, 38% 32 X 35-SPLINE (TITANIUM) P.O.R
GS541727 3/4" GEAR SET, 41% 27 X 32-SPLINE (TITANIUM) P.O.R
GS541732 3/4" GEAR SET, 41% 32 X 35-SPLINE (TITANIUM) P.O.R
GS544727 3/4" GEAR SET, 44% 27 X 32-SPLINE (TITANIUM) P.O.R
GS544732 3/4" GEAR SET, 44% 32 X 35-SPLINE (TITANIUM) P.O.R
GS548727 3/4" GEAR SET, 48% 27 X 32-SPLINE (TITANIUM) P.O.R
(GS548732 3/4" GEAR SET, 48% 32 X 35-SPLINE (TITANIUM) P.O.R
GS550727 3/4" GEAR SET, 50% 27 X 35-SPLINE (TITANIUM) P.O.R
GS550732 3/4" GEAR SET, 50% 32 X 35-SPLINE (TITANIUM) P.O.R
GS556727 3/4" GEAR SET, 56% 27 X 32-SPLINE (TITANIUM) P.O.R
GS556732 3/4" GEAR SET, 56% 32 X 35-SPLINE (TITANIUM) P.O.R

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
GS725027 ST1200 GEAR SET, 25% 27 X 32-SPLINE 1,300.00
LD601113 OIL FILTER, BRASS (OBSOLETE) 11.00
LI105000 FLAT-HANDLE SHIFTER, 4-SPEED (FRONT MOUNT)

LI105010 FLAT-HANDLE SHIFTER, 4-SPEED (MID MOUNT)

LI105020 FLAT-HANDLE SHIFTER, 4-SPEED (REAR MOUNT)

LI105030 FLAT-HANDLE SHIFTER, 3-SPEED (MID MOUNT)

L1105040 FLAT-HANDLE SHIFTER, 3-SPEED (REAR MOUNT)

LI105050 FLAT-HANDLE SHIFTER, 2-SPEED (REAR MOUNT)

LI105060 FLAT-HANDLE SHIFTER, REVERSE LOCK-OUT ONLY

LI170081 LINKAGE BRACKET, STAMPING P.O.R
LI205010 FLAT-HANDLE SHIFTER, NG MID-MOUNT (4-SPEED)

LI1205020 FLAT-HANDLE SHIFTER, NG REAR-MOUNT (4-SPEED)

LI1205030 FLAT-HANDLE SHIFTER, NG MID-MOUNT (3-SPEED)

L1205040 FLAT-HANDLE SHIFTER, NG REAR-MOUNT (3-SPEED)

LI1205060 FLAT-HANDLE SHIFTER, REVERSE LOCK-OUT ONLY

LI1205090 FLAT-HANDEL SHIFTER, NG FRONT-MOUNT (5-SPEED)

LI205100 FLAT-HANDLE SHIFTER, NG MID-MOUNT (5-SPEED)

LI205110 FLAT-HANDLE SHIFTER, NG REAR-MOUNT (5-SPEED)

LI1205120 FLAT-HANDLE SHIFTER, NG REAR-MOUNT (2-SPEED)

LI270201 FLAT NG SHIFT-HANDLE, SHORT

LI270202 FLAT NG SHIFT-HANDLE, MEDIUM

LI270203 FLAT NG SHIFT-HANDLE, LONG

LI270204 FLAT NG SHIFT-HANDLE, X-LONG

MC100000 CATALOG

MC100040 INSTALLATION HANDLE 2-SPEED (DISCONTINUED) N/A
MC100050 INSTALLATION HANDLE 3-SPEED (DISCONTINUED) N/A
MC600100 VENT KIT 195.00
MC600400 TRANSMISSION RELAY 55.00
ML212000LW SHIFTER, CS2 LOCK OUT ONLY FRONT MOUNT (FITS L/W CASE) 359.00
ML213000LW SHIFTER, CS2 LOCK OUT ONLY MID MOUNT (FITS L/W CASE) 359.00
ML214000LW SHIFTER, CS2 LOCK OUT ONLY REAR MOUNT (FITS L/W CASE) 359.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
ML223000LW SHIFTER, CS2 TWO SPEED & REVERSE MID MOUNT (FITS L/W CASE) 520.00
ML224000LW SHIFTER, CS2 TWO SPEED & REVERSE REAR MOUNT (FITS L/W CASE) 520.00
ML232000LW SHIFTER, CS2 THREE SPEED & REVERSE FRONT MOUNT (FITS L/W CASE) 690.00
ML233000LW SHIFTER, CS2 THREE SPEED & REVERSE MID MOUNT (FITS L/W CASE) 690.00
ML234000LW SHIFTER, CS2 THREE SPEED & REVERSE REAR MOUNT (FITS L/W CASE) 690.00
ML242000LW SHIFTER, CS2 FOUR SPEED & REVERSE FRONT MOUNT (FITS L/W CASE) 875.00
ML243000LW SHIFTER, CS2 FOUR SPEED & REVERSE MID MOUNT (FITS L/W CASE) 875.00
ML244000LW SHIFTER, CS2 FOUR SPEED & REVERSE REAR MOUNT (FITS L/W CASE) 875.00
ML252000LW SHIFTER, CS2 FIVE SPEED & REVERSE FRONT MOUNT (FITS L/W CASE) 1,060.00
ML253000LW SHIFTER, CS2 FIVE SPEED & REVERSE MID MOUNT (FITS L/W CASE) 1,060.00
ML254000LW SHIFTER, CS2 FIVE SPEED & REVERSE REAR MOUNT (FITS L/W CASE) 1,060.00
ML713000 SHIFTER, ST1200 2, 3, 4 OR 5 SPEED & REVERSE MID MOUNT 359.00
ML714000 SHIFTER, ST1200 2, 3, 4 OR 5 SPEED & REVERSE REAR MOUNT 359.00
MS170014 SHIFT LEVER, MULTIHOLE 45.00
NT100210 NUT, 7/16"-20 FLANGED (PINION SUPPORT) 2.00
NT140224 NUT, AIR BOTTLE KNOB 1.50
NT200200 PLUG, AIR SERVO OFFSET SEE MS170030 SHIFT TOWER PLUG

OR101000 O-RING, CO2 BOTTLE SEAL 16.00
OR101600 O-RING, 40-SPLINE FLOATER AXLE 3.00
OR101602 O-RING, 40-SPLINE AXLE RETAINER 2.00
OR101604 O-RING, 40-SPLINE AXLE PLUG 2.00
OR101610 O-RING, 35-SPLINE FLOATER AXLE 3.00
OR101620 O-RING, FLOATER DRIVE PLATE 7.00
PA128106 1" PLANETARY ASSEMBLY, 28% 6-SPLINE (LIGHT WEIGHT) 900.00
PA131106 1" PLANETARY ASSEMBLY, 31% 6-SPLINE (LIGHT WEIGHT) 900.00
PA134106 1" PLANETARY ASSEMBLY, 34% 6-SPLINE (LIGHT WEIGHT) 900.00
PA137106 1" PLANETARY ASSEMBLY, 37% 6-SPLINE (LIGHT WEIGHT) 900.00
PA141106 1" PLANETARY ASSEMBLY, 41% 6-SPLINE (LIGHT WEIGHT) 900.00
PA148106 1" PLANETARY ASSEMBLY, 48% 6-SPLINE (LIGHT WEIGHT) 900.00
PA150806 1" PLANETARY ASSEMBLY, 50% 6-SPLINE (6-GEAR) 1,050.00
PA156806 1" PLANETARY ASSEMBLY, 56% 6-SPLINE (6-GEAR) 1,050.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
PA168806 1" PLANETARY ASSEMBLY, 68% 6-SPLINE (6-GEAR) 1,235.00
PA175006 1" PLANETARY ASSEMBLY, 75% 6-SPLINE (DOUBLE) 1,235.00
PA195032 1" PLANETARY ASSEMBLY, 95% 32-SPLINE (DOUBLE) 1,235.00
PA225727 1/2" PLANETARY ASSEMBLY, 25% 27-SPLINE (TITANIUM) P.O.R.
PA228727 1/2" PLANETARY ASSEMBLY, 28% 27-SPLINE (TITANIUM) P.O.R.
PA229727 1/2" PLANETARY ASSEMBLY, 29.7% 27-SPLINE (TITANIUM) P.O.R.
PA231727 1/2" PLANETARY ASSEMBLY, 31% 27-SPLINE (TITANIUM) P.O.R.
PA234727 1/2" PLANETARY ASSEMBLY, 34% 27-SPLINE (Tl) (USE: PA634727) P.O.R.
PA236727 1/2" PLANETARY ASSEMBLY, 36% 27-SPLINE (TITANIUM) P.O.R.
PA238727 1/2" PLANETARY ASSEMBLY, 38% 27-SPLINE (TITANIUM) P.O.R.
PA241727 1/2" PLANETARY ASSEMBLY, 41% 27-SPLINE (TITANIUM) P.O.R.
PA244727 1/2" PLANETARY ASSEMBLY, 44% 27-SPLINE (TITANIUM) P.O.R.
PA248727 1/2" PLANEATRY ASSEMBLY, 48% 27-SPLINE (TITANIUM) P.O.R.
PA250727 1/2" PLANETARY ASSEMBLY, 50% 27-SPLINE (TITANIUM) P.O.R.
PA256727 1/2" PLANETARY ASSEMBLY, 56% 27-SPLINE (TITANIUM) P.O.R.
PA268127 1/2" PLANETARY ASSEMBLY, 68% 32-SPLINE (6-GEAR) 1,100.00
PA273127 1/2" PLANETARY ASSEMBLY, 73% 32-SPLINE (6-GEAR) 1,100.00
PA316727 1/2" PLANETARY ASSEMBLY, 16.4% 27-SPLINE (DBL / TITANIUM) P.O.R.
PA318727 1/2" PLANETARY ASSEMBLY, 18.2% 27-SPLINE (DBL / TITANIUM) P.O.R.
PA320727 1/2" PLANETARY ASSEMBLY, 19.9% 27-SPLINE (DBL / TITANIUM) P.O.R.
PA322727 1/2" PLANETARY ASSEMBLY, 22.4% 27-SPLINE (DBL / TITANIUM) P.O.R.
PA325727 1/2" PLANETARY ASSEMBLY, 24.9% 27-SPLINE (DBL / TITANIUM) P.O.R.
PA444106 1" PLANETARY ASSEMBLY, 44% 6-SPLINE (LIGHT WEIGHT) 900.00
PA520727 3/4" PLANETARY ASSEMBLY, 20% 27-SPLINE (TITANIUM) P.O.R.
PA523727 3/4" PLANETARY ASSEMBLY, 23% 27-SPLINE (TITANIUM) P.O.R.
PA525727 3/4" PLANETARY ASSEMBLY, 25% 27-SPLINE (TITANIUM) P.O.R.
PA528727 3/4" PLANETARY ASSEMBLY, 28% 27-SPLINE (TITANIUM) P.O.R.
PA529727 3/4" PLANEATRY ASSEMBLY, 29.7% 27-SPLINE (TITANIUM) P.O.R.
PA531727 3/4" PLANETARY ASSEMBLY, 31% 27-SPLINE (TITANIUM) P.O.R.
PA531732 3/4" PLANETARY ASSEMBLY, 31% 32-SPLINE (TITANIUM) P.O.R.
PA534127 3/4" PLANETARY ASSEMBLY, 34% 27-SPLINE 900.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
PA534132 3/4" PLANETARY ASSEMBLY, 34% 32-SPLINE 900.00
PA534727 3/4" PLANETARY ASSEMBLY, 34% 27-SPLINE (TITANIUM) P.O.R.
PA534732 3/4" PLANETARY ASSEMBLY, 34% 32-SPLINE (TITANIUM) P.O.R.
PA536127 3/4" PLANETARY ASSEMBLY, 36% 27-SPLINE 900.00
PA536132 3/4" PLANETARY ASSEMBLY, 36% 32-SPLINE 900.00
PA536727 3/4" PLANETARY ASSEMBLY, 36% 27-SPLINE (TITANIUM) P.O.R.
PA536732 3/4" PLANETARY ASSEMBLY, 36% 32-SPLINE (TITANIUM) P.O.R.
PA538727 3/4" PLANETARY ASSEMBLY, 38% 27-SPLINE (TITANIUM) P.O.R.
PA538732 3/4" PLANETARY ASSEMBLY, 38% 32-SPLINE (TITANIUM) P.O.R.
PA541727 3/4" PLANETARY ASSEMBLY, 41% 27-SPLINE (TITANIUM) P.O.R.
PA541732 3/4" PLANETARY ASSEMBLY, 41% 32-SPLINE (TITANIUM) P.O.R.
PA544727 3/4" PLANETARY ASSEMBLY, 44% 27-SPLINE (TITANIUM) P.O.R.
PA544732 3/4" PLANETARY ASSEMBLY, 44% 32-SPLINE (TITANIUM) P.O.R.
PA548727 3/4" PLANETARY ASSEMBLY, 48% 27-SPLINE (TITANIUM) P.O.R.
PA548732 3/4" PLANETARY ASSEMBLY, 48% 32-SPLINE (TITANIUM) P.O.R.
PA550727 3/4" PLANETARY ASSEMBLY, 50% 27-SPLINE (TITANIUM) P.O.R.
PA550732 3/4" PLANETARY ASSEMBLY, 50% 32-SPLINE (TITANIUM) P.O.R.
PA556727 3/4" PLANETARY ASSEMBLY, 56% 27-SPLINE (TITANIUM) P.O.R.
PA556732 3/4" PLANETARY ASSEMBLY, 56% 32-SPLINE (TITANIUM) P.O.R.
PA568127 3/4" PLANETARY ASSEMBLY, 68% 27-SPLINE (6 GEAR) 1,235.00
PA568132 3/4" PLANETARY ASSEMBLY, 68% 32-SPLINE (6 GEAR) 1,235.00
PC128106 1" PLANETARY CARRIER, 28, 37 & 44% 6-SPLINE (L/W) 590.00
PC128732 1" PLANETARY CARRIER, 28, 37 & 44% 32-SPLINE (L/W - TITANIUM) P.O.R.
PC131106 1" PLANETARY CARRIER, 31 & 38% 6-SPLINE (L/W) 590.00
PC134106 1" PLANETARY CARRIER, 34% 6-SPLINE (L/W) 590.00
PC134732 1" PLANETARY CARRIER, 34% 32-SPLINE (L/W - TITANIUM) P.O.R.
PC141106 1" PLANETARY CARRIER, 41 & 46% 6-SPLINE (L/W) 590.00
PC148106 1" PLANETARY CARRIER, 48% 6-SPLINE (L/W) 590.00
PC150806 1" PLANETARY CARRIER, 50% 6-SPLINE (6-GEAR) 590.00
PC156806 1" PLANETARY CARRIER, 56% 6-SPLINE (6-GEAR) 590.00
PC168806 1" PLANETARY CARRIER, 68% 6-SPLINE (6-GEAR) 625.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
PC175006 1" PLANETARY CARRIER, 75% 6-SPLINE (DOUBLE) 590.00
PC175032 1" PLANETARY CARRIER, 75% 32-SPLINE (DOUBLE) 590.00
PC195006 1" PLANETARY CARRIER, 95% 6-SPLINE (DOUBLE) 590.00
PC195032 1" PLANETARY CARRIER, 95% 32-SPLINE (DOUBLE) 590.00
PC225727 1/2" PLANETARY CARRIER, 25% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC228032 1/2" PLANETARY CARRIER, 28% 32-SPLINE (DISC) 500.00
PC228127 1/2" PLANETARY CARRIER, 28% 27-SPLINE (DISC) 500.00
PC228727 1/2" PLANETARY CARRIER, 28% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC229127 1/2" PLANETARY CARRIER, 29.7% 27-SPLINE (DISC) 500.00
PC229727 1/2" PLANETARY CARRIER, 29.7% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC231127 1/2" PLANETARY CARRIER, 31% 27-SPLINE (DISC) 500.00
PC231132 1/2" PLANETARY CARRIER, 31% 32-SPLINE (DISC) 500.00
PC231727 1/2" PLANETARY CARRIER, 31% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC234127 1/2" PLANETARY CARRIER, 34% 27-SPLINE (DISC) 500.00
PC234132 1/2" PLANETARY CARRIER, 34% 32-SPLINE (DISC) 500.00
PC234727 1/2" PLANETARY CARRIER, 34% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC236727 1/2" PLANETARY CARRIER, 36% 27-SPLINE (TITANIUM) P.O.R.
PC238127 1/2" PLANETARY CARRIER, 38% 27-SPLINE (DISC) 500.00
PC238132 1/2" PLANETARY CARRIER, 38% 32-SPLINE (DISC) 500.00
PC238727 1/2" PLANETARY CARRIER, 38% 27-SPLINE (20MM TITANIUM) P.O.R.
PC241127 1/2" PLANETARY CARRIER, 41% 27-SPLINE (DISC) 500.00
PC241132 1/2" PLANETARY CARRIER, 41% 32-SPLINE (DISC) 500.00
PC241727 1/2" PLANETARY CARRIER, 41% 27-SPLINE (20MM / TITANIUM) P.O.R.
PC244727 1/2" PLANETARY CARRIER, 44% 27-SPLINE (TITANIUM) P.O.R.
PC248727 1/2" PLANETARY CARRIER, 48% 27-SPLINE (TITANIUM) P.O.R.
PC250727 1/2" PLANETARY CARRIER, 50% 27-SPLINE (TITANIUM) P.O.R.
PC256727 1/2" PLANETARY CARRIER, 56% 27-SPLINE (TITANIUM) P.O.R.
PC256732 1/2" PLANETARY CARRIER, 56% 32-SPLINE (TITANIUM) P.O.R.
PC268127 1/2" PLANET CARRIER, 68% 27-SPLINE 575.00
PC268727 1/2" PLANETARY CARRIER, 68% 27-SPLINE (TITANIUM) P.O.R.
PC273127 1/2" PLANETARY CARRIER, 73% 27-SPLINE 575.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
PC316727 1/2" PLANETARY CARRIER, 16.2% 27-SPLINE (TITANIUM) P.O.R.
PC318727 1/2" PLANETARY CARRIER, 18.4% 27-SPLINE (TITANIUM) P.O.R.
PC320727 1/2" PLANETARY CARRIER, 19.9 & 22.4% 27-SPLINE (TITANIUM) P.O.R.
PC321727 1/2" PLANETARY CARRIER, 21.4% 27-SPLINE (TITANIUM) P.O.R.
PC325127 1/2" PLANETARY CARRIER, 25% 27-SPLINE 575.00
PC325727 1/2" PLANETARY CARRIER, 25% 27-SPLINE (TITANIUM) P.O.R.
PC400000 STAND,CS4 PLANETARY CARRIER

PC520727 3/4" PLANETARY CARRIER, 20% 27-SPLINE (TITANIUM) P.O.R.
PC523727 3/4" PLANETARY CARRIER, 22.5% 27-SPLINE (TITANIUM) P.O.R.
PC525129 3/4" PLANETARY CARRIER, 25% 29-SPLINE 575.00
PC525727 3/4" PLANETARY CARRIER, 25% 27-SPLINE (TITANIUM) P.O.R.
PC525732 3/4" PLANETARY CARRIER, 25% 32-SPLINE (TITANIUM) P.O.R.
PC528727 3/4" PLANETARY CARRIER, 28 & 44% 27-SPLINE (TITANIUM) P.O.R.
PC528732 3/4" PLANETARY CARRIER, 28 & 44% 32-SPLINE (TITANIUM) P.O.R.
PC529127 3/4" PLANETARY CARRIER, 29.7 & 36% 27-SPLINE 575.00
PC529132 3/4" PLANETARY CARRIER, 29.7 & 36% 32-SPLINE 575.00
PC529727 3/4" PLANETARY CARRIER, 29.7 & 36% 27-SPLINE (TITANIUM) P.O.R.
PC529732 3/4" PLANETARY CARRIER, 29.7 & 36% 32-SPLINE (TITANIUM) P.O.R.
PC531727 3/4" PLANETARY CARRIER, 31% 27-SPLINE (TITANIUM) P.O.R.
PC531732 3/4" PLANETARY CARRIER, 31% 32-SPLINE (TITANIUM) P.O.R.
PC534127 3/4" PLANETARY CARRIER, 34% 27-SPLINE 575.00
PC534132 3/4" PLANETARY CARRIER, 34% 32-SPLINE 575.00
PC534727 3/4" PLANETARY CARRIER, 34% 27-SPLINE (TITANIUM) P.O.R.
PC534732 3/4" PLANETARY CARRIER, 34% 32-SPLINE (TITANIUM) P.O.R.
PC535732 3/4" PLANETARY CARRIER, 35% 32-SPLINE (TITANIUM) P.O.R.
PC538727 3/4" PLANETARY CARRIER, 38% 27-SPLINE (TITANIUM) P.O.R.
PC538732 3/4" PLANETARY CARRIER, 38% 32-SPLINE (TITANIUM) P.O.R.
PC541727 3/4" PLANETARY CARRIER, 41% 27-SPLINE (TITANIUM) P.O.R.
PC541732 3/4" PLANETARY CARRIER, 41% 32-SPLINE (TITANIUM) P.O.R.
PC546727 3/4" PLANETARY CARRIER, 46.2% 27-SPLINE (TITANIUM) P.O.R.
PC546732 3/4" PLANETARY CARRIER, 46.2% 32-SPLINE (TITANIUM) P.O.R.

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
PC548727 3/4" PLANETARY CARRIER, 48% 27-SPLINE (TITANIUM) P.O.R.
PC548732 3/4" PLANETARY CARRIER, 48% 32-SPLINE (TITANIUM) P.O.R.
PC550727 3/4" PLANETARY CARRIER, 50% 27-SPLINE (TITANIUM) P.O.R.
PC550732 3/4" PLANETARY CARRIER, 50% 32-SPLINE (TITANIUM) P.O.R.
PC556727 3/4" PLANETARY CARRIER, 56% 27-SPLINE (TITANIUM) P.O.R.
PC556732 3/4" PLANETARY CARRIER, 56% 32-SPLINE (TITANIUM) P.O.R.
PC568127 3/4" PLANETARY CARRIER, 68% 27-SPLINE (LENCODRIVE) 575.00
PG100215 1" PLANETARY GEAR, 15% (DOUBLE) 179.00
PG100275 1" PLANETARY GEAR, 75% (DOUBLE) 179.00
PG100295 1" PLANETARY GEAR, 95% (DOUBLE) 179.00
PG170273 1" PLANETARY AXLE, 1/2" x 3/4"-PIN (95% GS) 35.00
PG170276 1" PLANETARY AXLE, 16MM-PIN (2.75" OAL FOR 75%) 19.00
PG200068 1/2" PLANETARY GEAR, 68% 92.00
PG200168 1/2" PLANETARY GEAR, 68% 92.00
PG300210 1/2" PLANETARY GEAR, 10% (DOUBLE) 169.00
PG300275 1/2" PLANETARY GEAR, 75% (DOUBLE) 169.00
PG500068 3/4" PLANETARY GEAR, 68% (18MM-PIN) 96.00
PG600068 3/4" PLANETARY GEAR, 68% (12MM-PIN) 96.00
RE150010 PINION BEARING SUPPORT, 7/16" (BODY ONLY) 115.00
RE150020 PINION BEARING SUPPORT BODY, 10-BOLT 119.00
RE150021 PINION BEARING SUPPORT BODY, 5-BOLT 115.00
RE150025 PINION BEARING SUPPORT BODY, 10-BOLT (LARGE BEARING) 119.00
RE150026 PINION BEARING SUPPORT BODY, 5-BOLT (LARGE BEARING) 115.00
RE150030 LENCO PINION NUT 6.00
RE150040 LENCO PINION SLEEVE 20.00
RE150050 STOCK PINION BEARING SPACER 9.00
RE150180 PINION SHIM (TRD-3244) 9.00
RE150205 SHIM KIT, PINION SUPPORT (5-BOLT) 20.00
RE150210 SHIM KIT, PINION SUPPORT (10-BOLT) 27.00
RE150280 PINION SPACER CUP, 35-SPLINE 17.00
RE150282 PINION SPACER CUP, 35-SPLINE (LONG) 18.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
RE150290 PINION ADAPTER SLEEVE 27.00
RE150410 STOCK PINION SLEEVE 23.00
RE150420 SPECIAL PINION WASHER 12.00
RE150425 SPECIAL PINION NUT 18.00
RE150440 BEARING SHIM SPACER, 35-SPLINE 25.00
RE150442 PINION SPACER, 35-SPLINE 17.00
RE151020 PINION SUPPORT ASSEMBLY, 10-BOLT 260.00
RE151021 PINION SUPPORT ASSEMBLY, 5-BOLT 250.00
RE160000 LOCKER HOUSING, 35-SPLINE (STEEL) 250.00
RE160001 LOCKER ENDPLATE, 35-SPLINE (STEEL) 155.00
RE160002 LOCKER HOUSING, 31-SPLINE (STEEL) 250.00
RE160003 LOCKER ENDPLATE, 31 SPLINE (STEEL) 155.00
RE160100 LOCKER ASSEMBLY, 35-SPLINE (STEEL) 750.00
RE160101 LOCKER ASSEMBLY, 33-SPLINE (STEEL) 750.00
RE160102 LOCKER ASSEMBLY, 31-SPLINE (STEEL) 750.00
RE160131 LOCKER COUPLER, 31-SPLINE 82.00
RE160133 LOCKER COUPLER, 33-SPLINE 82.00
RE160135 LOCKER COUPLER, 35-SPLINE 82.00
RE160200 LOCKER UPGRADE, 35 SPLINE (STEEL) 575.00
RE160201 LOCKER UPGRADE, 33 SPLINE (STEEL) 575.00
RE160202 LOCKER UPGRADE, 31 SPLINE (STEEL) 575.00
RE160202 NOTE: UPGRADE UNIT COMES W/OUT LOCKER UNIT OR SIDE SPRINGS

RE160535 SPOOL, 35-SPLINE (LIGHT WEIGHT) 295.00
RE160540 SPOOL, 40-SPLINE (LIGHT WEIGHT) 305.00
RE161000 LOCKER HOUSING, 35-SPLINE (ALUMINUM) 250.00
RE161001 LOCKER ENDPLATE, 35-SPLINE (ALUMINUM) 155.00
RE161002 LOCKER HOUSING, 31-SPLINE (ALUMINUM) 250.00
RE161003 LOCKER ENDPLATE, 31-SPLINE (ALUMINUM) 155.00
RE161004 LOCKER HOUSING, 31 & 35-SPLINE BEARING (SPL. BEARING) 250.00
RE161005 LOCKER ENDPLATE, 31 & 35-SPLINE BEARING (SPL. BEARING) 155.00
RE161100 LOCKER ASSEMBLY, 35-SPLINE (ALUMINUM) 750.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
RE161101 LOCKER ASSEMBLY, 33-SPLINE (ALUMINUM) 750.00
RE161102 LOCKER ASSEMBLY, 31-SPLINE (ALUMINUM) 750.00
RE161200 LOCKER UPGRADE, 35-SPLINE (ALUMINUM) 567.00
RE161201 LOCKER UPGRADE, 33-SPLINE (ALUMINUM) 567.00
RE161202 LOCKER UPGRADE, 31-SPLINE (ALUMINUM) 567.00
RE-161202 NOTE: UPGRADE UNIT COMES W/OUT LOCKER UNIT OR SIDE SPRINGS

RE162000 LOCKER INTERNAL ASSEMBLY 350.00
RE162010 LOCKER SPRINGS 27.00
RE180000 HOUSING, MEYER'S FABRICATED REAR END P.O.R.
RE600100 RESTRICTOR (LENCODRIVE) 1.00
RE-LOCKER NOTE: 35 SP. USES LARGER CARRIER BEARINGS

RE-LOCKER (3.250 BORE); HOUSINGS MADE FROM BILLET

RE-LOCKER QUANTITY LOCKER ASSEMBLY PRICE: 5 -9

RE-LOCKER QUANTITY LOCKER ASSEMBLY PRICE: 10 - 19

RE-LOCKER QUANTITY LOCKER ASSEMBLY PRICE: 20 OR MORE

RG115006 RING GEAR, 15D% 6-SPLINE (STANDARD) 500.00
RG122006 RING GEAR, 22% 6-SPLINE (STANDARD) 500.00
RG125006 RING GEAR, 19D, 25, 68 & 95D% 6-SPLINE (STANDARD) 500.00
RG125206 RING GEAR, 25D% 6-SPLINE 500.00
RG128006 RING GEAR, 28% 6-SPLINE (STANDARD) 500.00
RG131006 RING GEAR, 31% 6-SPLINE (STANDARD) 500.00
RG134006 RING GEAR, 34% 6-SPLINE (STANDARD) 500.00
RG137006 RING GEAR, 37% 6-SPLINE (STANDARD) 500.00
RG138006 RING GEAR, 38% 6-SPLINE (STANDARD) 500.00
RG141006 RING GEAR, 41 & 37% 6-SPLINE (STANDARD) 500.00
RG146006 RING GEAR, 46% 6-SPLINE (STANDARD) 500.00
RG148006 RING GEAR, 48% 6-SPLINE (STANDARD) 500.00
RG150006 RING GEAR, 50% 6-SPLINE (STANDARD) 500.00
RG156006 RING GEAR, 56% 6-SPLINE (STANDARD) 500.00
RG175006 RING GEAR, 75% 6-SPLINE (STANDARD) 500.00
RG175035 RING GEAR, 75% 35-SPLINE (STANDARD) 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
RG225006 1/2" RING GEAR, 25% 6-SPLINE (STANDARD) 475.00
RG231006 1/2" RING GEAR, 31% 6-SPLINE (STANDARD) 475.00
RG234006 1/2" RING GEAR, 34% 6-SPLINE (STANDARD) 475.00
RG236006 1/2" RING GEAR, 36% 6-SPLINE (STANDARD) 475.00
RG238006 1/2" RING GEAR, 38% 6-SPLINE (STANDARD) 475.00
RG241006 1/2" RING GEAR, 41% 6-SPLINE (STANDARD) 475.00
RG244006 1/2" RING GEAR, 44% 6-SPLINE (STANDARD) 475.00
RG248006 1/2" RING GEAR, 48% 6-SPLINE (STANDARD) 475.00
RG250006 1/2" RING GEAR, 50% 6-SPLINE (STANDARD) 475.00
RG256006 1/2" RING GEAR, 56% 6-SPLINE (STANDARD) 475.00
RG268132 1/2" RING GEAR, 68% 32-SPLINE (LIGHT WEIGHT) 500.00
RG273006 1/2" RING GEAR, 73% 6-SPLINE (STANDARD) 475.00
RG273106 1/2" RING GEAR, 73% 6-SPLINE (LIGHT WEIGHT) 475.00
RG310032 1/2" RING GEAR, 10% 32-SPLINE (STANDARD) 450.00
RG375006 3/4" RING GEAR, 75% 6-SPLINE (DOUBLE 3/4 SET) 475.00
RG444006 1" RING GEAR, 44% 6-SPLINE 500.00
RG525006 3/4" RING GEAR, 25% 6-SPLINE (STANDARD) 500.00
RG529035 3/4" RING GEAR, 29.7% 35-SPLINE (STANDARD) 500.00
RG529132 3/4" RING GEAR, 29.7% 32-SPLINE (LIGHT WEIGHT) 500.00
RG531006 3/4" RING GEAR, 31% 6-SPLINE (STANDARD) 500.00
RG534006 3/4" RING GEAR, 34 & 38% 6-SPLINE (STANDARD) (RG538006) 500.00
RG536006 3/4" RING GEAR, 36% 6-SPLINE (STANDARD) 500.00
RG536035 3/4" RING GEAR, 36% 35-SPLINE (STANDARD) 500.00
RG538006 3/4" RING GEAR, 38 & 34% 6-SPLINE (STANDARD) (RG534006) 500.00
RG541006 3/4" RING GEAR, 41 & 44% 6-SPLINE (STANDARD) 500.00
RG546006 3/4" RING GEAR, 46.2% 6-SPLINE (STANDARD) 500.00
RG548006 3/4" RING GEAR, 48% 6-SPLINE (STANDARD) 500.00
RG550006 3/4" RING GEAR, 50% 6-SPLINE (STANDARD) 500.00
RG556006 3/4" RING GEAR, 56% 6-SPLINE (STANDARD) 500.00
RG568006 3/4" RING GEAR, 68% 6-SPLINE (STANDARD) 500.00
RG568032 3/4" RING GEAR, 68% 32-SPLINE (STANDARD) 500.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
RG568035  3/4" RING GEAR, 68% 35-SPLINE (STANDARD) 500.00
RG573006  3/4" RING GEAR, 73% 6-SPLINE (STANDARD) 500.00
RV113000  REVERSE PLANETARY, 6 & 32-SPLINE 108.00
RV113035  REVERSE PLANETARY, 35-SPLINE 140.00
RV115006  REVERSE SUN GEAR, 6-SPLINE 78.00
RV115032  REVERSE SUN GEAR, 32-SPLINE 78.00
RV115035  REVERSE SUN GEAR, 35-SPLINE 91.00
RV117000  REVERSE RING GEAR, 32-SPLINE 84.00
RV117010  REVERSE RING GEAR ASSEMBLY, 32-SPLINE 251.00
RV117035  REVERSE RING GEAR, 35-SPLINE 101.00
RV117100  REVERSE RING GEAR ASSEMBLY, 35-SPLINE (WELDED) 287.00
RV117105  REVERSE RING GEAR ASSEMBLY, 32-SPLINE (WELDED) 274.00
RV117110  REVERSE RING GEAR ASSEMBLY, 32-SPLINE LW (WELDED) 293.00
RV118000  REVERSE HALF RING GEAR, 6 & 32-SPLINE 137.00
RV118035  REVERSE HALF RING GEAR, 35-SPLINE 140.00
RV118100  REVERSE HALF RING GEAR, 6 & 32-SPLINE (LIGHT WEIGHT) 156.00
RV171002  HEIM, 5/16"-24 (R/H) 38.00
RV171060  CROSS SHAFT, REVERSE (ALUMINUM) 49.00
RV171171  BUSHING, REVERSE CROSS SHAFT (ALUMINUM) 18.00
RV171172  CROSS SHAFT ASSEMBLY, REVERSE (ALUMINUM) 60.00
RV471235  CANNON BEARING RETAINER, REVERSE 35-SPLINE 45.00
RV471280  CANNON BEARING RETAINER, REVERSE 40-SPLINE 45.00
RV471281  BEARING RETAINER, REVERSE 40-SPLINE 45.00
RV471283  CANNON LARGE BEARING RETAINER, REVERSE 40-SPLINE 45.00
RV471300  35-SPLINE ADAPTER FOR 40-SPLINE CANNON REVERSE CASE 45.00
RV618000  REVERSE HALF RING GEAR (L/W WIDE NEUTRAL) 155.00
RV618100  REVERSE RING GEAR ASSY (WELDED / WIDE NEUTRAL) 266.00
SG100095 1" SUN GEAR TUBE, 95% 169.00
SG100275 1" SUN GEAR, 75% 199.00
SG100295 1" SUN GEAR, 95% 199.00
SG200068  1/2" SUN GEAR ASSEMBLY, 68-TOOTH (68%) 325.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
SG500262 3/4" SUN GEAR, 62-TOOTH (68%) 199.00
SH120240 INPUT, 304 1-3/8" 10 X 32-SPLINE (8.425" OAL)

SH120245 INPUT, 203 1-3/8" 10 X 32-SPLINE (9.775" OAL)

SH120700 INPUT, 7-1/8" 1-3/8" 10 X 6-SPLINE (HG REVERSE ONLY) 350.00
SH120710 INPUT, 7-1/8" 1-3/8" 10 X 32-SPLINE (HG REVERSE ONLY) 350.00
SH121130 (DISCONTINUED) REVERSE INTERMEDIATE, 6 X 6-SPLINE

SH121150 REVERSE INTERMEDIATE (SB), 29 X 6-SPLINE

SH125300 SHAFT, 10 X 16-SPLINE EARLY-STYLE HIGH-GEAR ONLY 349.00
SH125310 SHAFT, 1-3/8" 10 X 32-SPLINE HIGH-GEAR ONLY 340.00
SH125315 SHAFT, 1-1/2" 10 X 32-SPLINE HIGH-GEAR ONLY 360.00
SH128020 OUTPUT, 16 X 31-SPLINE SAFE DRIVE

SH128870 INTERMEDIATE BOAT CLUTCH TO 25%, (w/SB) N/A P.O.R.
SH128880 INTERMEDIATE, 29 X 31-SPLINE 25% SAFE DRIVE N/A P.O.R.
SH128890 INTERMEDIATE, 32 X 31-SPLINE 25% SAFE DRIVE N/A P.O.R.
SH130200 INPUT, 7-1/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE (MA) P.O.R.
SH130225 INPUT, 7-5/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE (MA) P.O.R.
SH130230 INPUT, 7-1/8" 304 1-1/2" 35 X 35-SPLINE (MA) P.O.R
SH130240 INPUT, 7-5/8" 304 1-1/2" 35 X 35-SPLINE (MA) P.O.R.
SH130250 INPUT, 7-5/8" 304 1-1/2" 10 X 35-SPLINE (MA) P.O.R.
SH130260 INPUT, 8-1/8" 304 1-1/2" 35 X 35-SPLINE (MA) P.O.R.
SH130270 INPUT, 8-1/8" 304 1-1/2" 10 X 35-SPLINE (MA) P.O.R.
SH130400 INPUT, 7-1/8" 304 1-3/8" 10 X 1-1/2" 35-SPLINE (MA) P.O.R.
SH130860 INPUT, 1-3/4" 40 X 40-SPLINE CHRYSLER B/C P.O.R.
SH131200 INTERMEDIATE, 35-SPLINE REVERSE P.O.R.
SH132070 INTERMEDIATE (SB), 29 X 32-SPLINE 19% REVERSE (SINGLE BRNG) P.O.R.
SH132160 INTERMEDIATE (SB), 29 X 32-SPLINE REVERSE (SINGLE BRNG) P.O.R.
SH132170 INTERMEDIATE (SB), 32 X 32-SPLINE REVERSE (SINGLE BRNG) P.O.R.
SH132180 INTERMEDIATE (SB), 32 X 32-SPLINE 19% REVERSE (SINGLE BRNG) P.O.R.
SH135020 OUTPUT, 1-3/8" 32-SPLINE REVERSE P.O.R.
SH135022 OUTPUT, 1-3/8" 32-SPLINE REVERSE 7.181" OAL P.O.R.
SH135025 OUTPUT, 1-3/8" 32-SPLINE REVERSE (DOUBLE BRNG) P.O.R.

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
SH135050 OUTPUT, 1-3/8" 32-SPLINE REVERSE (LONG) P.O.R.
SH135100 OUTPUT, 1-1/2" 35-SPLINE REVERSE 7.071" OAL P.O.R.
SH135200 OUTPUT, 1-1/2" 35-SPLINE REVERSE 10.071" OAL (EX-LONG) P.O.R.
SH135300 OUTPUT, REVERSE SINGLE BEARING 1-1/2" 35-SPLINE (6.775") P.O.R.
SH135410 OUTPUT, REVERSE SINGLE BEARING 1-3/4" 40-SPLINE P.O.R.
SH138040 OUTPUT, BOAT CLUTCH 1-3/4" 40 X 40-SPLINE P.O.R.
SH200120 SHAFT SPACER, 10% 22.00
SH220247 INPUT, 203 1-3/8" 10 X 32-SPLINE (10.250" OAL) 350.00
SH220830 INPUT, CHEVY BOAT 32 X 35-SPLINE 350.00
SH220840 INPUT, BOAT 2-SPEED 32 X 10-SPLINE 350.00

SH222040 INTERMEDIATE, BOAT SB 29 X 32-SPLINE

SH222044 INTERMEDIATE, BOAT SB 29 X 32-SPLINE (DOUBLE SPRAG)

SH222050 INTERMEDIATE, SB 29 X 35-SPLINE

SH222180 INTERMEDIATE, REVERSE SB 29 X 32-SPLINE

SH225040 OUTPUT, REVERSE 16 X 6-SPLINE P.O.R.

SH226875 OUTPUT, 10% BOAT 29 X 32-SPLINE 279.00

SH226877 OUTPUT, BOAT 29 X 32-SPLINE

SH227000 OUTPUT, REVERSE 16 X 32-SPLINE

SH300045 SEAL COLLAR, 40-SPLINE (MODIFIED) 20.00
SH337140 INTERMEDIATE, REVERSE 40-SPLINE (BORED) P.O.R.
SH337230 OUTPUT, LONG REVERSE 1-3/4" 40-SPL (SINGLE BRG / BORED) (300M) P.O.R
SH525045 OUTPUT, REVERSE PRO 1-3/8" 32-SPLINE (RIFLE BORED) P.O.R.

SH720080 INPUT, CHRYSLER 18 X 32-SPLINE (ST1200)

SH720118 INPUT, 18 X 32-SPLINE 8.225" OAL (ST-1200)

SH720122 INPUT, 1-3/8" 10 X 32-SPLINE 8.325" OAL (ST1200)

SH720132 INPUT, 26 X 32-SPLINE 8.825" OAL (ST1200)

SH720247 INPUT, 1-3/8" 10 X 32-SPLINE 10.250" OAL (ST1200)

SH987519 SHAFT, LINE UP 1-3/16" 18-SPLINE (STEEL) 95.00
SL100090 PINION SEAL, STOCK 6-SPLINE 22.00
SL191180 FLOATER SEAL 30.00
SL600110 SEAL RING, 15% GLASS EMPREGNATED 14.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
SL600120 SEAL RING, 25% GLASS EMPREGNATED 14.00
SL600300 SEAL RING, FRONT PLATE (TEFLON) 14.00
SL600315 SEAL RING, FRONT PLATE (25% GLASS IMPREGNATED) 14.00
SL600325 SEAL RING, FRONT PLATE (PEEK) 14.00
SN100972 SPRING, FLAT REVERSE LOCKOUT (MU375-0160) 4.00
SN140195 SPRING, AIR REGULATOR 100# 13.00
SN140223 SPRING, AIRBOTTLE KNOB 8.00
SP152010 SPRAG COVER, BILLET 125.00
SP153001 INNER SPRAG RACE, LARGE (8620) 100.00
SP153002 INNER SPRAG RACE, LARGE (8620 .02 RAD.) 100.00
SP153100 INNER SPRAG RACE, SMALL (8620) 100.00
SP154100 SPRAG, SMALL 120.00
SP155100 SPRAG WASHER, SMALL CUP 18.00
SP156000 OUTER SPRAG RACE, LARGE 150.00
SP156001 OUTER SPRAG RACE, LARGE (LIGHT WEIGHT)

SP156100 OUTER SPRAG RACE, SMALL 132.00
SP156101 OUTER SPRAG RACE, SMALL (LIGHT WEIGHT) 160.00
SP158001 SPRAG ASSEMBLY, LARGE (LIGHT WEIGHT)

SP158005 SPRAG ASSEMBLY, LARGE (STIEBER W/CLIPS)

SP158100 SPRAG ASSEMBLY, SMALL

SP158101 SPRAG ASSEMBLY, SMALL (LIGHT WEIGHT)

SP253000 INNER SPRAG RACE, LARGE RELIEVED SPL (9310) 100.00
SP253002 INNER SPRAG RACE, LARGE RELIEVED SPLINE (8620) 120.00
SP253012 INNER SPRAG RACE, LARGE RELIEVED SPLINE NO RADIUS (8620) 120.00
SP452020 SPRAG COVER, 20 DEGREE (10%) 195.00
SP453002 INNER SPRAG RACE, LARGE DOUBLE (8620) 145.00
SP453102 INNER SPRAG RACE, SMALL DOUBLE 145.00
SP456000 OUTER SPRAG RACE, LARGE DOUBLE (8620) 245.00
SP456100 OUTER SPRAG RACE, SMALL DOUBLE 245.00
SP458100 SPRAG ASSEMBLY, DOUBLE SMALL 679.00
SP510020 WASHER,HARDEN THRUST 10.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

PART # DESCRIPTION - DISCONTINUED PARTS RACER
SP610300 PISTON, SMR - DISC USE SP610740B 110.00
SP755000 SPRAG WASHER (ST-1200) DISC
SP755100 SPRAG WASHER, CUP STYLE (ST-1200) DISC
SR100100 SNAP RING, FUEL PUMP OVER-DRIVE (1 P.V.) 4.00
SR100200 SNAP RING, FUEL PUMP OVER-DRIVE 4.00
SR101400 SNAP RING, REVERSE RING GEAR 9.00
SR101600 SNAP RING, STRANGE AXLE 4.00
SR101700 SNAP RING, S/DRIVE INPUT (OBSOLETE) 2.00
SR101900 SNAP RING, FLOATER AXLE O.D. 4.00
SR102100 SNAP RING, FLOATER AXLE I.D. 4.00
SR170700 SNAP RING, SMALL OUTER SPRAG RACE 5.00
ST100000 STARTER GEAR 80.00
VB602100 SHUTTLE ASSEMBLY, SOLENOID (LENCODRIVE) 99.00
WA100700 WASHER, FLOATER SPINDLE LOCK (WD-11) 6.00
WA100805 WASHER, 1/4" AN (SS THIN) 1.00
WA100825 WASHER, 3/8" AN (STANDARD) 1.00
WA101015 WASHER, 3/8" FENDER 4.00
SH500102 SHAFT SPACER, REAR 1-3/8" (STEEL) 19.00
SH500112 SHAFT SPACER, INTERMEDIATE 1-1/2" (STEEL) 19.00
SH200100 SHAFT SPACER, 1-3/8" 19.00
SH500100 SHAFT SPACER, REAR 1-3/8" (ALUM) 19.00
SH500110 SHAFT SPACER, INTERMEDIATE 1-1/2" (ALUM) 19.00
CB100045 CRANK BUTTON, CHRYSLER 32-SPLINE (6-HOLE) 189.00
CB100052 CRANK BUTTON, CHRYSLER 10-SPLINE (WEDGE 6-BOLT) 189.00
CB100055 CRANK BUTTON, CHRYSLER 10-SPLINE 189.00
CB100060 CRANK BUTTON, CHRYSLER 16-SPLINE 189.00
CB100062 CRANK BUTTON, CHRYSLER 16-SPLINE (WEDGE 6-BOLT) 189.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

DISCONTINUED PRODUCTS

CS1N LARGE CASE COMPOUND PLANETARY TRANSMISSION

PART # DESCRIPTION RACER
CS1N-2000 2-SPEED ONLY 5,500.00
CS1N-2003 2-SPEED ADD-ON SECTION ONLY 4,700.00
CS1N-2001 2-SPEED AND REVERSE 6,500.00
CS1N-3000 3-SPEED ONLY 8,300.00
CS1N-3001 3-SPEED AND REVERSE 9,400.00
CS1N-4000 4-SPEED ONLY 11,500.00
CS1N-4001 4-SPEED AND REVERSE 12,400.00

OPTIONS:

SHIFTER - ADD: P.O.R

REVERSE LOCKOUT ONLY - ADD: 359.00

FORM SPRAGS - PER SECTION, ADD: 170.00

MARAGING SHAFTS - ADD: P.O.R

SPRAG REPLACEMENT MODULE - PER SECTION, ADD: 850.00

RATIOS AVAILABLE:

1.16, 1.19, 1.22, 1.25, *1.27, *1.31, 1.73, *1.85, 1.95

NOTE: *AVAILABLE/NOT IN INVENTORY

NOTE:

ALL TRANSMISSIONS COME WITH THE FOLLOWING:

STANDARD COMPONENTS

LOW DRAG (ANGULAR CONTACT AND NEEDLE BEARINGS)

CHOICE OF RATIO

AIR SERVO OR MAX-ADJUST SHIFT TOWER

CHOICE OF OUTPUT LENGTH AND SPLINE (32 OR 35)

BILLET ALUMINUM CASES

INPUT SHAFT
BC2-1040 BOAT CLUTCH, LARGE TOP FUEL 25-PACK (300-M SHAFTS) 4,100.00
BC2-1050 BOAT CLUTCH, LARGE TOP FUEL 25-PACK (MARAGING SHAFTS) 5,200.00
BOAT CLUTCH & CS1 3-SPEED TRANSMISSIONS
PART # DESCRIPTION RACER
BC1-3000 BOAT CLUTCH, SMALL & 3-SPEED TRANS WITH SINGLE SPRAG ASSY 8,950.00
BC1-3003 BOAT CLUTCH, LARGE & 3-SPEED TRANS WITH SINGLE SPRAG ASSY 9,200.00
BOAT CLUTCH & CS2 3-SPEED TRANSMISSIONS
PART # DESCRIPTION RACER
BC2-3000 BOAT CLUTCH, SMALL & 3-SPEED TRANS WITH SINGLE SPRAG ASSY 8,950.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

BC2-3003 BOAT CLUTCH, LARGE & 3-SPEED TRANS WITH SINGLE SPRAG ASSY 9,200.00
BOAT CLUTCH & CS4 3 SPEED TRANSMISSIONS
PART # DESCRIPTION RACER
BC4-3000 BOAT CLUTCH, SMALL & 3-SPEED TRANS WITH SINGLE SPRAG ASSY 6,800.00
40-SPLINE HIGH GEAR REVERSE
PART # DESCRIPTION RACER
HGR-1000 STANDARD OUTPUT, ALUMINUM ADAPTER (300M SHAFT) 3,400.00
HGR-1010 LONG OUTPUT, ALUMINUM ADAPTER (300M SHAFT) 3,500.00
HGR-1020 STANDARD OUTPUT, CANNON STYLE (MA SHAFT) P.O.R.
HGR-1030 LONG OUTPUT, CANNON STYLE (MA SHAFT) P.O.R.
OPTION:
LESS INPUT SHAFT - SUBSTRACT: (300.00)
NOTE:
40-SPLINE REVERSE INCLUDES THE FOLLOWING:
INPUT SHAFT
REVERSE LEVER
FRONT RETAINER AND SEAL (CANNON STYLE ONLY)
BILLET 9310 STARTER GEARS - DISCONTINUED RACER
STARTER GEAR 80.00
QUANTITY: 20 - 49
QUANTITY: 50 - 99
QUANTITY: 100 - 199
QUANTITY: 200 - 499
QUANTITY: 500 OR MORE
FULL FLOATER REAR END ASSEMBLIES - DISCONTINUED
DESCRIPTION RACER
FULL FLOATER REAR END ASSEMBLY 5,400.00
FULL FLOATER REAR END ASSEMBLY
(LESS THIRD MEMBER) 3,700.00
FULL FLOATER KIT w/SPINDLES & 35 OR 40 SPLINE AXLES
(LESS CALIPERS, HOUSING & THIRD MEMBER) 2,400.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

OPTIONAL ADD-ONS:

FABRICATED HOUSING P.O.R.
MARAGING AXLES 1,200.00
RIFLE DRILLED AXLES 400.00
MAGNESIUM HOUSING P.O.R
CARBON FIBER ROTORS P.O.R
NOTE: FULL FLOATER REAR END ASSEMBLY COMES COMPLETE WITH:

MODIFIED STANDARD HOUSING w/FABRICATED BRACE & COVER

FILL AND DRAIN PLUGS

BILLET SPINDLES

ALUMINUM OR NODULAR CENTER w/BILLET CAPS

CHOICE OF RATIO (9310 PRO GEAR)

35 OR 40 SPLINE LIGHT WEIGHT SPOOL

300M AXLES

MAGNESIUM OR BILLET ALUMINUM FLOATER HUBS (w/11/16" STUDS)

NUTS AND WASHERS

CALIPERS w/LIGHT WEIGHT BRAKE ROTORS

YOUR CHOICE OF COUPLER OR YOKE
FLOATER AXLES - DISCONTINUED
DESCRIPTION RACER
LENCO FLOATER AXLE, 35-SPLINE (300M) 630.00
LENCO FLOATER AXLE, 40-SPLINE (300M) 715.00
LENCO FLOATER AXLE, 35-SPLINE (MARAGING) 1,680.00
LENCO FLOATER AXLE, 40-SPLINE (MARAGING) 1,890.00
STRANGE OR SUMMERS FLOATER AXLE, 35-SPLINE (300M) 630.00
STRANGE OR SUMMERS FLOATER AXLE, 40-SPLINE (300M) 715.00
STRANGE OR SUMMERS FLOATER AXLE, 35-SPLINE (MARAGING) 1,680.00
STRANGE OR SUMMERS FLOATER AXLE, 40-SPLINE (MARAGING) 1,890.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



LENCO RACING TRANSMISSIONS, INC.

OPTIONS:
RIFLE DRILLING ADD: 400.00

NOTE: PRICES ARE FOR HOUSINGS UP TO 38" WHEEL FLANGE TO WHEEL FLANGE,
WIDER HOUSINGS PRICES ON REQUEST.

NOTE: STRANGE OR SUMMERS TYPE AXLES LENGTHS MUST BE VARIFIED BY CUSTOMER.
THESE ARE SPECIAL ITEMS AND ARE NOT RETURNABLE.

PRICES SUBJECT TO CHANGE WITHOUT NOTICE.



	LENCO JANUARY 2024
	CS1
	CS2
	CS3 CS4
	ST1200
	ST1500
	LENCODRIVE
	BOAT CLUTCH
	32 SPLINE REVERSE
	GEAR REDUCTION
	MARAGING SHAFTS
	AP
	AS
	BE
	BG
	BL
	BP
	BR
	BT
	CB
	CL
	CP
	CS
	DS
	DW
	GS
	LD
	LI
	MC
	ML(1)
	ML(2)
	MS
	NT
	OR
	PA
	PC
	PG
	PH-PI
	RG
	RV
	SG
	SH
	SL
	SN
	SP
	SR
	SS
	TB
	VB
	WA
	DISCONTINUED(1)
	DISCONTINUED(2)

